ATMOSPHERE

Q 1.   Lowest layer of  atmosphere is 
.    


(a)    Troposphere 
(b)  Thermosphere 
(c)  Stratosphere

Q 2.  Height of Troposphere at equator is


  (a)10-12 km      

(b) 16-18 km     

(c)  12-14 km

Q 3.  Height of Tropopause at Poles  is 


  (a) 12 - 13 km     
(b) 11-12 km   

(c)  08 - 10 km

Q 4.  Higher the temperature of the surface  ……… would be the Tropopause    


(a) Higher 

 (b) Lower 

(c) Same
Q 5.  Height of  the Tropopause 
    


(a) Remains  constant 
(b) Varies with  weather    (c) 11-12 km
Q 6.  Lowest temperatures are over the ……..  above  8 km   
       



(a) Equator   

(b) 40˚Lat. 

  (c)  Poles

Q 7.  Atmosphere is  heated  by 


(a)  Solar Radiation 
(b)  Heat from earth surface   (c) Conduction 
Q 8.  Tropos  means        



(a)  Turning

(b) Under current 
    (c)  Convection

Q 9.  Temperature in troposphere decreases from about ………. at Equator  to ………..at Poles  


 (a)  256K,180 K

(b) 230 K, 180K
   
(c)  288 K, 217 K

Q 10.  Homosphere extends  from  



(a) Surface to 80 km 
(b)  Above 8 km 
     
(c)  Above 80 km 
Q 11.  Gustiness  and bumpiness in the atmosphere is due to 


(a) Frequent weather
(b) Absorption of UV rays
(c)  Uneven  heating
Q 12.  Tropopause is discontinuous  at about …   Lat 




(a) 30˚


(b)  40˚

 

(c)  60˚ 

Q 13.   In  ISA the  pressure ………with height and it is about…. ..… at 3 km and ……… at  9 km 



(a) 
      increases


              800 hPa                400 hPa



(b)  
      decreases


              700 hPa
 
  300 hPa



(c)  
      decreases


              500 hPa
 
  200 hPa
Q 14.  Stratosphere  extends from   




(a)  Tropopause  to 50 km

(b)  50-55 km
 
(c)  55-65 km

Q 15.  Mesosphere extends from    



(a) 11  to 50 km


(b)  50-80 km
 
(c)  above 80 km
Q 16.  Lowest temperature of about  -90(C occur at  


(a) Mesopause


(b) Stratopause  

(c) Tropopause

Q 17.   At 12 km (40,000 ft) temperature is  - 45˚C, what is the deviation from  JSA and from ISA?


          (Hint:  Lapse rate in Troposphere is  1.98(C/ 1000 ft   and in JSA 2(C/1000 ft , MSL  temperature 15 (C)



(a)     20˚/19˚ C


(b)  -18˚/-20˚ C

(c)  -17˚/-21˚ C 
Q18.   By weight, the approximate ratio of Oxygen to Nitrogen in the atmosphere is 






(a) 1:3



(b) 1:4


(c)  1:5

Q19.   By volume, the approximate ratio of Oxygen to Nitrogen in the atmosphere is  






(a) 1:3



(b) 1:4


(c)  1:5
 Q20.   By volume, the proportion  CO2 in the atmosphere is 



(a) 3%


 
(b) 0.35%

(c)  0.035%
Q21.   In  JSA, the mean sea level temperature is


(a)  15( C


(b) 10( C

(c) 25( C

Q22.   In Jet Standard Atmosphere  there is  
   



(a)   Tropopause 


(b) No Tropopause   
(c) Stratopause
Q.23.  Ozone accounts for higher temperatures in the stratosphere as it absorbs ……. .radiation

 

(a)    IR 



(b)  UV


(c) Visible
Q.24. Which of the following is  not  true for  Tropopause 


(a)  There are no jet stream and CAT  at  Tropopause


(b)    It  normally  is the upper limit of  weather 

(c)  Sometimes there sudden rise of temperature with increase in  height at Tropopause 

Q.25.The atmosphere is a mixture of gasses  in  the following proportions:




 
(a)   Oxygen 21%

Nitrogen 87%

Hydrogen 1%





(b)   Oxygen 21%

Nitrogen 78%

Other gasses 1%




(c)   Nitrogen 78%

Oxygen 21%

Other gasses 1%

Q26.   The maximum concentration of  Ozone is at  





(a)  20-25 km

(b) 27-33 km

(c) 34- 50 km 
Q27.   The average height of  Tropopause over  the equator is       
 


(a)   8 km   

 (b)   16 km   

 (c)   12 km
Q28.  At a height of 18 km, the temperature over the equator as compared to the poles  is 



(a) Higher     

(b) Nearly the same 
   (c)  Lower
Q29.  Maximum concentration of  Ozone  is  in the



(a)  Upper Troposphere
(b)    Stratosphere
(c) Lower Mesosphere

Q30.  Major constituent of the atmosphere by weight  is   



(a) N2         

(b)  O2   


(c) CO2
Q31.  The average height of the  Tropopause varies from approximately    



(a)     8-10 km at poles to 16-18  km at the equator   


(b)   13 km at equator to 9 km at poles



(c)   16 km at the poles to 9 km at equator

Q.32.   ‘Mother of Pearls’ clouds are   infrequently  noticed  in the 



(a)     Troposphere
(b)    Stratosphere
(c)     Thermosphere

Q.33.   Which is untrue for ISA




(a)     The acceleration due to gravity is  890 cm/s-2



(b)     At msl : temperature +15 º C,   pressure 1013.25 hPa and  density 1125 gm/m³



(c)      In the Troposphere the temperature falls  at the rate of 6.5º C per km

Q.34. 
  ‘Aurora Australis’ occurs in 

    
(a)  Australia
     
(b)  Stratosphere

(c)  Thermosphere

Q.35.
  The lapse rate in Jet Standard Atmosphere   is 



(a)  1.89 º C/1,000 ft  
(b)    2ºC/ 1,000 ft
(c)   More than 2ºC/km   

Q.36.
   At  Tropopause the Laps rate is


(a)  6.5ºC/km  

(b)    More than 2ºC/km
(c)    About  2ºC/km 
Q.37.
  Extra tropical tropopause is found over Northern India in Winters 


(a)   True 
 
(b)   False

Q.38. 
  Double tropopause may occur   over N India in winter months 


(a)     True

(b)    False

Q.39.
 Visibility in Stratosphere is excellent but due to  glare and  lack of  reference points  it is poor in effect      






(a)      True

(b)  False
Q.40.    Which is most appropriate  in the Stratosphere



(a)    Completely dry and calm 
(b)    High humidity due to  CI clouds  


(c)   Almost dry but sometimes little humid in the lower stratosphere 

Q.41.    Most of the vapour in the atmosphere is contained in the




(a)  Stratosphere

(b)  Troposphere

(c) Tropopause
Q.42.      The temperature  at 19 km height in ISA  is




(a)      56.5º C

(b)    - 65.5º C

(c)    - 56.5º C

 Q.43.    The lapse rate in the Troposphere in ISA in



(a)      5ºC/km

(b)    10ºC/km

(c)      6.5ºC/km

Q.44.
 In  ISA the temperature is isothermal

(a) From 36 090 ft/11 km to 104 987 ft/32 km
(b)    From 36 090 ft/11 km to 65 617 ft/20 km 


(c)   Up to 36 090 ft/11 km
Q.45.
The  acceleration due to gravity  in ISA is   




(a)     980.566
cm/s-2
(b)    980.660
cm/s-2

(c)  980.665 cm/s-2
Q.46.
According to ISA the air is dry and obeys  Laws of gases



(a)    True

(b)    False


Q.47.
The ISA assumes that the sea level  pressure is



 
(a)    1013.25 hPa which  falls with height



(b)   1013.25 hPa which  increases with height



(c)   1013.25 hPa which decreases with  height up to Stratopause 

Q.48.
The ISA assumes a lapse rate of


(a)   2ºC/1000 ft 
(b)   1.98ºC/1000 ft
(c)   3ºC/1000 ft

Q.49.  
The Tropopause is




(a)  The layer in which the temperature  almost ceases to fall with increase in  height




(b)   A layer between the Tropopause  and the Stratopause



(c)   A layer in  which  lapse rate is 5.6˚ C per km

Q.50.  
In the ISA the temperature at msl is


(a)  10º C

(b)  15º C

(c)      25º C

Q.51. 
The height of the tropopause is maximum at



(a)     Polar region
(b)     Subtropical region
(c)     Tropical region

Q.52.  
The Density of the air at msl in ISA is



(a)     1252  kg/cm³
(b)     1.225 gm/m³
(c)     1.225 kg/m³

Q.53. 
‘Noctilucent Clouds’ occur in the 
 

(a)  Troposphere    
(b) Stratosphere 
(c) Mesosphere

Q.54.  
Most of the atmospheric mass is contained in the 


(a)  Troposphere    
(b) Homosphere 
(c) Heterosphere


Q.55.
At 8 km (26,500 ft) temperature is  - 30˚C, what is the deviation from  JSA, lapse Rate in 


JSA being 2˚ C /1,000 ft) ?



( Hint :  ISA lapse rate 6.5˚ C/km ;  8 x  6.5 = 52;  at 8 km temperature in ISA


 is -52+15= -37˚C; the ISA deviation is 
therefore -30 + 37 = 7˚ C)


(a)     -8˚ C
(b)    8˚ C
(c)  -7˚ C 
(d)  7˚ C 
Q.56.
Lapse rate in stratosphere is   
  

(a)     Isothermal  
(b)  Adiabatic
(c)     Isentropic
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ATMOSPHERIC PRESSURE
Q.1.
On either side of this  pressure system the  pressures rises



  (a) Trough

(b) Ridge

(c)  Col


Q.2      
In areas where upper air mean temperatures are higher upper level pressure are





(a) temperature  has no effect
(b)    lower
(c)  higher 
Q3.     
Reduction of pressure with height is more rapid in a column of air which is 



(a)  Colder 

(b) Warmer 

(c)  Dryer
Q4.
In general, the rate of fall of pressure with altitude in the atmosphere





(a)  Remains the same 
(b)  Increases

(c)    Decreases
Q.5.
The height equivalent to  1 hPa  change in pressure at msl is approximately equal to





(a)     33 ft

(b)     30 ft

(c)     27 ft

Q.6.     
 Fair  weather  is  associated with  




(a) Low


(b)  High  

(c )  Trough
Q.7. 
The height equivalent to  1 hPa change in pressure in  20,000 ft is approximately equal to




(a)      40 ft

(b)      60 ft

(c)     50 ft

Q.8.   
When  set to QFE  the Altimeter  reads  




(a)  Zero


(b)  Height of altimeter 
 (c) Height above msl 

Q.9.
18,000 ft height in ISA corresponds to level




(a) 700 hPa

(b) 500 hPa

(c) 200 hPa

Q.10.
The relationship between   pressure and  height  is made use in  the  construction of




(a) Ceilometer

(b)  Thermograph

(c) Altimeter
Q.11.
The height of 700 hPa pressure level above msl in ISA is 




(a)  5000 ft 

(b) 15,000 ft

(c)  10,000 ft

Q12.
Hysteresis Error in an altimeter  is due to





(a)    Imperfect elasticity of the aneroid  capsule 




(b)    Irregular and jumpy movements of the pointer    



(c)    Faulty calibration

Q13.   
Which  of the pressure systems has pressure falling towards  its  central area






(a)  Low

  
 (b)   High
 
 (c )  Col 

Q14.     If the isobars in a pressure system are closely packed, the winds  would  be 




(a)  Light
  
 (b)   Calm
 
 (c )  Strong

Q15.
Two aircraft flying at the same indicated altitude with their altimeter set to 1013.2 hPa. 

One is flying over cold air mass and other over warm air mass. Which of  the two has 

greater altitude   



(a) Ac flying over cold air mass
(b)  Ac flying over warm air mass 
(c)  None

Q16.
 Altimeter always measure the altitude  of an  aircraft 


(a)  Above MSL

(b) Above 1013.2 hPa  level  


(c) Above datum level at which its sub-scale is set

Q17.   Flying from Low to High an altimeter would read





 (a) Over

(b) Under 

(c)  the Same 

Q18.   
A pressure system  around which winds back is  a 




(a)  High
  
 (b)   Low
 
 (c )  Col 

Q19.    In the S Hemisphere, around a Low  pressure  wind blows



(a)  Clockwise 

(b)     Anticlockwise 
(c) Away  from the centre 
Q20.
Isallobars are lines joining places of equal



(a) Pressure

(b) Pressure Tendency
(c) Temperature Tendency

Q21.
Which is  true




(a) Trough has frontal characteristics


(b) After crossing the axis of trough winds back abruptly


(c) After crossing the axis of trough  winds  veer gradually
Q22.
Lines drawn through places of equal pressure are known as







(a) Isobars

 (b) Isotherms 

(c) Isallobar 

Q23.
An increase of 1000 feet in elevation near the earth is associated with decrease of pressure of 



(a)  50 hPa

(b) 33 hPa

(c) 3 hPa
Q24.
A region between two Lows and two Highs is




(a) Depression

(b) Secondary Low  
(c) Col

Q25.
An Altimeter  is  a barometer  of the type 





 (a) Alcohol

(b) Mercury

(c)  Aneroid
Q26. 
The  rate of fall of pressure with height in a  column of warm air compared to  that over cold  column will be 



(a) Same

(b) Less


(c)  More
Q27.
Which is  not  true 


(a)    Altimeter over reads if   pressure falls during the flight and under reads if it rises


(b)    Altimeter under reads if pressure falls during flight and over reads if it rises



(c)    When  flying with winds from Port in N Hemisphere the altimeter over reads

Q28.
Regional QNH is


(a)  The forecast value, valid for one hour, of the lowest pressure expected any where in 
         that Altimeter Setting Region 
(b)   Observed barometric pressure at the aerodrome

(c)   Same as QNE

Q29.
200 hPa in ISA corresponds to the level  
 




(a) 20,000 ft

(b) 30,000 ft

(c) 40,000 ft

Q30.
An instrument  used for  measuring atmospheric  pressure is called




 (a)  Hygrometer  
(b) Barometer  

(c)  Anemometer 

Q31.
Poor visibility is associated with   






(a) High 

(b) Low


(c) Col

Q32.
On either side of  ……..  pressures rise




(a) Col


(b) Ridge

(c) Trough
Q33.
Fall of pressure with height is more rapid in a column of air which is 



(a) Cold


(b) Warm 

(c) Humid 
Q34.
5,000 ft in ISA corresponds to the  pressure level

  
 

(a)  700 hPa

(b)  600 hPa

(c)  850 hPa
Q35.
30,000 ft  in ISA corresponds to the pressure level



(a) 400 hPa 

(b) 300hPa  

(c) 250 hPa
Q36.  
If the observed  pressure is reduced to  msl  assuming ISA conditions, we get





(a)    QNE

(b)    QFF

(c)    QNH

Q37.
24,000 ft height in ISA corresponds to level   




(a) 400 hPa

(b) 500 hPa

(c) 300 hPa
Q38.
Which represent the low pressure area





(a)    Cyclone

(b)    Col

(c)    Anticyclone flow

Q39.
40,000 ft height in ISA corresponds to level     



(a) 400 hPa

  (b) 500 hPa

 (c) 200 hPa 

Q.40.      The barometric pressure at a  place reduced to msl as per existing temperature  is





(a)    QFF

(b)    QNH

(c)    QFE

Q.41.     Light and variable winds are noticed in a 



(a) High


(b) Low


(c) Col 
Q42.
700 hPa in ISA corresponds to the level  




(a) 20,000ft

(b) 10,000 ft

(c) 18,000 ft

Q43.
While flying from Ahmadabad  (QNH 1002 hPa) to Chennai (QNH 1000 hPa), if the altimeter is not  reset 

at FL 300, under which condition  the  altitude of the aircraft  would  remain the  same during the flight




(a)  Ahmadabad being colder than Chennai
 


(b) Ahmadabad Delhi being warmer than Chennai 



(c)  Both Ahmadabad  and Chennai having the same temperature
Q.44.   If an airfield is above msl and  temperature is  above ISA, then QNH >QFF.  If an airfield  is at  msl  and 
            temperature  is 25˚ C and  QFF  is  998 hPa,  then what would be QNH ?




(a)  Difficult to determine

(b)  < 998 hPa 

(c)  > 998 hPa

Q.45.     Flying from Low to High an altimeter would read



 (a) Over


(b) Under 

(c) constant 

Q.46.     If altimeter reads aerodrome elevation when a/c is on ground, its sub-scale must have been set to




(a) QFF



 (b) QFE

(c) QNH 

Q.47.      The QNH of  Kolkata airfield is 1014 hPa and temperature is 27˚ C, its QFF  would be  




(a)   >1014  hPa


(b)   1014 hPa 

(c)  < 1014  hPa

Q.48.    Steep pressure gradient means



(a)  well spaced isobars
(b)  isobars closely packed      
(c)  closely packed isallobars
Q.49.  
Bimetallic strip is used in pressure altimeter to counteract  ………error 





(a)     Friction 

(b)  Hysteresis


(c)     Temperature 

Q50.   
On which pressure  chart you would find the contour line  3240 gpm




(a)  300hPa  


(b) 500hPa

(c) 700hPa
Q51.
The QFF of an airfield 150 m below the msl, is 1020 hPa and temperature is higher than ISA, its 
QNH will be   



(a)  1020  hPa


(b)  > 1020  hPa 

(c)  < 1020  hPa 
 Q52.
Zero setting means  Altimeter set to  



 (a)    1013.2 hPa


(b)    QFE

(c)     QFF

Q53. 
Diurnal pressure changes are most pronounced in










(a) Polar region


(b) Middle latitudes  
(c) Tropics 

Q54. 
If the winds are converging into a pressure system, it is a   




(a)  High
  

 (b)   Low
 
 (c )  Col 

Q55.  
Flying   towards an area warmer than ISA,   the true altitude  compared to indicated altitude 
would be    



(a)  the same


(b)   higher 

(c)   lower
Q56.  
QNE  is the  height indicated on an altimeter  on landing when set to  




(a)     QNH


(b)    QFE)

(c)  1013.25 hPa

Q57.
QNH  is defined as 



(a)    QFE  reduced to msl using actual temperature
  



(b)    QFE  reduced to msl using ISA




(c)    Pressure at msl  using ISA or actual temperature
 

Q58.
In a high pressure area winds are


(a) Calm
(b) Strong

(c) Weak

Q59.
An aircraft  from  Mumbai  to  Kolkata  experiences starboard drift, its  true  altitude will be 
…. than indicated altitude       
 (a) Lower
 
(b) Same

(c) Higher

Q 60.
The pressure lapse rate  at 5.5 km in ISA is 


(a) 27 ft/ hPa
 
(b) 30 ft/ hPa 

(c)   50 ft/ hPa 
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******
TEMPERATURE

Q 1.
Solar energy  reaches the earth’s surface by




(a)    Convection

(b)    Conduction

(c)    Radiation

Q 2.
Which  air is practically transparent to Long  wave radiation





(a)     Dry air  

(b)     Saturated air
(c)   Cool air





Q3.
 20º C   is equal to   




(a)     86º F 

(b)     76 º F 

(c)     68 º F

  

Q4.   
Heat wave  signifies temperature being  ………. Degrees above  the  normal maximum 

  


(a)    2 - 3 º C

(b)  3 - 4 º C 

(c)   5 - 8 º C 

Q5.
The  global warming is  not expected  to cause





(a)    Melting of  Polar ice  and   rising of sea level  





(b)    No alteration of  weather and its effects




(c)     Abnormal  rise of  the average temperature of the earth

Q 6.
Black body means




 (a)    A body  which  emits  radiation at its temperature 




  
 (b)    A   body having black colour


 
 (c)    An  instrument for measuring radiation

Q 7.
Cloudy nights are warmer
 due to 



  
(a)  Lack of incoming radiation 
        




(b) Blocking of  nocturnal radiation by clouds




(c)  A combined effect of  (a)  & (b)

 Q 8.
 22º C is equal to 




(a)     295 K

(b)     293 K

(c)     290 K

 Q.9.
The law,  which states that the total amount of energy radiated by a black body is proportional to the fourth   


power  of its absolute temperature, is 




(a) Stefan’s Law  
(b)   Wien’s Law

(c)   Planks law

Q 10.
Sublimation or Deposition  is  the change of state from

 


(a)    solid   to  liquid
(b)   vapour  to  solid
(c) liquid to vapour      
Q11.
Latent heat is released during change of state from  




(a)    liquid to vapour
(b)    vapour to  solid
(c)    vapour to liquid

Q12.
When rain  forms in the cloud, the environment 




(a)   is heated due to release of latent heat




(b)   is cooled due to absorption  of latent heat vapour to liquid





(c)    there is no effect

Q13.
Water vapors plays an important role in  the heat  balance of the atmosphere




(a)    True

(b)    False
 


Q 14.
Total amount of solar radiation received over a particular area is called 




(a)  Solar Constant
(b)  Insolation

(c)  Solar Flux

Q 15.
The law,  which states that the wavelength of most intense radiation is inversely proportional to the absolute  
 
 temperature, is 




(a) Stefan’s Law

(b)  Wien’s Law

(c) Planks law

Q 16.
 46 %  of  the Solar Radiation  are in  ………….  wavelength




(a)   IR  

 
(b)   Visible  

(c)  UV 

Q 17.
Radiation emitted by the earth  are  mostly

(a)   IR radiation
(b)   UV radiation
(c)  Visible radiation 



Q18.
The heat required to raise the temperature of  unit mass of a substance by 1º C is 




(a)   Calorie
 
(b)  Specific Heat  
(c)    Latent Heat 

Q19.  
Radiation emitted by the earth   during   night  are   




(a)  Terrestrial Radiation 
(b)   UV radiation
(c) Nocturnal Radiation.

Q 20.
Albedo is 



(a)   absorbing power of earth  
(b)   reflecting power of earth    (c)  Insulating  power of eartht

Q 21..
In clear weather about ………… of the solar radiation reach earth surface




(a)   2/3 
 

(b) 3/4 


(c) 5/6

Q 22.
The Diurnal Variation  of  temperature over sea surface is  




(a)   <1º C 
 
(b)  >1º C 

(c)  1º C 

Q 23.
In change of phase from vapour to liquid and  liquid to solid  the latent heat is




(a)   absorbed
 

(b)  released  

(c)    not affected

Q 24.
The Diurnal Variation  of  temperature over the land in the  summers is ……..  as compared to the rainy season    




(a)  the same
 
(b)  more

(c) less

 Q 25.
Diurnal variation is …………..  over land in  clear weather  in summers



(a)   maximum
 
(b)  minimum 

(c)  lower  over  oceans than

Q 26.
Surface Temperature is  recorded at a height of ………above the ground in shade




(a)  1.5 m
 
(b)  4.5 ft

(c)  1.25 m

Q 27.
The minimum temperature occurs  at 




(a)  midnight
 (b)  ½ to 1 hour after the sunrise or dawn
(c)   0530 hr  local time 

Q 28.
The maximum  temperature  occurs




(a)  at noon

(b)  1300 hr 

(c)    2-3 hours after  the noon

Q 29.
Radiation emitted by  the earth  during day are   

(a)   UV

 
(b) Terrestrial  

(c)     Nocturnal


 Q 30.
The amount of heat absorbed or released during change of phase is called




(a)   Calorie
 
(b)  Specific Heat  
(c)    Latent Heat 

Q 31.
The Diurnal Variation  of  temperature over the land in summers  may average as much as  




(a)  25º C
 
(b)  30º C

(c)  20º C

Q 32.
In change of phase from solid to liquid and liquid to vapour the latent heat is




(a)   absorbed
 
(b)   released  

(c)     not affected 

Q 33.
Temperature advection is ……………  movement  of  temperature




(a)  upward
 
(b)  horizontal 

(c)    downward 
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AIR DENSITY
Q1.
The atmospheric density is  defined as  the mass of air contained in a unit volume. Its unit is 



(a)
ft/s

(b)     gram/ sq cm 
(c) kg / m3   
.

Q2.
Density altitude is  the altitude above the ………  at which a given atmospheric density 

occurs in  ISA 



(a)    MSL

(b)    ground  level  

(c)  Airfield datum  level

Q3.
Density altitude may be defined as

(a) The altitude in  the ISA at which the prevailing density occurs.

(b) The altitude in the ISA at which the prevailing pressure occurs.

(c) Surface of constant  pressure is related to standard atmosphere of 1013.2 hPa 

Q4.
Density of air at sea level is the ………    at the poles 




(a)    lowest

(b)  highest

(c)  the same
Q5.
Air  has higher density  in 






(a)   High Altitudes 
(b) Warm Air 

(c)  Low humidity 


Q6.
The moist air has a   density  ………than dry air under similar  pressure and temperature. 




(a)   the same
  
(b)     lower

(c)  higher

Q7.
 At a given pressure, the density is ………….. proportional to the absolute temperature. 




(a)   directly
  
(b)    have no dependence     (c)   inversely


Q8.
 Density is 1/2 of  the surface value at 




(a)
5 km
  
(b)     6 km

(c)  8 km
Q9.
Higher density altitude means ……… density    




(a)  lower 

(b)   higher 

(c)  the same

Q10.
 Density is 1/8 of  the surface value at 




(a)
16 km
  
(b)     17 km

(c)  18 km

Q11.
Density of air at sea level is  ………    near the equator 



(a)    lowest

(b)  highest

(c)  the same
Q12.
The decrease of air density of about 1% would be produced by 



(a)     an increase of  1  hPa of pressure
(b)     a fall of 10 hPa of pressure


(c)     a fall of 20 hPa of pressure and rise of 5ºC temperature

Q13.
Above 8.0 km  the density is ………… near the equator  than at poles 



(a)   more

(b)     the same

(c)  less
Q14.
The altitude in ISA at which air density is the same as the observed density is called 



 
(a)  Density Altitude 
(b) ISA Density 

(c) Real Density

Q15.
 Density is 1/ 4 of  the surface value at 




(a)
09 km
  
(b)     10 km

(c)  11 km

Q16.
When the air density low then the thrust of the propellers is




(a)   Reduced 

(b)     Increased

(c)     the same

Q17.
The Density altitude is  …….. if the atmosphere is  colder than the ISA.




(a)   the same
  
(b)     lower

(c)  higher

Q18.
The Density altitude is higher if the atmosphere is warmer than the ISA




(a)   the same
  
(b)     lower

(c)  higher

Q19.    In ISA  the air density is half its surface value at




(a)    26,000

(b)    20,000

(c)    15,000

Q20.
When the air density is low at the surface then both landing and take-off 
speed are



(a)  Greater 

(b)     Lower

(c)   Remains the same

Q21.
The air density is almost uniform around the whole globe, at a height of



(a)  20,000 ft

(b)     40,000 ft

(c)    26,000 ft
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HUMIDITY
Q1.
The actual amount of water vapour contained in a given volume of air at a given temperature is


(a)   Relative Humidity 
(b)     Absolute Humidity   
(c) Humidity Mixing Ratio

Q2.
Absolute Humidity is expressed in



(a)   g/m 3 
  
(b)     kg/m 3   
(c)   g/m 2
Q3.
The mass of water vapour contained in a given mass of air  is termed as 


(a)   Relative Humidity 
(b)     Absolute Humidity   
(c) Humidity Mixing Ratio

Q4.
Humidity Mixing Ratio is expressed as



(a)   g/g 
  
(b)     kg/kg   
(c)   g/ kg

Q5.
HMR remains constant when air is lifted ……… provided there is no addition or removal of  
water vapour




(a)   adiabatically    
(b)     isothermally   
(c)   in atmosphere having inversion
Q6.
The ratio, in percentage, of the actual water vapour present in the air to the maximum it can  
contain at the  same 
temperature and pressure, is termed as 
 
(a)  Humidity Mixing Ratio 
  
(b)     Absolute Humidity   
(c)   Relative Humidity
Q7.
It is the lowest temperature which air would attain by evaporating water into it to saturate it. 

 


(a)   Wet Bulb
  
(b)     Dew Point  
(c)  Frost Point

Q8.
It is the lowest temperature to which air should be cooled at constant pressure to saturate it 
with respect to water 




(a)   Wet Bulb
  
(b)     Dew Point  
(c)  Frost Point

Q9.
Cooling  below Dew Point causes 




(a)   evaporation 
  
(b)     condensation   
(c)  transpiration

Q10.
It is the temperature to which air must be cooled to reach saturation with respect to ice

 


(a)   Wet Bulb
  
(b)     Dew Point  
(c)  Frost Point

Q11.
Cooling below the frost point causes formation of  




(a)    hoar frost
  
(b)     rime ice

(c)   clear ice

Q12.
If  the temperature of the air  is ………..increases, the amount of water vapour required to 
saturate it also …………



(a)  increases,  decreases  
(b)    increases, increases   (c)   decreases, increases

Q13.
The saturation vapour pressure over  water is ………… than that over ice




(a)   less
  

(b)     more

(c)   the same

Q14.
If water drops and ice particles co-
exit the  ……… will evaporate  and condense on the ……….. 


(a)   water drops,  ice particles  
(b)     ice particles, water drops

(c)   water drops , water drops 
Q15.
 If  Air temperature  is TT , Wet Bulb is Tw Tw and   Dew point  is Td Td,  then  for

 unsaturated air  



(a)   TT <  Tw Tw  >  Td Td
(b)   Tw Tw  >  Td Td  < TT
(c)    TT >  Tw Tw  <  Td Td


Q15.
In  Rain or  Fog  



(a)   TT >  Tw Tw  >  Td Td
(b)   Tw Tw   =  Td Td   = TT   (c)    TT  =  Tw Tw  <  Td Td


Q16. 
If temperature rises,  the RH lowers, the  Dew point  




(a)   rises
  
(b)     remains the same

(c)  lowers
Q17. 
RH is lowest in the afternoon (at about 1400 h local time ) and  is  ……….highest 


(a)   at 0530 hr  

(b)    half an hour after dawn
             (c)  at   midnight

َQ18.
Free air temperature, Wet bulb temperature and Dew point temperature are equal when



(a)  RH is 100%

(b) Air temp. is 0(C

(c ) Air temp. is not below 0(C 

Q19. 
Compared to  a sunny day  the length of runway required on a rainy day is



(a)  the same 

(b) Less 
 

(c)  more
Q20.
 The difference  between  TT (air temperature)  and  TdTd (Dew point temperature) is the  ….   
when air is saturated



(a) least
 

(b)  maximum
 
 (c)   same
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WINDS

Q1.
The Wind Direction is the direction 





(a)  from which it is coming
(b)  to which it is going 
(c)  from  magnetic  North

Q2.
The wind is  indicated 






(a)  intervals of 20º
(b)  intervals of 10º
(c)  intervals of  05º

Q3.
The Wind Direction is measured from






(a)  True South

(b)  True North

(c)  magnetic  North 

Q4.
The wind  direction is  indicated  on   ……….  points of  compass 






(a)  eight

(b)  ten


(c)  sixteen

Q5.
The Wind speed is generally reported at  intervals of   






(a)  03 kt

(b)  05 kt 

(c)  10 kt 

Q6.
One kilometre per hour (kmh)   is equal to …….  nautical mile per hour (knots)






(a)  0.440 kt

(b)  0.540 kt 

(c)  0.640 kt 

 Q7.
One kilometre per hour (kmh)   is equal to …….  metre per second  (mps)





(a)  0.278 mps

(b)  0.378 mps 

(c)  0.478 mps 

Q8.
The wind speed  0 to 02 kt  is reported as 






(a)  Light and Variable
(b)  Light

(c)  Calm

Q9.
The wind speed  10 kt   ranges from 






(a)  08-12 kt  

(b)  09-11 kt  

(c)  06-15 kt  
 Q10.
The surface wind speed is measured by  the instrument






(a)  Anemometer 

(b)  RAWIN  

(c)  Psychrometer  
Q11.
The surface wind direction is measured by the instrument






(a)  Cup Anemometer 
(b)  Arrow head  

(c)  Wind Vane  
Q12.
For measuring surface  wind the wind  instruments are installed at  a height of 






(a)  10 ft 

(b)  10 m 

(c)   27 ft  

Q13.
For measuring surface  wind the wind  instruments are exposed ( or wind is averaged ) for  






(a)  60 seconds 

(b)  600 seconds 

(c)   100 seconds

Q14.
 Buys Ballot’s Law  states if  the wind is coming  from the back,  low pressure is to the  …… in  the N hemisphere 






(a)  right


(b)  front 

(c)   left

Q15.
 Buys Ballot’s Law  states if  the wind is coming from the  front,  low pressure is to the  …… in  the S hemisphere 






(a)  back


(b)  left 


(c)   right

Q16.
For the same isobar spacing, winds  in the lower latitudes are  ……….   than  at  higher latitudes 

  




(a)  faster

(b)  slower
(c)  neither faster nor slower

Q17.
For the same isobar spacing, winds in a low are ……….   than  in  a high

  




(a)  faster

(b)  slower
(c)  neither faster nor slower

Q18. 
When skies are overcast, the diurnal variation of  wind is






(a)  maximum

(b)  least

(c)  overcast has no effect

Q19. 
Surface wind is  strong and gusty during  the  





(a)   night over sea
(b)  evening  over  hills
(c)  day over land

Q20. 
At sea the surface wind blows at about  ……  to the isobars  





(a)   15º 


(b)  25º 


(c)  20º
Q21. 
Over land  the surface wind blows at about  ……  to the isobars  





(a)   20º 


(b)  25º 


(c)  30º
Q22. 
Surface wind  by day is ………. ….………… compared to night Over land  






(a)   slower  and backed
(b)  faster and veered
(c)  faster and backed

Q23. 
A wind  ……… to the  runway  in use  is called Cross Wind Component





(a)   90º 


(b)   60º 


(c)  30º

Q24.
An irregular and rapid fluctuation in the wind is called 







(a)   Gale 

(b)   Squall 

(c)  Gust
Q25. 
Squall is associated with large CB clouds and violent convective activity

 




(a)   some times 

(b)   always 

(c)  never

Q26. 
The main difference between squall and gust is the duration 






(a)   duration  

(b)   speed of  wind 
(c)  suddenness

Q27. 
The persistent mean wind of speed 34 kt or more, associated with depressions, is termed as 






(a)   Gust 

(b)   Squall 

(c)  Gale

 Q28. 
The change of wind direction anti-clockwise in the N hemisphere is






(a)   Veering  

(b)   Backing  

(c)  steering

 Q29. 
The change of wind direction clockwise in the S hemisphere is






(a)   Veering  

(b)   Backing  

(c)  steering 

Q30. 
The  wind direction  has changed from  NNE  to  N in the N hemisphere,  it is 






(a)   Backing  

(b)   Veering  

(c)  Advection 

Q31. 
The  wind direction  has changed from  WNW  to  NNE in the S hemisphere , it is 






(a)   Veering  

(b)   Backing  

(c)  Steering 

Q32. 
The  wind direction  has changed from  120 deg  to 180 deg in the S hemisphere,  it is 






(a)   Backing  

(b)   Veering  

(c)  Advection 

Q33. 
The  wind direction  has changed from  090 deg  to  050 deg in the N hemisphere ,  it is 






(a)   Veering  

(b)   Backing  

(c)  steering 

Q34. 
The  friction layer in the atmosphere extends to about 






(a)   1.5 km  

(b)   1.0 km   

(c)  1000 ft 

Q35. 
Due to friction  the wind  weakens and is deflected towards the ………, in the N hemisphere






(a)   High pressure 
(b)   Col

 
(c)  Low pressure 

Q36. 
In the N 
hemisphere, a descending   wind   …….  due  to friction






(a)  backs 
 
(b)     veers

(c) does not change   

Q37. 
In the N 
hemisphere, an ascending   wind   …… due to friction.






(a)  backs 

(b)     veers

(c) does not change 

Q38. 
Due to the rotation of earth, a moving object is deflected to the right in the N hemisphere and to the left in the S hemisphere. It is  





(a)  Coriolis force   
(b)   Geostrophic force   
(c)   Earth  force

Q39. 
The Coriolis   force is  also called  






(a)  Centripetal force   
(b)  Geostrophic force   
(c)   Gradient force 

Q40. 
The Coriolis   force is  maximum at  






(a)  Equator   

(b)  Poles   

(c)   Mid Latitudes

Q41. 
The Coriolis   force is  minimum at  






(a)  Equator   

(b)  Poles   

(c)   Mid Latitudes

Q42. 
 A  fictitious  horizontal wind which blows parallel to the straight isobars





(a)  Gradient wind   
(b)  Thermal wind
(c)   Geostrophic wind

Q43. 
A  fictitious  horizontal wind which blows parallel to the straight isobars due to balance between Pressure 

Gradient force and Coriolis force, with low pressure area to the left in the N hemisphere






(a)  Gradient wind   
(b)  Geostrophic wind
(c)   Cyclostrophic  wind

Q44. 
The Geostrophic rule breaks down at equator because





(a)  Pressure Gradient is zero   
(b)  Coriolis force is zero
    (c)   Friction is Nil

Q45. 
The Geostrophic rule is not followed by   





(a)  Upper winds   

(b)  Surface  wind
(c)   Thermal  wind

Q46. 
The Geostrophic rule is  followed by   





(a)  Upper winds   

(b)  Sea breeze
    
 (c)   Squall

Q47. 
The  wind which is markedly curved and blows due to balance between Pressure Gradient and Centripetal 

force is 





(a)  Gradient wind   
(b)  Cyclostrophic wind

(c)   Geostrophic wind

Q48. 
The  Centripetal force  is also termed as 





(a)  Coriolis  force   
(b)  Cyclostrophic  force

(c)   Geostrophic force

Q49. 
The  Cyclostrophic wind
 gives a good approximation of  winds in a 






(a)  Squall
   
(b)  microburst

(c)   Cyclone

Q50. 
The wind which blows parallel to the curved isobars under the balance between  Pressure Gradient, Coriolis 

and  Centripetal forces 






(a)  Gradient wind   
(b)  Thermal wind
(c)   Geostrophic wind

Q51.
For take off and landing purposes the wind is  averaged  for  






(a)  60 seconds 

(b)  120 seconds 

(c)   180 seconds

Q52.
A sudden increase in wind speed by 16 kt,  lasting for atleast  one minute, final speed reaching  22 kt or more, 

is called





(a)   Gale 

(b)   Squall 

(c)  Gust

Q53.
In a low pressure area in the N hemisphere the wind  






(a)  veers
   
(b)  blows straight
(c)   backs

Q54.
In a cyclonic motion the gradient wind is  






(a)  Super  geostrophic 
(b)  Geostrophic

(c)   Sub geostrophic 

Q55.
In an anticyclonic motion the gradient wind is  






(a)  Super  geostrophic 
(b)  Geostrophic

(c)   Sub geostrophic

Q56.
The  down slope dry and warmer winds  on the lee side  of mountains are called 





(a)  Anabatic Winds 
(b)  Katabatic Winds
(c)   Fohn Winds

Q57.
The  Chinook is a 






(a)  Anabatic Wind 
(b)  Fohn Wind 

(c)  Katabatic Wind   

Q58.
During the day the  warm  wind ascending along the slope uphill is called 





(a)  Anabatic Winds 
(b)  Katabatic Winds
(c)   Fohn Winds

Q59.
The cold down slope wind in the night / morning  is called  






(a)  Anabatic Wind 
(b)  Katabatic Wind
(c)   Fohn Wind

Q60.
The local wind  Bora is






(a)  Anabatic Wind 
(b)   Fohn Wind

(c)   Katabatic Wind 

Q61.
The wind that  blows from the sea towards  the land during the day is  called 






(a)  Sea  Wind 

(b)  Sea Breeze

(c)   Land Breeze

Q62.
The wind that  blows from the land towards  the sea during  night is  called 






(a)  Sea  Wind 

(b)  Sea Breeze

(c)   Land Breeze

Q63.
The  speed of the sea breeze is  ……….  the land breeze 






(a)  Stronger than

(b)  Weaker than

(c)   the same as 

Q64.
The vector addition of  ………..  to the lower level geostrophic wind gives the geostrophic wind at the upper level






(a)  Gradient wind   
(b)  Thermal wind
(c)   Geostrophic wind

Q65.
The lower temperature is to the ………. of the thermal wind in the N hemisphere







(a)  Thermal wind   
(b)  Gradient  wind
(c)   Geostrophic wind

Q66.
If  South is warm and the North is cold, the thermal wind will be





(a)  Easterly

(b)  Northerly

(c)   Westerly

Q67.
If  South is warm and the North is cold  from lower to higher levels continually , the thermal wind will be Westerly and 
keep …….. with height





(a)  Weakening

(b)  Strengthening
(c)   Remain the same

Q68.
A westerly  thermal wind  implies that  Northerly winds would  ……. with height and a  Southerly winds would …... 





(a)  veer,    back

(b)  back,   veer

(c)   Remain the same

Q  69.
Buys Ballot’s Law in valid for 



(a)   surface wind only
(b)  upper winds  only
(c)  all  type of winds except wind  local winds 
Q  70.   ‘Roaring Forties’ are strong 




(a)    Westerlies  in Siberian Highs


(b)    Easterlies Associated with Jet Stream



(c)    Strong Westerly winds  which blow steadily over region between 40ºS to 50º S

Q 71.
The geostrophic wind blow along the contours  with a speed  proportional to the gradient of the contours 





(a)     True

(b)     False

Q 72.
The direction of wind the lower stratosphere is practically the same as in the upper  troposphere





(a)      True


(b)      False

Q73.
Sudden change in wind speed from 12 kt to 35 kt and then to 15 kt is
 



(a) Gust



(b) Squall

Q74.
Sudden change in wind speed from 10 kt to 30 kt for more than a minute or  more is
 



(a) Squall


(b) Gust

Q75.
In N hemisphere thermal wind is parallel to … ….    with low value to  the left







(a) Isobars


(b) Isotherms

(c) Isallobars
 Q76.   Haboob is the name given to the  






(a)    TS

(b)    DS

(c)  Strong Westerly winds  between 40ºS to 50º S

Q77.
The wind Bora is …………… wind that originates in the mountains of Yugoslavia and NE Italy and flows in the coastal plains of Adriatic sea 





(a)     Anabatic

(b)     Fohn

(c)  Katabatic 
Q78.
The calm winds near the equator where opposing trades converge is called 




(a)     Doll drums


(b)      Frontal Equator 
(c)   Equatorial discontinuity
Q79.
The markedly seasonal wind, particularly in East and SE Asia  is termed as 





(a) Trade wind


(b) Chinook

(c)   Monsoon
Q80.
The steady winds blowing between Lat 10 ºS and 30 ºS and  10 ºN and 30 ºN are called   






(a) Steady 30s


(b) Trades

(c)   Mistrals
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VISIBILITY AND FOG
Q1.
Visibility  is the  ……….. up to which prominent objects can be seen by naked eye and  
recognized as such under natural 
light. 


(a)  maximum distance 
(b)  minimum distance  
(c)  distance along a runway 
Q2.
The visibility reported by a Met Office is the ……….     visibility around the airfield

(a)  maximum  horizontal

(b)  minimum  horizontal
 (c)    minimum slant 
Q3.
Runway Visual Range (RVR) is reported when the ………… is less than 1500 m



(a)  visibility

(b)  RVR 

(c)    visibility or RVR  
Q4.
When Visibility   is 5000 m or less and the atmosphere appears milky due to  
 

(a)  Mist


(b)  Haze  

(c)    Smog  
Q5.   
In …. the visibility is at least 1000 m but not more than 5000 m and  RH is almost 100%


(a)  Mist


(b)  Haze  

(c)    Fog
Q6.
If visibility  is  less than 1000 m and RH is nearly 100%, it is termed as



 (a)  Mist

(b)  Haze  

(c)    Fog
Q7.
Radiation fog is essentially a ……phenomena 


(a) Nocturnal 

(b) Midnight

(c)     Evening

Q8.
The radiation fog activity increases after the passage of a


(a) WD 


(b) Depression 

(c) Cyclone 

Q9.
Vertical Visibility and  Slant Visibility  are  …….. in haze



(a)   the same 

(b)  different    

(c)  same as  horizontal visibility 

Q10.
Radiation fog occurs 




(a)  During day 

(b) Over sea 

(c)  Over land
Q11.
Instrument not  used for measuring RVR 



(a)   Scopograph  
(b)  Transmissometer    
(c)  AVRA
(d) Visio meter

 Q12.
Favourable conditions for   the formation of Radiation Fog are 

(a)  70% RH, 3-4/8 of CI  and  variable  wind

(b)  High RH,  Clear Sky and 2-7 kt wind 



(c)  High RH,  1-2/8 CI, 10-12 kt wind
Q13.
The Radiation Fog is most frequent at  about  ……….. or  it thickens at that time. 


(a)   midnight  

(b)  0530 hr    

(c)  sunrise

Q14.
This fog forms due to horizontal movement of air 
 

(a) Advection 
   
(b)   Radiation   
 
(c) Frontal 

Q15.
Radiation Fog  occurs  over N India  mostly during 









(a) May to June 

(b) Dec to Feb 

(c) Oct to Nov

Q16.
Advection fog forms when  ……….… air is transported over a cold  land  or sea surface



(a)   warm  and   dry   
(b)  cold and moist    
(c)   warm and  moist 

Q17.
Advection fog   forms when  warm and  moist air passes  over 



(a)   land only
 
(b)  water surface only 
(c)    both land  and sea surface 
Q18.
Warm and moist air moving over a cold ground gives rise to:

 

(a) Thunder clouds 
(b) Fog and stratus 
(c) Frontal clouds

Q19.
Visibility is always  ……..  looking towards the sun  than away from it and is  ……… into 

the moon 



(a)   better ,   poor
(b)  poor , better  
(c)    poor , poor

Q20.
Radiation Fog usually forms over N India  ……….passage of a  Western Disturbance in 

winters 



(a)   during approach  
(b)  after the passage    
(c)   during the passage  

Q21.
For advection fog to form  the wind should be 



(a)   > 25 kt   

(b)  < 25 kt     

(c)   variable 25 k t 

Q22.
The radiation fog forms due to 


 (a)   Heating of the earth during day 
(b)  Advection of cold air

  

 (c)   Radiational cooling of earth at night

Q23.
Visibility in a Duststorm is  



(a)  5000 m  or less
(b)   less than 5000 m    
(c)    3000 m or less 

Q24.
The mixture of  fog and smoke is termed as



(a)  Smog

(b)  Foggy Haze  

(c)  Smoky fog
Q25.
Vertically the radiation fog may extend  up to about



(a)   2000 ft  

(b)  1500 ft    

(c)   3000 ft
Q26.
Advection fog forms during


(a) night only 

(b) day time only 
(c) any time of day and night

Q27.
RVR instrument is capable of reporting visibility up to …….. m and RVR is reported in Current weather reports when visibility is ……..  m


(a) 1500 m,   <1500m 
(b) 2000m,  < 1500m 
(c)  2000 m, 2000m
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*****     

VERTICAL MOTION, CLOUDS 
AND CONDENSATION TRAILS

Q1.
Local vertical motion is  not caused by the 


(a)  Convection
 (b) Terrain

(c) Friction

(d)  Advection

Q2.
A stable atmosphere produces  and an unstable atmosphere cumuliform  clouds.


(a)  stratiform clouds
(b)   cumuliform  clouds
(c)    vertically developing clouds 
Q3.  
The  net horizontal inflow of air into a region is 



(a) Convergence 

(b) Divergence

(c)  Friction
Q4.
The term  SKC in a  SPECI refers to cloud amount 



(a)  Nil


(b)   3-4 / 8

(c)  1-2/ 8
Q5.
The general height of High Clouds in the tropics  is about




(a)  10-12 km

(b)  8-14 km

(c)  6-18 km

Q6.
Upper air divergence  causes 
 

(a)  Convection 

(b) Subsidence
(c)  Advection
 Q7.
The optical phenomena associated with the high cloud CS is



(a) Halo


(b) Corona

(c) Mirage

 Q8.
Large scale vertical motion  is not  caused by the 
 



(a)  Pressure systems


(b)  Frontal systems



(c)  Upper air troughs and ridges   

(d)  Small  Hills 
Q9.
There are    ……..    major  genera of clouds 


(a)  eight

(b)  twelve

(c)   ten

Q10. 
A net out flow of air  is called  



(a) Convergence 

(b) Divergence

(c)  Friction

 Q11.  
Anticyclones and ridges are associated with 

 

(a) Convergence 

(b)  Advection

(c)  Divergence

Q12.
CI,  CC and CS are 



(a)  Low Clouds

(b)  Medium Clouds
(c)   High clouds

Q13.
Lows, cyclones, depressions and troughs are associated with 



(a) Convergence 

(b) Divergence

(c)  Friction
Q14.
Clouds are classified on the basis of   



(a)   Form only

(b)  Height only

(c) both Height and Form 

 Q15.    The optical phenomena associated with the medium  cloud AS is



(a) Halo


(b) Corona

(c) Mirage

Q16.
High Clouds mostly  consist of



(a)  Ice crystals 
   

(b) Ice crystals and water drops




(c)  Supercooled water drops

Q17.
Cumulus (CU), Towering Cumulus (TCU)  and  
Cumulonimbus (CB) are  ………clouds



(a)  Low 
(b)   Medium 

(c)   High 
(d) Vertically developing 

 Q18.
AC and  AS are



(a)  Low Clouds

(b)   Medium Clouds
(c)   High clouds

 Q19.
Convergence is associated with



(a) Low


(b) High


(c)  Col

Q20.
In tropics the Low Clouds  mostly consist of



(a)  Ice crystals 

(b) Water drops

(c)  Ice crystals and   water drops

Q21.     NS is a 
 



(a)   Low Cloud

(b)   Medium Cloud
(c)   High cloud

Q22.
Which  cloud causes most aviation hazards

 

(a)   NS


(b) TCU


(c)  CB

Q23.
Medium clouds generally occur in the tropics at a height of  about




(a)   2 – 8 km

(b)  9km 

(c)  2-6 km

Q24. 
In tropics the Medium Clouds  mostly consist of



(a)  Ice crystals only


(b) Ice crystals and water drops





(c)  Supercooled water drops

Q25.  
Clouds appear stationary because they are



(a)  not disturbed by upper winds 

(b)  continuously evolving and decaying 



(c) developing vertically

Q26.
A Cloud of Operational Significance is a cloud with  base below 1500 m  or ……….the 

highest minimum sector altitude, whichever is greater.

 

(a)   below

(b)   above 

(c) at 

Q27.
NS causes



(a) Drizzle

(b) Intermittent Rain
(c) Continuous Rain

Q28.  
A cloud  with its base below 1500m or below the highest minimum sector altitude, 

whichever is greater,   is called the cloud of ……



(a)  Vertical Development

(b) Operational Significance
(c)  Significance
Q29.
Low clouds generally occur in the tropics at a height of   about




(a)  below 3 km

(b)   below 2 km
 
(c)  2-3 km

Q30.
SC and ST are



(a)  Low Clouds

(b)   Medium Clouds
(c)   High clouds
Q31.
The term Broken (BKN) in a METAR refers to cloud amount  



(a) 3-4/ 8

(b)   4-5/ 8

(c)  5-7 / 8
Q32.
Fair weather CU clouds are capable of  causing



(a)  no precipitation
(b)  rain


(c)  showers

Q33.
The lowest cloud  which covers ………..  of the sky is called Cloud Ceiling


(a) < 5/8


(b)   5 / 8

(c)   > 5 / 8
Q34.     The sky coverage of 3-4/ 8 by clouds  is termed as  



(a)  Fair


(b)  Partly Cloudy
(c)   Cloudy

Q35.     The state of sky described by  the term Fair   has a cloud amount of 



(a) 3-4/8


(b)   4-5/8

(c)  1-2 / 8
 Q36.
The term  Scattered (SCT) in a TAF refers to cloud amount 



(a)  3-4/ 8

(b)   4-5/8

(c)  1-2/ 8
Q37.
When temperature are very  low, contrails form even when RH is 0%.  This is known as 



(a)   Drytra level

(b)  mintra level

(c)   Maxtra level

Q38.
Mintra Level  is the level ……….which no condensation trails from. 


(a) at


(b)  below

(c)   above

Q39.
The lowest cloud  which covers ………..  of the sky is called Cloud Ceiling


(a) < 5/8


(b)   5/8


(c)   > 5/8

Q40.
The 
streaks of condensed water vapour formed in the wake of a moving  aircraft are 

 

(a) Distrails

(b)  Contrails

(c)  Pony tails
Q41.
Maxtra Level  is the level ……….which no condensation trails from 



(a) at


(b)  below

(c)   above

Q42.
A Cloud of Operational Significance is a cloud with  base below …….. or below the highest minimum sector altitude, whichever is greater.



 (a)  3000 ft

(b)  4000 ft

(c)   5000 ft

Q43.
The lowest cloud  which covers more than half the sky (5/ 8 or more) is called 


(a)  Broken

(b) Mainly Overcast
(c)   Cloud Ceiling

Q44.
An unstable atmosphere  may give rise to

(a)  stratiform clouds
(b)   cumuliform  clouds
(c)    vertically developing clouds

Q45.
Vertically Developing clouds produce 

 

(a) Drizzle

(b)  Rain

(c)  Showers

Q46.
Heavy icing is possible  from the cloud 



(a) CI 


(b) CS 


(c) CB

Q47.
To avoid icing , a pilot is advised to fly through a cloud which shows an optical phenomena 


(a) Halo 

(b) Corona 

(c) With multi-coloured clouds 

Q48.
Continuous  rain  falls  from the cloud 




(a) AS
 

(b) NS 


(c)  CB 

Q49.
AC cloud with cumuliform protuberances are indicative of  


(a) Stability 

(b) Instability

(c) Neutrality

Q50.
A uniform layer of cloud resembling fog but not on the ground



 (a) AS     

(b) NS  


 (c) ST 

Q51.
Hail may be experienced under the anvil of a CB 





(a) True 


(b) False
Q52.
NS clouds  are mostly associated with 



(a) cold front    

(b) warm front



Q53
Lenticular clouds indicate presence of 










 (a) Warm Front 

(b) Cold front 
 
 (c) Mountain waves

Q54.
Rain falling from cloud but not reaching ground is 




(a) Virgo
 
(b) Virga 

(c) Mirage 

Q55.
CB with distinct anvil is called 





(a) Castellanus 

(b) Capillatus 

(c) Uncinus

Q56.
The cloud  composed of ice crystals having feathery appearance  



(a) CI  


 (b) CS   

(c) AS 
Q57.
In a weather chart Rain is represented by the symbol  
(a)
,  

 (b) 
● 

(c)     *
Q58.
In a weather chart Drizzle is represented by the symbol  

(a)
,  

 (b) 
●  

(c)     *
Q59.
In a weather chart Snow is represented by the symbol  

(a)
,  

 (b) 
● 

(c)     *
Q60.
In a weather chart Shower is represented by the symbol  

(a)
∞  

 (b) 
∆  

(c)     (
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******
  STABILITY  AND  INSTABILITY  OF  ATMOSPHERE
Q1.
Lapse Rate  is  the  rate of  ……….  of temperature with height. 


(a)   rise  


 (b)   fall   


(c)   appreciation

Q2.
At a height of  45,000 ft, compared to DALR  the SALR would be


(a)   nearly equal
    

(b)   much lesser    

 (c)   much higher
Q3.
Mesosphere is 



(a)   Neutral
 

(b)   Stable
   

(c)   Unstable 


Q4.
The value of  DALR is 


(a)   9.8 ºC per km     

 (b)   9.8 ºC per km    

 (c)  6.5 ºC per km l



Q5.
An atmosphere having inversion is


(a)   Unstable
 

(b)   Stable
   

(c)   Neutral 

Q6. 
When atmosphere is practically dry the  SALR  is ……..  DALR 



(a)   more than
    

(b)   lesser than   
 (c)  practically  equal to 

Q7.
Dry  air is Absolutely stable  when



(a)   DALR > ELR    

 (b)   ELR  < SALR   

 (c)  DALR  =  ELR 

Q8.
The value of  Saturated Adiabatic Lapse rate (SALR) is 



(a)   constant    
(b)   variable   

 
(c)  more than DALR


Q9.
Saturated air is  Absolutely Stable





(a)   DALR  = SAL
(b)   ELR  >  SALR   

 (c)  SALR  >  ELR

Q10.
The  actual lapse rate existing in the atmosphere is termed as 

 

(a)   Lapse Rate    
 (b)   Air Lapse Rate
 (c)  Environmental Lapse Rate 

 Q11.
Depending on the moisture content in the atmosphere the value of  SALR  varies from



(a)   5º C /  km –   7.5º C / km     (b)   6º C /  km –   8.5º C / km  



(c)   6.5º C /  km –   8º C / km

Q12.
The value of  DALR is 



(a)   3º C /1000 ft    

 (b)   3.5º C /1000 ft   

 (c)  3..3º C /1000 ft

Q13.
When saturated air is lifted adiabatically  its temperature falls at certain rate, called  ………Adiabatic Lapse Rate



(a)   Environmental    

(b)   Saturated   


 (c)   Dry   

Q14.  
The Dew Point Lapse Rate (DPLR) is about 



(a)   0.8ºC / 1000 ft 

(b)   0.5 / 1000 ft  

(c)   0.7º C / 1000 ft


Q15.  
Saturated air is  Absolutely Unstable  when



(a)   DALR  < ELR    

 (b)   ELR  <  DALR   

 (c)  DALR > SALR
 Q16.
Depending on the moisture content in the atmosphere the value of  SALR  varies from



(a)   1.8ºC  – 2.9ºC / 1000 ft 
(b)   2º C  –  3º C / 1000 ft  
(c)   2.8ºC  – 3.8º C / 1000 ft


Q17.
The rise of temperature with height is termed as 



(a)   Lapse Rate
 

(b)   Positive Lapse Rate
   
(c)   Negative Lapse Rate


Q18.
When saturated air is lifted adiabatically, it cools, condensation occurs and latent heat is  ………… 



(a)   liberated    

 
(b)   absorbed   


 (c)   not affected


Q19.
 If in the atmosphere DALR > ELR > SALR, it is  …………Instability.



 (a)   Conditional   

 (b)   Convective   

 (c)  Latent 


Q20.
The value of ELR in ISA up to 11 km height is 


(a)   5.6º C / km
 

(b)   9.8º C / km   

(c)   6.5º C / km 


Q21.
Saturated air is stable when



(a)   DALR > ELR    

 (b)   ELR > DALR   

 (c)  SALR  >  ELR

Q22.
The rise of temperature with height is termed as 



(a)   Insolation
 

(b)   Inversion
   

(c)   Isomerism


Q23.
When a layer as a whole is  lifted bodily and becomes unstable, it possesses   ………  Instability.



(a)   Latent    


 (b)   Convective   

 (c)  Conditional

Q24.
 Troposphere is generally



(a)   Stable
 

(b)  Unstable
   

(c)   Neutral 


Q25.
SALR  06° C/ km  ELR  04° C/ km,  the atmosphere  is



(a)   Stable    

 
(b)   Unstable    

 
(c)  Indifferent 
Q26.
The Dew Point Lapse Rate (DPLR) is about 



(a)   1.6º C / km
 

(b)   1.4º C / km   

(c)   1.2º C / km 

Q27.
An atmospheric layer which is  initially stable eventually becomes unstable due to forced ascent, has …….. instability.



(a)   Convective   

 (b)   Latent   


 (c)  Conditional


Q28.
SALR  06° C/ km,  ELR  08° C/ km and DALR 10° C/ km,  the atmosphere  is



(a)   Stable    

 
(b)   Unstable    

 
(c)  Conditionally Instable 
Q29.
For potential (convective) instability  the RH is   ……..    in the lower levels and   …….. in the higher levels.



(a)   high ,  low   


 (b)   low , low   


 (c)   high ,  high


Q30.
Dry air is stable when


(a)   DALR > ELR    

 (b)   ELR > DALR   

 (c)  DALR  =  ELR

Q31.
If the atmosphere is unstable for saturated air  and stable for unsaturated air, it is …………Instability.



 (a)   Latent    


 (b)   Convective   

 (c)  Conditional 
Q32.
Stratosphere is 



(a)   Unstable
 

(b)   Stable
   

(c)   Neutral 

Q33.
Dry Adiabatic Lapse Rate (DALR) is the rate at which temperature  falls with height when a parcel  of 

air ascends …………





(a)   adiabatically  

 (b)   isothermally   

(c)   radiationally
Q34.
DALR is greater than SALR because of



(a)   the latent heat released due to condensation heats up the atmosphere

    

(b)   the latent heat released due to condensation  causes air to ascend faster



(c)   the latent heat released due to condensation  nullifies  the ELR  =  SALR

Q35.
Dry air is Absolutely Unstable when



(a)   DALR > ELR    

 (b)   ELR > DALR   

 (c)  DALR  =  ELR

Q36.
DALR  10° C/ km  ELR  11° C/ km,  the atmosphere  is


(a)   Stable    

 
(b)   Unstable    

 
(c)  Indifferent
Q37.
Isothermal layer has  ………. lapse rate.



(a)   positive    


 (b)   negative   


 (c)  zero

Q38.
SALR  06° C/ km,  ELR  04° C/ km and DALR 10° C/ km,  the atmosphere  is



(a)   Absolutely Stable    

(b)   Unstable    

 
(c)  Conditionally Instable

Q39.
The Isothermal atmosphere is 



(a)   Unstable
 

(b)   Stable
   

(c)   Neutral 


Q.
Surface temperature 25° C,  Dew Point  20°  C, the cloud base would be ………… 

(Hint :  25°C  -  20° C = 5° C . The cloud base would be 5* 400 = 2,000 ft)

Q40.
Surface temperature 28° C,  Dew Point  26° C, the cloud base would be 



(a)   1, 200 ft    

 
(b)   1,000 ft    

 
(c)  800 ft

Q41.
Surface temperature 30° C,  Dew Point  22°  C, the cloud base would be



(a)   2, 200 ft    

 
(b)   3,200 ft    

 
(c)  1,800 ft

Q.
Surface temperature 30° C, cloud base  3000 ft  determine the Freezing Level .
(Hint :  Temperature at 3000 ft  (3000 *3 ºC /1000  = 9 ºC.  Cooling within cloud  @1.8 ºC/1000 ft.  From cloud base the 0 ºC temperature would reach at (9/1.8) *1000 =5000 ft. Hence Freezing level would be at 3000 + 5000 = 8,000 ft) . If cloud base is not given then   surface temperature would reduce @ 3 ºC /1000 ft. Freezing Level would be

(30 / 3) *1000  = 10,000 ft. 

 Q42.
Surface temperature 33° C,  determine the Freezing Level



(a)   12,000 ft    

 
(b)   11,000 ft    

 
(c)  15,000 ft
Q43.
Surface temperature 35° C,  cloud base  3,500 ft, determine the Freezing Level



(a)   8,333 ft    

 
(b)   10,333 ft    

 
(c)  9,333 ft

Q44.
If the temperature is falling with height, the atmosphere will be



(a)   Neutral
 

(b)   Stable
   

(c)   Unstable 
Q45.
The surface air temperature is 30( C. Assuming DALR prevailing, what is the temperature at 2 km 



(a)   18( C 


(b)   10( C 


(c)   42( C

Q46.
SALR approaches DALR 






(a)   at 0(C level
 

(b)   at   -15(F  level

 (c) at   -40(C  level
Q47.
Environmental LR can be more than DALR 



(a)    True


(b)   False

Q48.
The process which to a large extent determines the vertical distribution of temperature in atmosphere is 



(a)    Isothermal


(b)    Adiabatic


(c)    Isentropic

Q49.
Inversion is common in  India during




(a)   Post Monsoon

(b)    Winters


(c)    Monsoon 

Q50.
DALR = 9.8 ºC , ELR = 8 ºC ;  the atmosphere is 




(a)    Stable    


(b)    Indifferent


(c)   Unstable
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*******
OPTICAL  AND  ELECTRICAL PHENOMINA

Q1.
Halo is a circle of light around the sun or moon. It is produced by  …………. of light through ice crystals



(a)   reflection    

 
(b)   refraction     

 
(c)  diffraction 

 Q2.
Aurora Australis (Southern Lights) occur in  





(a)    S hemisphere

(b)    Australia 


(c)    N hemisphere 

Q3.
A halo signifies the predominance of ice crystals in a cloud and hence ………chances of icing.

 

(a)   negligible    

 
(b)   maximum   

 
(c)  moderate
Q4.
Air to ground lighting flashes convey predominantly ……….. charge to ground.



(a)   positive   

 
(b)   negative   

 
(c)  nil

Q5.
Corona  occur only in ……..composed of  very small water drops or ice particles
 

(a)   only in Clouds    

(b)   only in Mist and Fog    
(c)  Mist, fog or  thin clouds 
Q6.
Bishop's ring is  a whitish faint ring, centred on the sun or moon, with a slightly bluish tinge on the inside and 
reddish 
brown on the outside. It forms due to the……of light by fine dust particles present in the high atmosphere.  



(a)   reflection    

 
(b)   refraction     

 
(c)  diffraction 

Q7.
 In the atmosphere density reduces with altitude. Therefore, the light refracted from a distant object travels in a 
curved path, keeping lower density on the convex side of the curve. The rising sun or moon thus appear slightly 
……….. than they actually are.



(a)   higher    

 
(b)   lower    

 
(c)  sideways

Q8.
Mirages are observed when the temperature of the earth's surface differs markedly from that of the air above. A 
lower mirage (Inferior Mirage) occurs when the Lapse rate is


(a)   negative    

 
(b)   steep    

 
(c)  shallow

Q9.  
Halo occur in  ……  clouds



(a)   CB    

 
(b)   AS    

 
(c)  CS

Q10.
Corona are formed due to the  ……..   of light, passing through very small water drops or ice particles 



(a)   reflection    

 
(b)   refraction     

 
(c)  diffraction 

Q11.
During a thunderstorm the direction of current is  from ………. 



(a)   Air to earth   
 
(b)   Earth to Air   

(c)  Cloud top to  upwards

Q12.  
A mirage may occur as upper mirage (Superior Mirage)when there is  


(a)   inversion    

 
(b)   steep lapse rate   
 
(c)  shallow lapse rate

Q13. 
Corona occur in  ……  clouds



(a)   AC    

 
(b)   AS    

 
(c)  CS

Q14.
A lower mirage (Inferior Mirage) occurs over



(a)   hot surface    
 
(b)   cold sea    

 
(c)  snow surface

Q15.
Small Halo  is mostly white luminous ring of      …..  radius with the sun or moon at its centre



(a)   32°    

 
(b)   22°    

 
(c)  28°

Q16. 
Corona are luminous one or more  coloured rings of   …….  radius, not more than 5°, centred on 
the sun or moon.



(a)   not more than 5°    

 
(b)   8°    

 
(c)  10°

Q17.
This phenomenon  of visible light  in the high atmosphere, at heights from 70 and 1000 
km,  with peak

 frequency at about 100 km, is called


(a)   Corona    

 
(b)   Halo    

 
(c)  Aurora 

Q18.
The lightning between cloud and ground is termed as



(a)   Thunderbolt   

 (b)   Air discharge
 
(c)  Cloud discharge 

Q19.
An upper mirage (Superior Mirage) occurs  over



(a)   forest    


(b)   cold surface    
 
(c)  desert

Q20.
In fine weather, earth is negatively charged and the electric potential is directed towards the earth and has 

a mean value 




(a)   200 volts/m    

 
(b)   150 volts/m     
(c)  100 volts/m

Q21.
Precipitation particles carry a net ………. charge towards the ground . 



(a)   positive   

 
(b)   negative   

 
(c)  nil

Q22.
Sometimes when flying in CU/CB clouds , an aircraft may experience bluish or greenish luminous discharge

 due to 
strong electrical field in the cloud,  accompanied by cracking sound . It is called



(a)   Lightning spark   

 (b)   Saint Elmo’s Fire
 
(c)  Cloud discharge 

Q23.  
A cloud, above the freezing level, in which Corona forms, can cause ……. icing



(a)   severe   

 
(b)   light    

 
(c)  moderate

Q24.
Bishop's ring forms  due to the diffraction of light by fine ………. particles present in the  atmosphere.



(a)   ice    

 
(b)   water    

 
(c)  dust 

Q25.
Halo occur in  ……  clouds



(a) High    

 
(b)   Medium    

 
(c)  Low 

Q26.
The lightning within the cloud  is not  termed as 


(a)   Thunderbolt   

 (b)   Sheet lightning
 
(c)  Cloud discharge 

  Q27.
This type of lightning occurs from cloud to the air and does not strike the ground.



(a)   Thunderbolt   

 (b)   Air discharge
 
(c)  Cloud discharge 

Q28.
Aurora are  most common in higher latitude, centering around 



(a)   60°    

 
(b)   70°    

 
(c)  magnetic poles
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*****
  PRECIPITATION

Q1.
The precipitation not reaching ground is termed as 



(a)   Microburst    
 
(b)   Virga    

(c)  Sky rain

Q2.
The  Ice crystal Theory  explains precipitation from



(a)   All type of clouds    

(b)   Clouds which do not develop  up to freezing level    

 

(c)   Clouds which extend above freezing level

Q3.
Drizzle occurs from the cloud



(a)   SC    


(b)   AC    

(c)  ST

Q4.
Clouds which do not reach freezing level are called 


(a)   Cold Clouds    

(b)   Warm Clouds
(c)  Neutral Clouds

Q5.
Clouds which extend up to freezing level and above  are called 



(a)   Cold Clouds    

(b)   Neutral Clouds
 (c)  Warm Clouds

Q6.
The   Theory  which explains precipitation in maritime areas 



(a)   Ice crystal Theory    
 (b)   Coalescence Theory     
(c)  Giant Nucleus Theory 

Q7.
Showery precipitation occurs from the cloud


(a)   AC and AS    
(b)   CB and TCU

(c)  NS and AS
Q8.
NS cloud gives ……… rain or snow



(a)   Intermittent  

(b)   Continuous 


(c)  Light

Q9.
Very heavy precipitation as showers or rain over an area in a short period is called 


(a)   Heavy downpour    
 (b)   Flash Floods 

(c)  Cloud Burst

Q10.
In the tropics, the precipitation is  most common in the 


(a)   Morning    

 (b)   Night 


(c)  Afternoons
Q11.
 In coastal areas and in the valleys the precipitation is  most common

  

(a)   Morning    

 (b)   Night and  early morning
(c)  Afternoons

Q12.
In tropics the rainfall is more  in ……..  than in  ……….  


(a)    winters  ,  summers 
(b)  summers  ,   post- monsoon
 (c)   summers  ,  winters
Q13.
In the temperate latitudes  and  in N India rain or snowfall is maximum in ……



(a)    winters

(b)  summers   

 
 (c)   monsoon


Q14.
The   Theory  which explains precipitation  from Warm Clouds 



(a)   Ice crystal Theory    
(b)   Coalescence Theory     
(c)   Nucleus Theory 
Q15.
In a weather chart Hail is represented by the symbol  

(a)
∞  

 (b) 
∆  

(c)     (
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*****

  ICE ACCRETION

Q1.
Severe  icing occurs at temperature range




(a)   -7 ºC to - 12ºC     
 (b)   -12ºC to - 20ºC  
(c)  0ºC to -7ºC

Q2.
Hoar frost occurs on airframe in clear air when the temperature of airframe is



(a) below the frost point 
(b) frost point
 (c) just above the frost point

Q3.
This icing poses serious aviation hazard 




(a) Rime


(b) Hoar Frost 

(c) Glazed

Q4.
The  Icing hazard  in High clouds is negligible as they mostly contain 

     (a) Water drops and ice particles
(b) Ice particles 

(c) supercooled water drops

Q5.
Above the  freezing level, AS and  NS consist of supercooled water drops and ice crystals in varying 

proportions.  Icing of what severity  should be expected in these clouds. 



(a) Severe

(b) Light or moderate 
(c) Negligible

Q6.
Very light icing occurs at temperature range  




(a)   -7 ºC to - 12ºC      
(b)   -12ºC to - 20ºC  
(c)  -20ºC to - 40ºC 

Q7.
…… occurs on an aircraft, between  -20( C and 0( C, while rapidly descending from a colder region 


in a Warm Front cloud




(a) Glazed Ice
(b) Mixture of Rime and Clear ice 
(c)  Rime 

Q8.
Below  -20ºC temperature level,  the  icing in CB cloud is  




(a) insignificant 

(b) significant 

(c) maximum

Q9.
While flying  in cloud,  Light icing may be experienced  at temperature range  




(a)   -7 ºC to - 12ºC     
 (b)   -12ºC to - 20ºC  
(c)  -20ºC to - 40ºC 

Q10.
Rime is formed by freezing of …….. supercooled water droplets of the size
 



(a) Large 

(b) Medium 

(c) Small

Q11.
If  the maximum water concentration in cloud occurs  at about   -15º C level,  the icing would be …….


 at that level



(a) insignificant 

(b) significant 

(c) maximum

Q12.
Serious Carburetor icing can occur at  temperatures 



(a) 13 (C

(b)  + 30(C to –10(C
(c) 20 (C 

Q13.
. …….. occurs  in clouds  at temperature range  -12( C to – 40( C and in CB at   -20( C to – 45(C





(a) Rime


(b) Glazed Ice
  
(c) Hoar Frost

Q14.
In TCU icing may range from light to severe type at least up to ……. .



(a) – 40 ºC level 

(b)  – 30 ºC level 

(c) – 20 ºC level 

Q15.
When fog freezes on a parked aircraft it produces…. 



(a) Hoar Frost                  
(b) Rime                             (c) Clear ice

Q16.
Carburetor Icing is negligible below the temperature




(a)   -7 ºC     

 (b)   -10º C  

(c)   - 4º C 

Q17.
Height of Freezing Level in India ranges from about 3 km to 5 km.

   


(a)   4 – 6 km     

 (b)   2 -  3 km  

(c)  3 – 5 km

Q18.
The most dangerous form of icing is the 




(a) Hoar Frost 

(b) Rime 

(c) Clear ice

Q19.
The intensity and severity  of icing  increases  over the …..




(a)  Plains     

 (b)   Water Bodies 
(c)  Hills

Q20. 
The ……….the cloud base temperature, potentially the greater the severity of icing.




(a)   Colder     

 (b)   Warmer  

(c)  Higher

Q21.
Icing ……the stalling speed appreciably 




(a) Decreases 

(b) Increases 

(c) Does not increase/decrease

Q22.
Impact Icing occurs due to the impact of ………. on the intake



(a) supercooled water drops 
(b) Ice particles 

(c) Water Drops and Ice particles
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*******

THUNDERSTORM
Q1.
Thunderstorm is reported when 



(a)  Lightning  is seen     
 (b)   Thunder is heard  
(c)  Precipitation reaches surface

Q2.
The diameter of individual CB cells varies from  …….. 



(a)  1 -10 km     

 (b)   7 – 12 km 
 
(c)   6 – 7 km

Q3. 
The  locally damaging winds, frequent lightning, thunder,  or large  hail are due to



(a)  Severe TS     

 (b)   Microburst
 
(c)   Norwester

Q4.
The condition necessary for the formation of a thunderstorm are:



(a)    Steep lapse rate, strong winds 



(b)   Steep lapse rate, adequate supply of moisture and trigger action



(c)    Shallow lapse rate, adequate supply of moisture


    
Q5.
A nearly circular cluster of many TS over a very large area with a life of 6 to 24 hr is



(a)  Heat TS 

 (b)   Frontal   TS
 
(c)  Mesoscale Convective Complex

Q6.
The Convection,  Convergence, Katabatic Wind, Fronts and  Orography are termed as


(a)   Instability mechanism
(b)   Trigger mechanism
(c)  Moisture Enhancers   
Q7.
The stage  in the life cycle of a TS in which there are  updraughts  throughout the cell and has an  average 


life of 15 to 20 min is



(a)  Mature stage 

 (b)   Dissipating Stage
 
(c)   Cumulus Stage

Q8.
Mature Stage commences  when  ……..   precipitation reaches the surface. In this stage both up and 

downdraughts co-exist.  It  lasts for 20 – 40 min.  It is the most hazardous stage of CB.



(a)  Lightning  is seen    
 (b)   Thunder is heard 
 
(c)  Precipitation reaches surface

Q9 .
Hail is most likely to fall from a cloud which is 


(a)   Having strong vertical development 
(b) Composed of Ice crystals
(c)  Layered

Q10.
Norwesters are


(a)   Severe TS which occur over Peninsula during hot weather period



(b)   Severe  TS which occur over NE India during  pre-monsoon 


(c)   The western disturbances which affect NW India

Q11.
In Dissipating Stage only  ………..  exist and  the cloud top spreads as anvil. 



(a)  Updraughts  

 (b)   Downdraughts
 
(c)   both Up and Downdraughts

Q12.
Over  the plains TS mostly occur during the 



 (a)  Noon  

 (b)   Night

 
(c)   Afternoon - Evening 
Q13.
The first gust which produces a sudden pressure rise  results during 



(a)  Mature stage 

 (b)   Dissipating Stage
 
(c)   Cumulus Stage

Q14.
The  local intense downdraught with damaging winds  from a TS is termed as



(a)  Cloud  Burst 

 (b)   Squall
 
(c)   Down Burst

Q15.
Dust Storms (DS) or Sand Storms (SS) in  N India  are called 



(a)   Andhi (blinding storms)

 (b)   Norwester
 
(c)  Dust Raising Wind.

Q16.
In Mature Stage   ………..  prevail



(a)  Updraughts  

 (b)   Downdraughts
 
(c)   both Up and Downdraughts

Q17.
Norwesters  occur during the Pre Monsoon period (March to May) over



(a)   NW India 

 (b)   S India
 
(c)   NE India
Q18.
A whirling cloud descending over land  from the base of a well developed CB is termed as


(a)   Dust devil

 (b)   Tornado

(c)  Water Spout
 

Q19.
Norwesters are 



(a)   Line Squalls

 (b)   Violent TS 
 
(c)   Blinding storms 

Q20.
TS duration is around 20-30 min for cumulus stage, 20-30 min for the mature stage and …….1-3 hrs for the 
dissipating stage. 



(a)   1 – 3 hr

 (b)   2 – 4 hr

 (c)   30 min – 1 hr

Q21.
Air mass TS, which are common in 


(a)   winters

 (b)   pre- monsoon
 (c)   post-monsoon

Q22.
At sea TS are more frequent at 



(a)  Night and early morning  
 (b)   Afternoon - Evening
 
(c)   Night

Q23.
Frontal  TS are  common in ……… and move in the direction of the associated front.



(a)   winters

 (b)   pre- monsoon
 (c)   post-monsoon

Q24.
In the life cycle of a CB cloud  the appearance of Anvil is an indicator of 



(a)  Mature stage 

 (b)   Dissipating Stage
(c)   Cumulus Stage

Q25.
Macroburst  is a localised severe downdraught of great intensity , which dies down in 5-20 minutes,


 has a diameter of 



(a)   4 km or more

 (b)   5 km
(c)   < 4 km

Q26.
Over the valley and foot hills during



(a)  Night and early morning  
 (b)   Afternoon - Evening
 
(c)   Night

Q27.
Microburst  is localised severe downdraught of great intensity. Its diameter is 



(a)   4 km 

 (b)   5 km
 
(c)   < 4 km

Q28.
Turbulence can be experienced about  ………. around a CB and hail can
 occur below the anvil. 



(a)   10 km

 (b)   20 km

 (c)   30 km
Q29.
Lightning is  more likely in the band +10ºC to -10ºC, being …….. above and below the 0ºC isotherm.



(a)   5,000 ft

 (b)   4,000 ft

 (c)   3,000 ft
Q30.
The wavelength of TS detection X band radar is 




(a) 10 mm 

(b) 20 mm 

(c) 30 mm

Q31.
The wavelength of storm detection S band radar is 




(a) 50 mm 

(b) 100 mm 

(c) 200 mm
Q32.
For a severe TS one of the requirements is strong wind shear 


(a) Horizontal

(b) Vertical 

(c) Slant

Answers : 

	Q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

	A
	b
	a
	c
	b
	c
	b
	c
	c
	a
	b
	b
	c
	a
	c
	a
	c

	Q
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32

	A
	c
	b
	b
	a
	b
	c
	a
	b
	a
	a
	c
	a
	a
	c
	b
	b


*******
 AIR MASSES, FRONTS AND WESTERN DISTURBANCES
Q1.
Air mass is a large body of air covering an area of thousands of square km  in having nearly uniform



(a) temperature and pressure
(b) pressure and density 
(c) density and moisture

Q2.
Cold air masses are  ……… 



(a) stable

(b) unstable 

(c)  neutral

Q3.
Cold air masses are associated with  



(a) CB, CU and  Showers 
(b)  NS, AS and continuous rain
(c)  ST, AC and drizzle
Q4.
Warm moist air massage  are mostly  ……….  


(a)  neutral 

(b) unstable 

(c)  stable 

Q5.
Warm moist air massage  are   associated with 



(a)  AC and  CU

(b)   heavy showers 
(c)  poor visibility, ST and drizzle 

Q6.
The  main Source Regions of  air masses are mainly 



(a)  equator and tropics 
(b) poles and sub-tropical highs 
(c)  Arctic and Antarctic 

Q7.
The  main Air Mass in India during winters is 



(a)   Tropical Maritime 
(b) Tropical Continental  

(c)   Equatorial Maritime 
Q8.
The  main Air Mass in India during monsoons  is 



(a)   Tropical Maritime 
(b) Tropical Continental  

(c)   Equatorial Maritime 
Q9.
A Front is a narrow zone of transition between two air masses of contrasting  



(a)  temperature and pressure
(b) density and humidity 
(c)    pressure and density
 Q10.
The sloping surface along which  two air masses exist


(a)   Frontal Surface  

(b)   Front  

(c)  Line of Discontinuity 

Q11.
A Front is the place where the frontal surface meets the 


(a)   two distinct  weather systems 

(b)  ground 
(c)   air masses 

Q12.
Frontolysis is  the  ……….of a front with time.


(a)   formation and strengthening 
  (b)  weakening and dissipation
(c)   stagnation 

Q13.
Cold Front forms when a fast moving cold airmass ………. a warm airmass.



(a)    overtakes

(b)   undercuts 

(c)   up-glides 

Q14.
The airmass which originates at sea in low Latitudes is called


(a) Polar maritime 
(b) Tropical continental 
(c) Tropical maritime

Q15.
The airmass which originates over equatorial region is 


(a) Moist and Warm 

(b)  Dry and Warm  
(c)  Dry and Cold  

Q16.
At a warm front  the 



(a) Warm air overtakes cold air 
(b) Cold air undercuts  warm air



(c)   Warm air up-glides hot air 
Q17.
Line squalls occur about 100 - 300 km ahead of 



(a) Warm front 

(b) Cold front

(c)  Occluded front
Q18.
Fronts are associated with 



(a)   Monsoon  depressions    (b)  Tropical Depressions 
(c) Extra-tropical Cyclones



Q19.
If the advancing cold front is colder than the cool air mass of the warm front, the advancing cold front 

undercuts and lifts  both the warm and cool air masses of the warm front. This is 


(a) Warm Occlusion 

(b) Cold Occlusion 
(c)  Stationary Front
Q20.
Ahead of a warm front the surface wind 


(a) Backs  and weakens
(b) Veers  and strengthens

(c) Backs and strengthens 
Q21.
The temperatures  …….. on the  approach of a Warm Front


 (a) Fall


(b) Rise    

(c)  do not change
Q22.
CI, CS, AS, NS, ST in sequence are associated with the front



 (a) Warm 

(b) Cold 

(c) Occluded

Q23.
In Cold Occlusion the  air mass of the advancing cold front is 



(a)    coldest

(b)   warmest 

(c)   cooler 

Q24.
The cold occlusion occurs in summers but  is most  common during



(a)    Pre-monsoon
(b)   Monsoons 

(c)   Winters 

Q25.
In Warm Occlusion,  the air mass  behind  the  advancing cold front is less colder (cool) than the …..

 air mass of   the warm front ahead.



(a)    coldest

(b)   warmest 

(c)   cooler 

Q26.
The warm occlusion occurs in winters but is ………..  than a cold occlusion 



(a)    more common
(b)   less common 
(c)   equally common 

Q27.
A Stationary Front  exhibits almost no movement. Winds on either side blow parallel to the front but  …….


(a)   in  opposite direction
   (b)    in the same direction  
(c)   across  

Q28.
Polar front is an example of 



(a)    Occluded front

(b)   Cold front 

(c)   Stationary front

Q29.
India is not affected by fronts, except in the extreme NW India as  Western Disturbances (WD). 

These are 



(a)    occluded fronts

(b)   cold fronts 

(c)   stationary fronts

Q30.
The  lows or troughs which move from W to E,  N of 20º N and cause weather, are termed as



(a)    Western Depressions

(b)   Westerly Troughs 
(c)   Western Disturbances 

Q31.
At a Warm Front lighter airmass  ……… a denser airmass.



(a)    overtakes

(b)   undercuts 

(c)   up-glides 

Q32.
The average frequency of WDs is  ……… per month  during winters 



(a)    2-6


(b)   5-7 


(c)  6-8 

Q33.
The slope of a cold front is about 



(a)   1:30 to 1:150 
(b)   1:40 to 1:120 
(c)   1:50 to 1:100

Q34.
A cold front compared to a warm front moves ……. 



(a)    slower

(b)    faster
(c)  both move with the same speed

Q35.
The average frequency of WDs is  ……… per month during monsoons 



(a)    2-3

(b)   1-2 

(c)  nil 

Q36.
The WDs start affecting  India from ………..  onwards 



(a)    September

(b)   October 

(c)  November 

Q37.
Widespread  Fog and Cold Waves are common …….. of WD. 



(a)    after the passage 

(b)   during the passage  

(c)  before the passage 

Q38.
 The  lows  which move from W to E,  N of 20º N, having two or more closed isobars  at 2 hPa interval,

 are termed 



(a)    Western Depressions

(b)   Westerly Troughs 
(c)   Western Disturbances 

Q39.
The slope of a  warm front is about 



(a)   1:120 

(b)   1:140 

(c)   1:150 

Q40.
The severe weather due to a cold front is confined in a zone of about ….. on either side of the front.



(a)    350 km 

(b)    200 km 

(c)  500 km

 Q41.
The clouds associated with a warm front are



(a)    Cumuliform

(b)   Stratiform 

(c)   Vertically developing 

Q42.
Frontal fog occurs  ………. a warm front 



(a)    just ahead of
(b)   in the rear of 
(c)   at 

Q43.
The CI clouds associated with a warm front can be seen as far  ahead as 



(a)    > 2000 km

(b)   > 1000 km 

(c)   > 3000 km 

Q44.
The  troughs, above 500 hPa level,  which move from W to E,  N of 20º N are termed 



(a)    Western Depressions
   (b)   Troughs in Westerlies 
(c)   Western Disturbances 

Q45.
During the passage of a Cold Front winds may


(a)   suddenly become squally
(b) Back and weaken 
(c) Veers
Q46.
Due to a  Warm Front the Visibility is poor   



(a)    ahead


(b)   after and during 
(c)  ahead  and  during

Q47.
Due to a Cold Front Fog occurs   ………  the  Front 




(a) after



(b) during

(c)  ahead of 
Q48.
After the passage of  this  front the precipitation ceases  




(a) Occluded 


(b) Warm 

(c) Cold
Q49.
In a Cold Front,   the Fog  mostly occurs  ……… the front




(a) ahead of

(b)  at 

(c)  after
Q49.
During the approach of a Warm Front the wind



(a) backs

(b)  veers
(c)   first veers and then backs
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*******
JET STREAMS
Q1.
The jet stream which prevails over India from Oct to May is a



(a) Westerly Jet Stream
 (b) Easterly Jet Stream
(c )  Low Level Jet Stream
Q2.
The southern most position of STJ is in February is  



(a) 22º N

(b) 20º N 

(c ) 18º N

 Q3.
Arctic Jet Stream  a ………westerly jet stream at 7 to 8 km height



(a)  Easterly
(b)  Southerly 

(c )  Westerly
 Q4.
In a Jet stream  the horizontal wind shear,  in comparison with the vertical  wind shear, is 


(a) weaker 

(b) stronger

(c ) same

Q5.
Polar Front Jet Stream is a westerly jet stream, at 300 hPa level. In winters  it is located at  …….. and

 in summers  shifts to………



 (a)  40º N , 60º N  
(b)   50º N , 80º N
(c )   30º N , 70º N 



Q6.
In a Jet stream  the  path of the maximum wind speed is termed as 



(a)  Jet Streak 

(b)  Axis 

(c)  Core
Q7.
The  centres of  strongest winds in a wavy jet stream  are located  

(a)  over or near the ridges

(b)  at  the Troughs 
(c ) between troughs and ridges 

Q8.
To call it a Jet Stream, the wind speed at its core should be at least 


(a) 60 m/s 

(b) 50 m/s 

(c ) 30 m/s 
Q9.
The Tropical Jet Stream  is strongest  during


 (a) July 


(b)  Oct 


(c)  January
Q10.
 PFJ is a westerly jet stream occurs  at  ……… level  in winters



(a) 400 hPa 

(b)  300 hPa

(c ) 200 hPa

Q11.
The  speed of  Polar Front Jet is  ……… in winters. 



(a)  40 – 50 m/s 

(b) 60 - 70 m/s 

(c )  55 – 60 kt 
Q12.
The Low Level Jetstream  with winds of 30 -40 kt is  seen over the   Indian Peninsula during  the 


 SW Monsoon between the levels ……. 



(a)   5 -6 km

(b)  1 – 3 km 

(c)   3 – 4 km  
 
Q13.
The speed of the winds in a  STJ  increases 





(a) Northwards

(b) Upstream 

(c ) Downstream 

Q14.
At and near the STJ the temperature gradient is very


 (a) Small

(b) Large 

(c ) Moderate

Q15.
The Vertical wind shear in STJ is greater ……. the core 




(a) along   

(b) below 

(c ) above 

Q16.
The Tropical Jetstream  prevails over the Indian Peninsula from 


(a) May to Jun 

(b) Sep to Oct

 (c) Jun to Aug 

Q17.
The  STJ affects India from 





(a) Jun to Jul 

 (b) Oct to May

(c ) Aug to Sep 
Q18.
The TJ is located over Indian , approximately at a height of 


(a) 14 -15 km 

(b) 15 - 16 km 

(c) 12 – 13 km

Q19.
The only Jet Stream which  blows from East to West is


 
(a)  Sub Tropical Jetstream
(b) Polar Front Jet
(c)  Tropical Jetstream

Q20.
The Stratospheric Jet Stream (SJ) is found  above 20 km in the Arctic and Antarctic regions. It is   Wly

 
in  …….. and  Ely  in ……….



(a)    Summers, Monsoons 
(b)  Summers ,  Winters  
(c)   Winters,  Summers
Q21.
STJ has a layered structure. There are often two layers of maximum wind to the……of the jet core  




(a) SW


(b) N


(c ) S

Q22.
In the TJ the wind shears are much ……  the STJ
  


(a) same as

(b) less than  

(c) more than 

Q23.
The  TJ is located over the Indian Peninsula, approximately at 



(a) 12º N  

(b) 13º N 

(c) 14º N

  Q24.
 The  Sub-tropical Jet Stream (STJ) has


 
(a)  only one maxima 
(b) one or more maxima 

(c ) only two maxima 

Q25.
The normal position of Sub-tropical Jet Stream is 



 (a) 30º N

(b) 27º N 

(c ) 35º N

Q26.
The Low Level Jetstream  is seen over the Indian Peninsula during 


(a) July - Aug

(b)  Oct - Nov 

(c)  Dec - Jan  


Q27.
The Tropical Jet stream is a







(a) Westerly  Jetstream

(b) Easterly  Jetstream 

(c ) Southerly Jetstream

Q28.
The Speed  of STJ ranges from   ………..100 kt to  over 200 kt  


(a)    100 to > 200 kt

(b)   100 to > 300 kt
(c)   50 to > 300 kt  


Q29.
Along the axis of a jetstream there are centres of high speed winds. These are called


(a)    jet core


(b)   jet streaks

(c)   jet tubes  


Q28.
The jetstreams originate due to ........................... gradient


(a)    vertical temperature

(b)   pressure  

(c)   horizontal temperature
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********
CLEAR AIR TURBULENCE (CAT)

Q1.
Clear Air Turbulence is the bumpiness experienced by aircraft at a height ……….. in clear sky  or in 


stratiform clouds. 



(a)  above 18,000 ft  

(b)  above 20,000 ft 

(c)  above 21,000 ft

Q2.
CAT  may extend vertically to



(a)   < 2,000 ft 


(b)   1,000 -1,500 ft
(c)    2,000 ft or more 

  Q3.
Which is not  a necessary condition for the formation of CAT



(a) ked wind shear 
(b) steep lapse rate 

(c) cloudy sky with AC clouds

  Q4.
CAT is  generated when  there is a  ……………… wind shear and Steep lapse rate


(a)  marked   horizontal   
(b)   moderate,  horizontal and vertical 
(c)  weak  horizontal or vertical clone

  Q5.   
CAT  is more extensive in  …………… direction



(a)   N – S  


(b)  E – W  

(c)   S – E

  Q6.
Severe CAT  may occur due to the combined effect of ……… and mountain wave.



(a)  Jet Stream  

(b)  Cb cloud 

(c)   weak temperature gradient

  Q7.
Most CAT occurs   ………….. of  a jet stream 



(a)  on the fringes 
(b)    within the core
(c)   along the axis

  Q8.
The mountains ………..   the  effect of CAT 



(a)   nullify 

(b)  moderate 

(c)   enhance

  Q9.
The frequency of CAT is  more over  South  India  in 



(a)  July 


(b)  September 

(c)   December

  Q10.
CAT also occurs when strong winds encounter the ………. of a thunderstorm cloud.



(a)  base 

(b)  middle portion 
(c)   top

  Q11.
The frequency of CAT is  more over North  India  in 



(a)  June 

(b)  January 

(c)   April

  Q12.
Worst CAT is most probable  on the ………… side of  a Jet stream



(a)  cold 

(b)  warm 

(c)  eastern

  Q13.
CAT  is a ………… phenomena



(a)  continuous

(b)  patchy 

(c)   visual

  Q14.
  Most CAT occurs in the vicinity of upper level frontal zones where temperature contrasts are ….. 


(a)  weak 

(b) strong 

(c)  weak

   Q15. 
  Approximate dimensions of CAT are …… km in  N-S direction and  ……. Km in E – W direction



(a)  250 , 140 


(b)   160 , 250 

(c)   120 -250

  Q16.
CAT is most probable in the region



(a)  Ridge of a mountain wave

(b) Just below the tropopause
(c)   over a  Cyclone
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*****
MOUNTAIN  WAVES

Q1.
One of the necessary conditions for the formation of  mountain waves  is  that:



(a)
The wind is  at least 7m/s for small mountains and 15m/s for large mountains and is 




perpendicular ±30º to the mountain range  


(b)
The wind is deep  and weakening with height

(c)
 The atmosphere is unstable
Q2.
The Rotors are 



(a)   always stationary
(b)   always travelling
(c)   stationary as well as travelling 

Q3.
The major aviation hazard in the medium level cloud  AC Lenticularis  is icing



(a)   turbulence

(b)   icing 

(c)   vertical currents

Q4.
The Lenticularis clouds are lense shaped . They appear stationary because


(a)   they are heavy and do not blow with the winds




(b)   vertical currents keep them steady



(c)  they are continually forming on the upwind side and decay on the downwind side

Q5.
The Rotor clouds generally form  in the  ……… of  …….. amplitude Mountain waves 



(a)   ridges ,  large
 (b)   troughs , large 
(c)  middle , large

Q6.
One of the necessary conditions for the formation of  mountain waves  is  that:


(a)
The wind is  at least 10m/s for small mountains and 18m/s for large mountains and is 




± 45º perpendicular to the mountain range  


(b)
The wind is deep and steadily  weakening with height


(c)           The atmosphere is initially unstable and then  Stable (isothermal or inversion) up to the  ridge



 and unstable above it  (i.e. a stable layer is  sandwiched between two less stable   layers).

Q7.
Which is not a mountain wave cloud


(a)   Cap cloud

(b)    Nacreous cloud 
(c)   Noctilucent cloud

Q8.
The Rotor zone of a mountain wave is most hazardous due to 


(a)   severe precipitation
(b)   severe icing
(c)   severe turbulence 

Q9.
When approaching an area of mountain waves, a pilot should not expect:



(a) Roll clouds,  Cap clouds and Lenticular clouds



(b) Intense up drafts and down drafts on the windward side of the mountain.

 

(c) Moderate to severe turbulence as far as 20 to 30 miles from the range on lee side.

 Q10.
On large lee slopes sometimes the clouds sweep down and form  ………. resembling a 
waterfall. 



(a)   Fohn fall 

(b)   Fohn wall 

(c)   Fohn  waterfall 

Q11.
In Rotor clouds both vertical and horizontal gusts occur and an acceleration of ……..2 to 4g is not uncommon.



(a)   2 g
 

(b)   5 g
 

(c)   6 g 

Q12.
………………….. occurs in Cap clouds, Fohn wall and Rotor clouds. 



(a)   severe precipitation
(b)   severe icing

(c)   severe turbulence 

Q13.
One of the necessary conditions for the formation of  mountain waves  is  that:


(a)   The wind is  at least 12 kt for small mountains and 25 kt for large mountains and is up to 




         

± 60º normal to the mountain range
(b)   The wind is deep with little change in direction and steadily  strengthening with height



(c)   An   unstable layer is  sandwiched between two  stable  layers

Q14.
In India the possibility of occurrence of mountain waves is more during


(a)   Winters

 (b)   Pre-monsoon
(c)   Monsoon

Q15.
Over large mountains strong  vertical currents of   ……… are not uncommon



 (a)   05 – 08 m/s

(b)   20 – 50  kt 

(c)  10 - 15  kt

Q16.
The ………… cloud is the most hazardous zone in a mountain wave due to worst type of severe turbulence



(a)   Cap
 

(b)   Lenticularis 

(c)   Rotor 

Q17.
Due to  the rapid height fluctuations in the Mountain Waves the altimeter of an aircraft gives erroneous 

reading due to 



(a)   temperature  fluctuations 
(b)   Up and downdraughts (c)   Hysteresis  effect

Q18.
Altimeters give erroneous readings if the temperature defers from ISA. If ….  than ISA, the readings are too …… 



(a)   colder , low
 
(b)   colder , high

(c)   warmer , high
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******

  TROPICAL SYSTEMS

Q1.
In tropics the Fronts can not be marked.  However, a line of discontinuity can be drawn  in the wind 

field in the  upper air charts and  in the cloud pattern. Such discontinuities are  not called 


(a)   Inter Tropical Convergence Zones 
(b)   Convergence Zones 



(c)   Tropical Discontinuities 

Q2.
The ITCZ is a narrow zone along which ……..Tm or Tc air from the North meets the  …….Tm or Em air  

from  the South. 


(a)   colder , low
 
(b)   colder , high

(c)   warmer , high

Q3.
Easterly waves   are  ………at the surface but better developed at ……..hPa level and above. 



(a)   well developed ,  300 hPa 
   (b)   weak ,  700 hPa    
(c)    weak , 500 hPa

Q4.
The weather on an ITCZ is 



(a)   Thundery all along the ITCZ
(b)   Showery throughout
 (c) TS in certain portions only

Q5.
The  Peninsular Discontinuity  forms between  the hot and dry air form  ……… and  cooler and moist 

air from the  ……….



(a)   N India , Arabian sea 
   
 (b)   N India , Bay of Bengal



(c)    Arabian sea  , Bay of Bengal

Q6.
During  the Northern winters an aircraft will encounter ITCZ while flying from



(a)   Chennai to New Delhi    (b)   Kolkata to Melbourne (Australia)
(c)   Mumbai to  Tokyo

Q7.
………………is the sudden strengthening of an air current in the same air mass over Arabian sea during

 monsoon months. It is termed as  




(a)   Divergence 
   
 (b)  Convection  

(c)    Surge or pulse 
Q8.
ITCZ follows the Sun, however over  the Eastern North Atlantic it ……….goes S of the Equator


(a)   never 
   
 (b)   always    

(c)    sometimes

Q9.
On rare occasions the ITCZ  is pushed up to S Bay of Bengal in  ……, and may cause formation 

of Cyclonic storm. 



(a)   monsoons 
   
 (b)   winters    

(c)    sometimes

Q10.
During  SW monsoon, the  ……… coincides with the Monsoon Trough ? 


(a)   WD 
   
 (b)   winters    

(c)    ITCZ
Q11.
Easterly waves have a wavelength  of  about  



(a)   1500 km 
   
 (b)   2000 km     

(c)    1000 km

Q12.
The  abbreviation ITCZ  in expanded form is



(a)   Inter Tropical Convective Zone 
(b)   Intra Tropical Convergence Zone


(c)   Inter Tropospheric Convergent Zone 

Q13.
Easterly waves  move from  ……… with speed   …….  along the ITCZ. 



(a)   N – S ,  10-15 kmh 
    (b)   E – W ,  15– 20 kmh
(c)    W to E ,  20-25 kmh
Q14.
Most of the weather in Easterly wave occurs in the   


(a)   ahead of the trough 
    (b)   rear of the ridge   

(c)    rear of the trough

Q15.
The  Peninsular Discontinuity remains  ……… for 3-4 days before dissipating. 



(a)   active in the  afternoons   
 (b)  active during the night 
(c)    24 hrs

Q16.
Peninsular Discontinuity causes  ……TS, at times with hail, strong  NWly squalls and heavy showers. 



(a)   morning 
   
 (b)   night   

(c)    afternoon 

Q17.
During  SW monsoon  the Easterly  waves  move across  SE Asia and reach the head of  Bay of 
Bengal. 

Some of them  help in causing



(a)    break monsoon      
 (b)   decay  of monsoon depression     


(c)    formation and development a depression 

Q18.
During pre-monsoon the Easterly waves  help the ………… of cyclonic storms.  



(a)   formation and development    
 (b)   decay and weakening     (c)    faster movement 

Q19.
 The ITCZ is also known by the name


(a)   Tropical  Front  
(b)   Monsoon trough
(c)   Equatorial Trough

Q20.  
Over India the Peninsular Discontinuity (PD)  forms  south of Lat. 23 N in 


(a)   January - February 
   (b)   April - May   
(c)    June - July

Q21.
A surge is a common disturbance in the monsoon season over the ………….. To the west of the surge


 line the wind may be about 40 kt while ahead of it, to the east, only  about  10- 15 kt. 



(a)   Arabian Sea  
  (b)  Indian Ocean
(c)    Bay of Bengal
Q22.
At a shear line, due to friction between the air moving  with different velocities, there is a small 
scale 

ascent of the air.  If the shear line extends vertically, the clouds which form are 



(a)   stratiform  
   
 (b)  cumuliform

(c)    vertically developing

Q23.
The ITCZ  moves up to    …… N over India during monsoons



(a)   20( N
 
(b)   25( N

(c)   30( N
Q24.
At a surge the air arrives faster than it is removed. This leads to accumulation of air at the surge line and 

vertical 
ascent. This process is known as  



(a)   velocity convection   
 (b)  velocity divergence 
(c)   velocity convergence 

Q25.
A Depression is a low-pressure area with two or more closed elliptical isobars at 2 hPa interval. Winds 


in a monsoon  depression are  ……... 



(a)  < 17 kt

(b) 34-47 kt

(c) 17-27 kt
Q26.
Shear Lines are created when in the same air mass the wind  speed decreases markedly  from  S to N or 

 vice versa.  Such  situations are most common over the ……….. during the monsoon season. 



(a)   Arabian Sea  
 (b)  Indian Ocean
(c)    Bay of Bengal

Q27.
Surge and Shear Lines are  a characteristic feature of …………. 


(a)   Weak Monsoon    
 (b)  Vigorous monsoon
(c)    Break Monsoon

Q28.
ITCZ follows the Sun, except over the ………………… where it is almost stationary, and over the eastern

 North Atlantic where it never goes south of the Equator 



(a)   central North Pacific 
    (b)   South Pacific   
(c)    Atlantic Ocean

Q29.

A monsoon depression slopes ……..   with height 




(a) SE


(b) NW


(c) SW

Q30.
 
Average life of a monsoon depression is 



(a)  3-5 days
  
(b)  7-8 days

(c)  1-3 days

Q31.
  
The monsoon depressions move faster 



(a)  at sea  

(b)   over the land
(c)  over the snow surface
Q32.
During  July and August months the Monsoon Depressions form  over the area 



(a)   Head Bay  

(b) Central Bay   

(c)  South Bay

Q33.
The maximum weather in a monsoon depression occurs in its

        


(a) SE sector   

(b) NW sector   

(c)  SW sector

Q34.  
The maximum weather belt shifts to the……. during the recurvature of a depression



(a) NE sector   

(b) W sector   

(c)  E sector
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TROPICAL CYCLONES
Q1.
The eye  of a cyclonic storm is characterised by  



(a)
Strong winds and heavy rains 


(b) 
Very strong winds, squalls and heavy rains    


(c) 
Calm wind, little clouding and practically no rainfall

Q2.
Tropical Cyclones affect India during the period


(a)  NE monsoon 
(b)   Pre and Post monsoons  
(c)   Monsoon 

Q3.
No  TRS form  in the region

   

(a) Equatorial Region  
(b) 5-15 ( N   

(c)  0-5 ( N/S

 Q4.
 Cyclonic storm affect Tamil Nadu  from
 

(a)  Oct-Nov  

(b)   Jul- Aug  

(c) Feb -May

Q5.
Wind speed in a severe tropical cyclone is



(a) 17-27 kt

(b) 48 – 63 kt  

(c ) 27 -33 kt 

Q6.
In the N hemisphere, the strong winds felt by an aircraft from the port indicate that the centre of the cyclonic storm 
lies somewhere   


(a)  ahead 

 (b)  behind  

(c)  to the right 

 Q7.
Cyclonic storms are confined  to the 



(a)  Equator  

 (b)  Tropical latitudes  
(c)  Middle latitudes

Q8.
  The  most hazardous area of a cyclone is 

 

(a) eye wall

(b) eye  


(c) outer storm area



Q9. 
The Life period  of a tropical cyclone in India is about 




 (a) 2-3 Days

(b)  10 Days  

(c) 6-7 Days 


Q10. 
The Eye of a CS is surrounded by



  (a) Shelf Clouds 
 (b)  Wall Clouds

(c) Rotor Clouds


Q11.
 CS in Indian region are less intense compared to  those in other tropical regions because 



(a) They have a very short travel over the sea



(b) Sea surface temp. are not high 
 

(c)  India is close to Equator   


Q12.
 For  the formation of a CS sea surface temperature should be atleast



(a)  26 -27 ºC

 (b) 23 -24 ºC 

(c) 24 -25 ºC 


Q13.
 In extra tropical cyclone family there are 3-4 CS or depressions , one  to the ….. of the other




(a) SE


(b) NW


(c) SW


Q14.
 In TRS the central pressure is about

                          
 (a) 1002-1010 hPa          (b) 1000-900 hPa        
(c)1010-1020 hPa


Q15. 
TRS develop over           




(a)
Sea

(b) Land


(c) Islands


Q16. 
TRS develop over……… deg Lat






(a) 0-5


(b) 5-15


(c) 25-30


Q17.
 In TRS pressure gradient is very steep up to a radius of 



 (a) 30 km

 (b) 50 km 

(c) 100 km


Q18.
 Extra Tropical Storms originate in  



(a) Equatorial Front  
(b) Tropical Front 
 (c) Polar Front


Q19.
 Extra Tropical Storms generally move in the direction 




(a) SE

      
(b) E - ENE

(c) SW


Q20.
 A Tropical Cyclone moves …. in a day 



 (a) 300-500 km   
(b) 500-700 km   

(c) 700-900 km


Q21.
 A Tropical CS has outer storm area of about  



(a) >400 km     

(b) >700 km    

(c) >900 km 

Q22.
 Fronts are associated with

(a)   Tropical cyclone       (b) Extra-tropical depressions     (c) Monsoon depressions
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CLIMATOLOGY OF INDIA
NE Monsoon
Q1.
During which  season there is High pressure over N India and  Low pressure over the Indian ocean. 




(a)   SW monsoon 
  (b)  NE monsoon
(c)   Post-monsoon 

Q2.
The pressure gradient over India is reasonably strong during the winters. Normally how many isobars run 

across the country in winters



(a)   Six 
      

(b)  Five


(c)   Four 

Q3.
The winds  from surface up to 10,000 ft  in winters are    …..  over N India and moist ……

over S 
India.




(a)   SWly , NEly 
(b)  NWly , NEly

(c)   Ely , Sly 

Q4. 
In winters the winds over N India above  10,000 ft  are ………….  which  strengthen with height and 

gradually  spread  Southwards up to the tip of  Peninsula, at 200 hPa level. 



(a)   SWly  
      
(b)  NE ly

(c)  Wly 

Q5.
STJ lies  during winters at  a height of about  ……..  and  …….




(a)   12 km ,  27º N  
    (b)  10 km ,  30º N 
(c)  14km ,  35º N  

Q6.   
In winters the main synoptic feature to cause weather over N India  is 




(a)   Cold Front  
      
(b)  Warm Front

(c)  Occluded Front 

Q7.   
In winters the main synoptic feature to cause weather over S India  is 




(a)   Cyclonic Storms   
      
(b)  Peninsular Discontinuity
(c)  WD 

Q8.
In winters which  synoptic feature does not affect weather over  S India 



(a)   Easterly Wave 
(b)  Peninsular Discontinuity
(c)  Cyclonic Storms 

Q9.
Cold Waves are declared only when the temperature falls ……….below the  ……….



(a)   9º to 10º ,  normal maximum  
    (b)  3-4º ,   normal 
(c)   5º to 8º  ,  normal minimum  

Pre-Monsoon

Q10.
For heat waves to occur the temperature should rise to ……. above the …………




(a)   5º to 8º ,  normal maximum  
    (b)  3 to  4º ,   normal     (c)  8º to 9º  ,  normal minimum  

Q11.
The  transition season when winter pattern changes to the monsoon pattern is termed as 




(a)  Hot weather season
(b)  pre rainy season
(c)  post rainy season

Q12.
The pressure gradient over the country during pre-monsoon season is 




(a)   steep  
      
(b)  moderate

(c)  weak 

Q13.
Which weather is uncommon during pre-monsoon season



(a)   Andhi  
      
(b)  Kalbaisakhi

(c)  Fog 


Q14.
The winds which lift dust and reduce visibility during the hot weather season are termed as  




(a)   Lifting Dust Winds  
 (b)  Dust Raining Winds
   (c)  Dusty  and Squally Winds 

Q15.
During pre-monsoon the dust haze may extend to a height of 




(a)   9-10 km  
      
(b)  7-8 km

(c)  2-4 km 

Q16.
During pre-monsoon months  the dust  raising winds of speed 30 – 50 kt maybe experienced from  



(a)   0900 h   to 1700 hrs   
   (b)  1000 h   to 1600 hrs
    (c)  1100 h   to 1800 hrs 

Q17.
During pre-monsoon months  the STJ lies  roughly along 




(a)   25º N  

(b)   30º N 

(c)  35º N
Q18.
The STJ is …….. in pre-monsoon than in winters



(a)   weaker 

(b)  stronger

(c)  the same

Q19.
The most hazardous season for flying in India is 




(a)   SW monsoon 
  (b)  NE monsoon
(c)   Pre-monsoon 

SW Monsoon


Q20.
In its normal position the monsoon trough extends from




(a)   Srinagar  to Vishakhapatnam 
  (b)  Sriganganagar  to  Kolkata
(c)   Amritsar to  Asansol 

Q21.
The pressure gradient over the country during the monsoon season is 




(a)   steep  
      
(b)  moderate

(c)  weak 

Q22.
Normally how many isobars run across the 
country during monsoons




(a)   Six 
  

(b)  Seven

(c)   Eight
Q23.
During monsoon period High pressure area is located over…….. and  Low pressure  over ……



(a)   NE India,  SW India 
(b)  N India,  S India
(c)   S India,  NW India 

Q24.
The surface winds during monsoon season over Gangetic plains, N of the monsoon trough  are normally  



(a)   SWly
  
    (b)  SEly

(c)  NEly 

Q25.
The surface winds during monsoon season over Central India are 




(a)   W-SWly
 
    (b)  E-SEly

(c)  N-NEly
Q26.
The Jetstream over Indian peninsula during monsoons is




(a)   STJ
  
      
     (b)  TJ

(c)  PJ 


Q27.
From 500 hPa upwards  ……… winds prevail over almost entire India 



(a)   SWly
  
    (b)  Ely

(c)  NEly 


Q28.
From 500 hPa upwards  Ely  winds are stronger over  ……  India



(a)   S
  

    (b)  E


(c)  N 


Q29.
In India  the monsoon over India advances in  …….  




(a)   one branch
  
    (b)  two branches
(c)  three branches

Q30.
North of the MT the  ………..branch  prevails




(a)   Arabian Sea  and Bay of Bengal     (b)  Bay of Bengal 
(c)  Arabian Sea

Q31.
Monsoon establishes over the entire country by



(a)   mid  June     

(b)  mid July 

(c)   July end

Q32.
Monsoon sets in  over Mumbai normally by



(a)   1st June     

(b)  15th June 

(c)   10th June


Q33.
Monsoon sets in  over Kerala,  mid- Bay of Bengal and Tripura by 



(a)   25th  May    

 (b)  beginning of  June 

(c)   5th June


Q34.
In which region of India Monsoon does not cause rains 



(a)   Meghalaya     
(b)  J &K and Tamil Nadu 
(c)   Jharkhand

Q35.
When wind speed at sea  is  23 to 32 kt  and rainfall over land is  1½ to 4 times the normal, the monsoon  




(a)   Moderate      
(b)  Vigorous 

(c)   Strong

 
Q36.
When wind speed at sea  is up to 12 kt  and rainfall over land is  < ½  of   the  normal, the monsoon  is




(a)   Weak
      
(b)  Moderate 

(c)   Strong


Q37.
It is vigorous monsoon when winds at sea are 




(a)   13 to 22 kt      
(b)  23 -32 kt 

(c)   >32 kt

Q38.
It is vigorous monsoon when the rainfall over land is ………. times the normal 



(a)   > 4       

(b)   3 - 4


(c)   >3

Q39.
In its  normal position  the monsoon trough  extends from   


(a)  Ludhiana to Sand Heads 
(b)  Lahore to Kolkata
(c)  Sriganganagar  to Kolkata
Q40.
At 10,000 ft  the monsoon trough runs  almost parallel to  …….. from Gujarat to Orissa and at 18,000 ft, along …… 
across S peninsula. Thereafter it is not traceable.



(a)   22º N ,  10-15ºN       
(b)  27º N ,  12-15ºN  
(c)   25º N ,  10-18ºN  
Q41.
The monsoon trough  moves  ………. of its normal position  and  governs the  rainfall over the country   


(a)  E - W 

(b)  SW -  NE

(c)   N -S

Q42.
During  break monsoon  the MT shifts to



(a)  NE India

(b)  foot hills of Himalayas 
(c)   Central India

Q43.
During  break monsoon  there is ………. rainfall over the country




(a)  heavy

(b)  moderate 

(c)   scanty

Q44.
The pressure over the country …………..during  break monsoon  




(a)  falls


(b)  remains the same
(c)   rises

Q45.
Heavy rains occur over foot hills of Himalayas, over Sub Himalayan West Bengal, Nepal and Bhutan and 

 floods  
occur over Assam and Bihar during  




(a)  Break monsoon

(b)   Weak monsoon
(c)  Vigorous  monsoon

Q46.
Sometimes very strong Wly surface winds are also experienced over East UP, Bihar and adjoining states.


(a)  Vigorous monsoon

(b)   Break monsoon
(c)  Weak monsoon

Q47.
Sometimes a closed cyclonic circulation extends between 700 and 500 hPa  over Gujarat and adjoining areas. It  is  
associated with the heavy and unprecedented rains  over Gujarat, MP, and Maharashtra. It is called


(a)  Mid Level Cyclone

(b)   Subtropical Cyclone

(c)  Gujrat Cyclone

Q48.
Monsoon starts withdrawing from NW India by ………., from NE India by middle October and from the entire 
country by ……..


(a)  September , December
(b)   end August ,  January

(c)  September , mid December 
Q49.
During El Nino  a   ………warm coastal ocean current runs southwards along the coast of Ecuador.



(a)  mild



(b)   warm

(c)  cold 
Q49.
El Nino is  considered to ………….  the monsoon rainfall over India.



(a)  enhance 


(b)   reduce 

(c)  have no effect on 
Q50.
The Southern Oscillation is a see-saw variation in surface pressures between  …………….. 


(a)   Eastern and Western Pacific




(b)   Eastern and Western  Atlantic  




(c)   Bay of Bengal and Arabian Sea

Q51.
The El Nino develops when the pressure gradient between the East and the West begin to ……. 



(a)  steepen


(b)   weaken

(c)  first steepen and then weaken
Q52.
In India Severe cyclonic storms are more in  ……… than in  ………..




(a)  October  , November

(b)   November , October 

(c)  December ,   January

Q53.
Which state of India gets maximum rainfall during Post-monsoon Season



 (a)   Tamil Nadu
 

(b)   Andhra Pradesh

(c)   Karnataka
Q54.
The combination of El Nino and Southern Oscillation is termed as  ………… 



(a)  ENSO


(b)  NOSE

(c)   ESNO  
Post Monsoon (Retreating Monsoon)

Q55.
During Post-monsoon how many isobars  surround the country



(a)  two



(b)   one


(c)   three
Q56.
The Post-monsoon  is also known as



(a)  Coolest Season

(b)   Cool Season

(c)   Spring season
Q57.
Which is the best season for flying in India



(a)  Pre-monsoon

(b)   NE monsoon
(c)  Post-monsoon

Q58.
Maximum Cyclonic Storms occur in ……. over the Bay of Bengal and in ……… over the Arabian sea.




(a)  October  , November
(b)   November , December
(c)  December ,   January
Q59.
 During  the pre-monsoon period surface weather occurs over  


(a) Central India 

(b)  South India

 (c) NE India 


Q60.
Post monsoon weather period is 


(a) Mar to May 

(b) Jun to Sept 

(c) Oct to Nov 


Answers :

	Q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	A
	b
	c
	b
	c
	a
	c
	a
	b
	c
	a
	a
	c
	c
	b
	a
	a
	b
	a
	c
	b

	Q
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40

	A
	a
	b
	 c
	b
	a
	b
	b
	a
	b
	b
	c
	c
	b
	b
	c
	b
	c
	a
	c
	a

	Q
	41
	42
	43
	44
	45
	46
	47
	48
	49
	50
	51
	52
	53
	54
	55
	56
	57
	58
	59
	60

	A
	c
	b
	c
	c
	a
	b
	b
	a
	b
	a
	b
	b
	a
	a
	b
	b
	c
	a
	b
	c


****

GENERAL  CIRCULATION

Q1. 
On an average, in comparison to  the polar regions there is radiation  …….   at the equator


(a)  surplus 

(b)  deficit  

(c) balance

Q2. 
On either side of the equator, there are two huge  vertical circulations, one between the equator and  30°S

and another between equator and   30°N,  these  are called 





(a) Polar  Cells

(b) Ferrel Cells  

(c) Hadley cells
Q3. 
The high pressure area located around 30°N is termed as 


(a)  Polar High  

 (b)  Subtropical high
(c) Equatorial high

Q4. 
The NEly  winds in the N hemisphere and SEly winds in the S hemisphere are called 



(a) Easterly winds
(b) Trade Winds  
(c) Tropical Winds

Q5.  
The  subtropical high is associated with



 (a) subsidence 

  (b) convection 

 (c) advection  

Q6. 
The tropical disturbances  move from 



(a)  W to E  

(b)  E to W   

(c)  N to S  
(d)  S to N

Q7.
The winds in the upper troposphere are westerly. These are known as 



(a) Natural Westerlies 
(b) Steady Westerlies 
(c) Zonal Westerlies

Q8. 
The occurrence of large deserts near  30N and 30S are due to large scale 



 (a) subsidence  

 (b) convection 
 
(c) advection

Q9.
The  study of the behaviour of various weather producing systems , like Low, High, Cyclone etc, is known as 



(a)  Climatology

(b) Synoptic Meteorology 
(c) Physical Meteorology

Q10. 
The upper winds in the equatorial region are 



(a) Westerlies

(b) Easterlies  

(c) Zonal Westerlies 

Q11.
The disturbances  N of 30 deg N  move from 



(a)  W to E  

(b)  E to W   

(c)  N to S  
(d)  S to N

Q12.
The idealized global pressure pattern  separates the world into climatic  ……..  zones 



(a)   3  

(b)   5   

(c)  5
  
(d)  6
Answers :
	Q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

	A
	a
	c
	b
	b
	a
	a
	c
	a
	b
	b
	a
	c


METEOROLOGICAL SERVICES FOR AVIATION
Q1.  
The term WWW stands for 



(a)  Weather  Worsening  Warning    (b)  World Weather Watch
(c) Warning  for World  Weather




Q2.
World wide high quality en-route forests of winds and temperatures , are provided for use of  the Met Offices by 

 
(a) WMO 

(b) WAFS

(c)  WAFC
Q3.
SIG Weather Charts are issued  …. times a day 



(a) Two


(b) Three

(c) Four

Q4.
To enable Aerodrome Met Offices to keep the required Met information ready for briefing, the advance notice to be 
given to  by the aircraft operators for non-scheduled National Flights  is  of at least  …… before 
ETD



(a) 3 hr    

 (b)  18-24 hr     

(c) 6 hr

Q5.  
For non-scheduled National Flights, the advance notice (before ETD)  to be given to Class III Met Offices
 is 



(a) 3 hr     

(b)  18-24 hr    

 (c) 6 hr

Q6.  
The number of Regional Met offices under IMD are 





(a)  6     


(b)   5     

(c)  4 

Q7.  
There are a  total of ……. WAFC in the world and …… in India



(a)  14, 2     

(b)  25,  6     

(c)   19,  1 

Q8.
World Area Forecast System provides high quality  …………….. to  the Met Offices 


(a) SIGMET 

(b) TREND 

(c) en-route forests of winds and temperature
 

 Q9.   
SIGMET is  a notice  for     …………..   severe weather for  


(a)  both expected and actual 
(b)  expected  
(c)   actual
Q10.   
The Met information in the Air  Report is contained in Section 


(a) I


 (b)   II


  (c)  III
Q11.  
VOLMET is a MET information meant for aircraft 


(a)  on ground 

(b) in flight

 (c )  both on ground and in flight

Q12.  
 MWO issues AIRMET  for the occurrence or expected occurrence of en-route weather , which is unsafe for


 (a) low-level aircraft
(b) high -level aircraft 
(c ) both low and high level forecast 
Q13. 
Round the clock current weather and forecasting  watches are maintained in India by the 
 

(a) Aerodrome Met Offices
(b)  MWOs
 (c)  Aeronautical Met Stations
Q14.
Landing Forecast is not  append to  



(a) METAR 

(b) SPECIAL 

(c) TAF  

Q15.
 Local Forecast is issued by  the Aerodrome Met Offices in India ……….times a day valid for 8 hr  



(a)  three    

(b)  four


(c )  six
Q16.  
SIGMET is valid for 
 

(a) 4 hr     

(b)  18 hr     

(c ) 6 hr

Q17.  
Prognostic Charts are issued by 



(a) RAFC    

(b)  Aeronautical Met Stations
(c )  MWO

Q18. 
The number of Aeronautical Met Stations in India are 


 
(a) 62     

(b)  51    

(c)  60
Q19. 
SIG Weather  Charts are issued for Flight Levels   


 (a) below 460  

(b) 460  


 (c ) above 460

Q20. 
WINTEM is   




(a)   Forecast  surface wind  and temperature 

(b)  Forecast upper wind and temperature 


(c )  Actual temperature and upper winds  

Q21. 
The validity of  a Prognostic Charts is

 

(a) 18 hr     

(b)  12 hr    

(c )  9 hr

Q22. 
Airfield warning is issued  when the direction of  20 kt wind   is likely  to changes by 


(a) 45° 


(b) 30°


 (c) 60° 

Q23. 
SIGMET is  issued by  



(a) RAFC    

(b)  Aerodrome Met Offices (c)  MWO

 Q24. 
The Local Forecast is issued for an area ……… around the airfield



 
(a) 150 NM   

(b)  100 NM     

(c )  50 NM
Q25. 
SIGMET is  not issued for 




(a)  Volcanic Ash      
(b) Heavy  Rain     
(c )  Severe Icing

Q26. 
The TREND 
 Forecast  is valid for



(a)  2 hr     

(b)  6 hr    

(c )  9 hr
 

Q27.  
VOLMET Radio Telephony Broadcast made on HF Channel from



(a)  Mumbai  and Delhi 
(b)  Kolkata  and Nagpur  
(c)  Mumbai and  Kolkata 

Q28. 
The validity of Airfield warnings is not exceeding 



(a)  3 hr  

(b) 4 hr 


(c ) 6 hr

Q29. 
CODAR is   




(a) Coded ARFOR 
(b)    Radar Report




(c)  Upper report from an aircraft (other than weather reconnaissance aircraft) 

 

Q30. 
SIGMET is  issued for aircraft 


(a)  in flight

(b) on ground  

(c)  both 

Q31. 
Airfield Warning for  light aircraft,  helicopters and  gliders is issued  when wind is likely to exceed   



(a) 13 kt  
 
 (b) 15 kt  

(c )  16 kt 

Q32. 
Wind Shear Warning is issued for the observed or expected wind shear above runway

 (a) up to 500 m

(b) above 500 m

(c )  300 m 

Q33.  
The general validity of  Aerodrome Forecast 
 is for 



(a) 18 hr     

 (b)  12 hr    

(c)  9hr

Q34.  
GAMET is an area forecast in abbreviated plain language for



(a) high -level aircraft 
(b) low-level aircraft
(c ) both high and low level 

Q35. 
VOLMET consists of


(a)   SIGMET and TAF
(b)  ARREP and TAF only 
 (c) TAF and METAR

Q36. 
METAR / SPECI  of international aerodromes  and  their alternates  are exchanged  in 


(a)   ROBEX 

(b)   VOLMET

(c)    GAMET 
Q37. 
The term WAFC stands for 


  (a) Word Air  Fare Centre
(b) Word Area Forecast Centre
(c)  Wide Area Fixed Communication

Q39.      Wind Shear Warning is issued for
 

(a)  Observed Wind Shear  above 500 m     

(b)  Expected Wind Shear above 1000 m

    

(c )  Both observed and expected Wind Shear below 500 m
 
Q40.
In VOLMET broadcast  consists of 


(a)   all TAFs and all METARS
(b)  METARS  and  9 hr TAFs
 (c)  TAFs  only
Answers :
	Q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	A
	b
	c
	c
	a
	b
	a
	c
	c
	a
	c
	b
	a
	a
	c
	a
	a
	a
	b
	a
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	Q
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
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	37
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	40

	A
	b
	a
	c
	c
	b
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	c
	b
	c
	a
	c
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	c
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	a
	b
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	b


STATION MODELS
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Table 24.1

MEANING OF SYMBOLS 

        Wind Direction and Speed


C H    Type of High Clouds



TT  
  Temperature in º C 


C M    Type of Medium Clouds

Td Td    Dew Point Temperature in º C       
 
C L     Type of Low Clouds

VV
  Visibility in Code 90 – 99

 N       Total Cloud Amount

ww     Present Weather in Symbols
    

N h      Amount of Low/Medium Clouds

W 1 W 2   Past Weather in Symbols


 h         Height of base of C L or C M 

PPP
  Sea Level Pressure QFF


P 2 4 P 2 4  Pressure Change in 24 hr

RRR
  Rainfall since 03 UTC in Code        
a
Pressure Tendency Symbol
p p 
 Pressure Change in 3 hr 1/10 of hPa     
Vs     Average Speed of Ship(kt) in 3 hr

t R t R     Duration of Precipitation                                 GG    Actual Time of observation(full Hr UTC)

TS TS     Difference in Sea Surface temperature and TT in º C                   
H W 1 H W 1  Height of first Wave (swell) 

 P W 1 P W 1  Period of first Wave in Seconds 

      
     (repeated for subsequent waves)        

    (repeated for subsequent waves)

Past Weather (W1W2)
	Coded W1W2
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Symbol
	
	C
	[image: image1.wmf]
	(
	(
	(
	(

	(
	∇
	(



Table 
C  Cloud coverage > 4/8, part of period

O  Cloud coverage > 4/8, throughout

( Sandstorm
  

( Fog  

( Drizzle   
( Rain    

( Snow   


∇  Shower 

( Thunderstorm 
Meanings of Codes  h,  RRR,  and VV 
	h

CODE
	CLOUD BASE 

m
	
	RRR

CODE
	RAIN AMT.

mm
	
	VV

CODE
	VISIBILITY

m
	

	0
	0 - 49
	
	
	
	
	90
	< 50
	VERY THICK

FOG

	1
	50 – 99
	
	Trace
	
	
	91
	50 to <200
	THICK

FOG

	2
	100- 199
	
	991- 999
	0.1 – 0.9
	
	92
	200 to < 500
	MOD FOG

	3
	200 – 299
	
	1
	1 – 1.5
	
	93
	500 to < 1000
	FOG

	4
	300 – 599
	
	2
	1.6 – 2.4
	
	94
	1000 to < 2000
	THICK

MIST

	5
	600 – 999
	
	3
	2.5 – 3.5
	
	95
	2000 to < 4000
	SLIGHT

MIST

	6
	1000 – 1499
	
	4
	3.6 – 4.4
	
	96
	4000 to <10000
	

	7
	1500 – 1999
	
	…
	….
	
	97
	10000 to < 20000
	

	8
	2000 - 2500
	
	62
	61.6 – 62.5
	
	98
	20000 to < 50000
	

	9
	No Cloud below

2500  
	
	63
	62.5 – 63.4
	
	99
	50000 or more
	

	/
	Base not known

Or below hill Stn.
	
	
	
	
	
	
	


Table 24.3
Symbols of Low, Medium and High Clouds as plotted in the Station Model:-

	Kind of Low Cloud    C L
	Symbol
	Kind of Medium cloud   CM
	Symbol
	Kind of High cloud 
    C H
	Symbol

	No low cloud
	
	No medium cloud
	
	No high cloud
	

	Fair weather CU
	[image: image2.wmf]
	Thin AS
	[image: image3.wmf]
	Cirrus in filaments
	[image: image4.wmf]

	CU of large vertical development
	[image: image5.wmf]
	Thick AS or NS
	[image: image6.wmf]
	Dense Cirrus
	[image: image7.wmf]

	CB without anvil
	[image: image8.wmf]
	AC at single level
	[image: image9.wmf]
	Dense CI remnant of dissipated CB
	[image: image10.wmf]

	SC with CU with bases at same level
	[image: image11.wmf]

	AC at different levels
	[image: image12.wmf]
	CI becoming denser
	[image: image13.wmf]

	Stratocumulus
	[image: image14.wmf]
	AC in bands; thickening and spreading
	[image: image15.wmf]
	CI and CS progressively increasing
	[image: image16.wmf]

	ST of fair weather
	
[image: image17]
	AC resulting from spreading of CU
	[image: image18.wmf]
	CI and CS progressively increasing , covering most of sky
	[image: image19.wmf]

	ST of bad weather
	[image: image20.wmf]
	AC with AS or NS
	[image: image21.wmf]
	CS covering entire sky
	[image: image22.wmf]

	SC and CU at different levels
	[image: image23.wmf]
	AC with turreted structure
	[image: image24.wmf]
	CS not covering entire
	[image: image25.wmf]

	CB with Anvil
	[image: image26.wmf]
	AC in Chaotic sky
	[image: image27.wmf]
	CI predominant
	[image: image28.wmf]


Symbols used  for the Present Weather  

[image: image29.png])|’

A4

ORISR

IR LA

#

KI5

Rl el

R K]

O|Q oo |M|o|s |4 |€|©)

P

2
vl

o

2

R il ik d R e

@





Table
Description of   the Symbols (as given in  the above table) for the Present Weather   ww  Code : _______________________________________________________________________________

Code Fig  Present Weather

Code 
Fig

Present Weather

_______________________________________________________________________________

00
No Cloud



40-49 
Fog at time of observation
01
Clouds decreasing


40
Distant fog


02
Clouds unchanged


41
Fog in patches

03
Clouds increasing


42
Fog, sky visible-thinning

04
Smoke haze



43
Fog, sky invisible-thinning

05
Moist haze



44
Fog, sky visible no change

06
Dust haze



45
Fog, sky invisible no change

07
Dust raising winds


46
Fog, sky visible-thickening

08
Dust devil



47
Fog, invisible-thickening

09
Distant sandstorm


48
Fog, sky depositing rime, sky visible

10
Mist




49
Fog, depositing rime, sky invisible

11
Shallow fog in patches



12
Shallow fog



50-59
Drizzle  at the time of observation
13
Lightning

14
Rain not reaching ground

50
Slight intermittent drizzle

15
Rain at a great distance

51
Slight continuous drizzle

16
Rain close to station


52
Moderate intermittent drizzle

17
Thunderstorm without rain

53
Moderate continuous drizzle 

18
Squall




54
Heavy Intermittent drizzle

19
Funnel cloud



55
Heavy continuous drizzle







56
Heavy freezing drizzle

20-29 
Weather phenomena during last 
57
Moderate freezing drizzle


one hour but not at the time of 
58
Slight drizzle and rain mixed


observation 



59
Moderate or heavy drizzle and rain mixed







60-69
Rain at the time of observation 

20
Drizzle

21
Rain




60
Slight intermittent rain

22
Snow




61
Slight continuous rain

23
Rain and snow


62
Moderate intermittent rain      
24
Freezing drizzle


63
Moderate continuous rain

25
Shower of rain



64
Heavy intermittent rain

26
Shower of snow


65
Heavy continuous rain

27
Shower of hail



66
Slight freezing rain

28
Fog




67
Moderate or heavy freezing rain

29 Thunderstorm



68
Slight rain and snow mixed

69
Moderate or heavy rain and snow mixed

30-39 Duststorm, sandstorm or blowing



Snow at the time of observation
70-79
Solid precipitation
30 Slight duststorm decreasing

70
Slight intermittent snow

31
Slight duststorm no change

71
Slight continuous snow

32
Slight duststorm increasing

72
Moderate intermittent snow

33
Severe duststorm decreasing

73
Moderate continuous snow

34
Severe duststorm no change

74
Heavy intermittent snow

35
Severe duststorm increasing

75
Heavy continuous snow

36
Slight drifting snow low level

76
Ice prisms

37
Heavy drifting snow low level
77
Snow grains

38
Slight blowing snow high level
78
Isolated star-like snow crystals

39
Heavy blowing snow high level
79
Ice pellets

80-89
Shower at time of observation
90-99
Thunder storm with precipitation


80 
Slight shower



90
Moderate or heavy shower of hail after 

81
Moderate of heavy shower


thunder has ceased

82
Violent shower


91
Slight rain after thunder has ceased

83
Slight shower with snow mixed
92
Moderate or heavy rain after thunder

84
Moderate or heavy shower with

has ceased

Snow mixed



93
Slight snow or hail after thunder

85
Slight snow shower



has ceased

86
Moderate or heavy snow shower
94
Moderate or heavy snow or 

87
Slight shower of ice pellets


hail after thunder has ceased

88
Moderate or heavy shower 

95
Light thunder storm with rain, snow or hail

of ice pellets



96
Light thunderstorm with hail

89
Slight shower of hail without 

97
Heavy thunderstorm with rain or snow

thunder



98
Thunderstorm and dust storm 







99
Heavy thunderstorm with hail

Table 

Example :            
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Wind Direction and Speed
 140/10 kt




Temperature   


30 º C 

Visibility    


1000m but not  2000 m     


Present Weather    

TS
  
Dew Point Temperature 
28 º C 



Type of High Clouds 

 CI

Type of Medium Clouds  
AS/ NS


Total Cloud Amount   
8/8

Type of Low Clouds   
CB with anvil 
Amount of Low Clouds  
4/8   
      
Height of base of Low Clouds 200 -299 m
Sea level Pressure QFF  1011.2 hPa

Pressure change in 24 hr  
   Fall by 1.5 hPa
 Past Weather 


DS

Rainfall since 0300 UTC  
   1.6 to 2.4 mm
Difference in Sea Surface temperature and TT   03 º C

Average Speed of Ship(kt) in 3 hr   8kt
Actual Time of observation
     0300 UTC
Direction of  ship movement         SWly
 Questions on Station Model 
Example :

              
             

37  
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Q1.  The   surface wind speed is  



(a)   >12 kt
(b) <10 kt       (c)  10 kt

Q2.   Figure  37  is  ………. temperature in º C

(a) Dry
 bulb
(b) Wet bulb
(c) Dew Point 
Q3.   Surface visibility is 
        (a) 5000 to <10000 m
  (b) 2000 to < 4000m   (c) 2000 to < 5000 m
Q4.  The present weather is


(a)  Rain
(b) Continuous Rain
        (c) Heavy  Rain 

Q5.   Dew Point temperature range is  
  (a) 29.5 to 30.4º C
(b) 29.1 to 30.4º      (c) 30.1 to 30.9º 

Q6.  Difference of sea surface temperature and dry bulb temperature is 







 
(a) 2 to 3º C
(b) 1 to  2º C 
    (c)  2ºC 

Q7.  The type of high cloud is 


(a)  CC

(b)CI

(c) CS

Q8.  The type of medium cloud is   


(a) AC

(b) AS

(c)  NS

Q9.   Amount of lowest cloud is 


(a)  2/8

(b) 4/8

(c)  3/8

Q10.  Height of base of low clouds is 
(a)  150 to 250 m   (b) 101 to 200 m   (c) 100 to 199m
Q11.  Pressure value  of 899 in hPa is  

(a)  899.9
 (b)  989.9
(c)  1089.9 

Q12.  The figure 899 represents  


(a)  QFE
(b)  QFF
(c) QNH 
Q13.  Pressure tendency
(a)  rise and fall   (b)  dip in pressure 
(c)    initial fall and then rise 

Q14.  Past weather is   

(a)  Light Rain
(b) Continuous Rain
(c) Heavy  Rain 

Q15.  Rainfall amount is 

(a)  1  to 2 mm
(b)  2.5 to 3.5 mm
(c) 1.6 to 2.4 mm

Q16.  Rainfall reported is from    (a) 0300 to 0300 Z
(b)  0100 to 2400Z
(c) 0530 to 0830 IST

Q!7.  Direction of movement of Ship 


(a)  E to W
(b) W to E
(c) S to N
Q18.  The speed of  the Ship  is averaged for  

(a)  10 min
(b)  3 hr
 (c)  6 hr
 Q19.  Speed of Ship is  




(a) 7 KMH
(b) 7 MPS
 (c) 7 KT
Q20.  The direction of surface wind is 


(a) NWly
(b) NEly
(c) SEly
Q21.  The type of medium cloud is   







(a) CB without anvil

(b) TCU
(c)  CB with anvil
Answers : 
	Q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21

	A
	c
	a
	b
	a
	a
	c
	b
	a
	c
	c
	b
	b
	c
	a
	b
	a
	a
	b
	c
	a
	c


Question and Answer  Table 24.1
AVIATION WEATHER REPORTS

 METAR  : Aviation Routine weather Report    

 SPECI     : Aviation Selected Special weather Report 

Code: 

METAR or SPECI  
CCCC 





YYGGggZ



  


PLACE  (VIDP)



DAY&TIME (080330Z)




dddffGfmfmKT/MPS/KMH       dndndnVdxdxdx 



WIND
(27010G25KT)
       DIRECTIONAL  VARIATION OF WIND(120V300)


VVVVDv      




VxVxVxVxDv         




MIN VISIBILITY (1500SW
)

MAX VISIBILITY (6000N)



RDRDR/VRVRVRVRi



RUNWAY & RVR  (R27/1500D


RDRDR/VRVRVRVRV VRVRVRVRi  


MAX & MIN RVR (R09/0800V1500U)


w′w′


PRESENT WEATHER (RASH)  




NS NS NS hS hS hS 

                  CLOUD AMOUNT AND HEIGHT OF BASE ( FEW020, SCT100, BKN300) 
  
         
or      







 

   
         
VVhS hS hS    


VERTICAL VISIBILITY (VV040)






      


         
or  

      
SKC   or   NSC


SKY CLEAR   or   NO SIGNIFICANT CLOUD (SKC  / NSC)

            Or    CAVOK 
( CAVOK replaces  Visibility, RVR, Present Wx  and Cloud  groups) 


T′T′/Td’′Td′    




QPHPHPHPH           
    

      
TEMPERATURE / DEW POINT (10/M02)

QNH (1004)




RE w′w′


WSRWYDRDR
                      Or
WS ALL RWY

RECENT WX (RETS)
 WIND SHEAR  (WSRWY09)          WS OVER ALL RUNWAYS


(WTSTS SS′ )   



 
(RRRRERCReReRBRBR)


SEA SURFA TEMP. &  STATE (WS19/S4)
      SNOW COVER & DEPTH  OVER  RWY 


SPECIAL. Special Report (in abbreviated plain language) are issued for  the following and  are passed to 

ATC only. These  are  not disseminated beyond the aerodrome of origin : - 

 


(i)     Visibility 
2000  or  4000 m       




(ii)    Cloud base 
90 or 120 m, where Ceilograph/Ceilometer exist.
TREND FORECAST

TREND ( or Landing )  Forecast  is appended to a METAR or SPECI and is valid for TWO hours.
TREND Code  and meanings of each group (given just below the code) :

TTTTT 






 or     NOSIG

CHANGE GROUP (BECMG(Becoming), TEMPO)  
          NO SIGNIFICANT CHANGE

TTGGgg  

TIME OF CHANGE  IN HR &  MIN  (TT : FM (From), TL (Until),  AT (At)  (FM1230 TL1300)

(The Following groups  are the same  as in METAR)

dddffGfmfm KT/MPS/KMH         VVVV     or      CAVOK

 w′w′   or   NSW        NS NS NS hS hS hS        or    VVhS hS hS            or           SKC     or     NSC

Example  of METAR :

METAR VIDP 251200Z 30008KT 7000  FEW030 FEW030CB 28/24  Q1012 =

Example  of METAR and SPECI  for  Visibility

METAR VAPO 0130Z 00000KT 6000 SCT015 26/24 Q1008 TEMPO TL0300 2000 BR
SPECI VAPO 0225Z 15005KT 4000 HZ SCT025 27/24 Q1008 BECMG AT 0300 2000 BR

Example of SPECI :

SPECI  VIAG 280830Z 09015G28KT  240V030 1200NW 6000S R27/P1500 +SHRA FEW020 FEW025CB SCT100 BKN250 34/27 Q1004 RERA WS RWY27 =

 Interpretation :  

SPECI VIDP

      
Aviation Selected Special weather Report for Agra 

230300Z 


for 28th day at 0830 UTC

30015G35KT


Surface Wind 090/15 KT gusting to 28 KT

240V030 


Wind direction varying from 240º to 030º

1100N 6000SW
       
Visibility 1100 m in N and 6000m in the SW

R09/P1500


Runway Visual Range for R/W 27 more than 1500m

+TSRA 


Weather - Heavy Thundershower and Rain

FEW010 FEW030CB SCT120 BKN300    
Clouds 1-2/8 at 1000 ft, 1-2/8 CB at 3000 ft, 







3-4/8 at 12,000 ft and 5-7/8 at 30,000 ft

30/26



 Temperature 30 º C and Dew Point 26º C

Q1002



 QNH 1002 hPa

RESH



 Recent Shower

WS RWY09


Wind Shear Warning for R/W 09 

Example of TREND : 

TEMPO FM0930 TL1000 05020G40KT  1500  +RATS  FEW025 FEWCB030 SCT150 BKN350 BECMG FM1000   09015KT 7000 NSW. 

TREND forecast : From 0930 UTC Until 1000 UTC Surface Wind 05020 KT Gusting to 40KT Visibility 1500m in  Heavy Rain and Thundershower , Clouds 1-2/8 at 2500 ft, 1-2/8 CB at 3000 ft,3-4/8 at15000 ft, 5-7/8 at 35,000 ft, Becoming from 1000 UTC, Wind  09015 KT Visibility 7000 m and No Significant weather. 

Examples  of METAR with appended TREND :

METAR VIDP 251200Z 30008KT 7000  FEW030 FEW030CB 28/24  Q1012  NOSIG =

METAR VECC 0600Z 12005KT 6000  FEW020 FEW025CB SCT120 28/23   Q1004  TEMPO  FM0630  TL0700 27015G30KT  2000  TSSH   BECMG  FM0700  12010 7000   SCT120= 

METAR VIAS 1330Z 23015KT 5000 SA SKC 36/16 Q1002 TEMPO 1415  24015G30KT= 

METAR VABB 0330Z 00000KT 4000 HZ SCT025 25/23 Q1013 TEMPO TL0430 1400 BR=

Examples of METAR and SPECI for various Weather elements with Trend :

1.

Surface wind 
METAR VIDP 0900Z 24010KT 7000 SCT015 FEW020CB SCT100 32/27  Q1009 TEMPO  FM0930 28025G35KT TSRA=

SPECI VIDP 0945Z 27025G40KT 0800 TSSH SCT010 SCT020CB BKN100 28/24 Q1012 BECMG FM1130 2010KT 8000 FEW120=

2.

Visibility

METAR VECC  0130Z  32005KT 7000   26/24  Q1009 TEMPO  FM0200  TL0330 1500 BR=
SPECI VAPO 0215Z  32008KT 1500 BR   25/24 Q1008 BECMG AT 0400 3000 BR=

3.

Present weather 

SPECI VABB 0845Z 32015KT 3000 TSRA SCT015 SCT020CB BKN120 26/25 Q1016 BECMG FM1000 NSW=

4.

Clouds

METAR VOMM 0340Z 30005KT 6000 BKN015 OVC120 24/21 Q1008 TEMPO RA BKN020

 OVC 100=

SPECI VOTV 0400Z 30005KT 6000 -RA BKN008 OVC100 24/22 Q1008 TEMPO 4000 + RA

Rporting of Met Elements in Aviation Reports 

(a) Surface Wind 

- Direction and Speed are reported as :
 



27010 KT/MPS/KMH 

- Variable wind is reported only  if  wind speed is ≤ 3KT eg  
VRB02KT

- Calm wind is reported as  : 





00000KT


- Gusty Wind  32020 gusting 40KT  is reported as :   

30020G45KT

- Extreme directions are reported only if variation is 

  60º to 180º & wind ( 3KT eg  




270V050


- Wind ( 100 KT eg 240100KT is reported as


240P99KT

(b)  Visibility is reported in steps of: 

     

50 m
  when visibility is     
 
0   to   800 m    

     
     
100 m    when visibility is     

800 m to 5000 m                              

    
       
1 km   when visibility is      

5000 m to 9999 m 


      
 9999   when visibility is      

10 km or more

(c)
RVR: RVR observations are made when visibility or RVR is less than 1500 m in steps of: 




 25 m   
when RVR is 

 000 m  to  400 m

      

 
50 m    
when RVR is     
 400 m  to  800 m 

     
     

100 m    
when RVR is      
 800 m  to 2000 m

(d)  
Cloud base is reported in steps of : 

             
30 m up to 3000 m 
and     300 m above 3000 m

  
 (e)  Clouds:  For reporting clouds the Terms used are: 




FEW (1-2 Okta), SCT (3-4  Okta),

  
BKN (5 - 7 Okta), OVC (8 Okta) and SKC (clear sky).

   

(i)  Lowest layer is reported regardless of amount (FFW, SCT, BKN or OVC).     

(ii)  Next layer is reported when cloud amount is 3/8 or more (SCT, BKN or  OVC).

(iii) Next layer is reported when cloud amount is 5/8 or more ( BKN or OVC).

(iv) In addition CB is   reported whenever observed.

 (f) Temperature involving 0.5(C are rounded up to next higher value e.g. + 4.5(C reported  as     

       5(C and – 4.5(C as MS 5(C.

(g) Pressure is rounded down to the nearest lower value e.g. QNH 996.6 hPa is reported as   QNH 996 hPa. In inches exact value is reported. (Range of pressure over the world is 0850 hPa – 1100 hPa)

(h)    Fog (FG)  is reported when visibility is < 1000 m , except when prefixed by MI (shallow),     BC (patches), PR (partial)  or VC(vicinity).  

(i)  Mist (BI) is reported when visibility is 1000 m but not more than 5000 m. 

(j)  HZ, SA, DU, FU, VA  are reported when visibility is  5000 m or less, except SA when specified by DR (Low Drifting).

(k)  Present Weather:   

Drizzle (DZ), Rain (RA), Snow(SN), Snow Grain(SG), Ice Pallet(PE), Ice (IC), Hail (dia.etre 5 mm or more) (GR),Hail (dia. <5 mm) (GS), Fog (FG), Mist (BR), Sand (SA), Dust (DU), Haze (HZ), Smoke (FU), Volcanic Ash (VA), Dust Devil (PO), Squall (SQ), Funnel Cloud (FC), Duststorm (DS), Sandstorm (SS), Shower (SH), Thunderstorm (TS).


   (l)  
Supplementary Information.  Recent significant weather information is also   

    included in abbreviated plain language e.g. 


WIND 320/10 KT, WIND AT 60 M 360/25 KT IN 

   
APCH OR MOD TURB AND ICE INC IN CLIMOUT, WS RWY 12 .

(m)  CAVOK :  pronounced as KAV-OH-KAY). It is issued when :

(i) Visibility 10 km or more.

(ii)  No clouds below 1500 m or below the highest minimum sector altitude, which    ever  is greater and no cumulonimbus.

(iii) 
No weather of significance.

     CAVOK replaces information on Visibility, RVR, Present weather and Clouds in  METAR.

Minimum Sector Altitude
The lowest altitude which may be used which will provide a minimum clearance of 300 m (1000 ft) above all objects located in the area contained within a sector of a circle of 46km (25NM) radius centered on a radio aid to navigation.

Criteria for issue of SPECI

SPECI is issued when any of the following changes take place from the last report. SPECI for deterioration is reported immediately and for improvement after 10 minutes.

(a)  Surface Wind  

        
 (i) Change in wind direction by ( 60( and speed before and/ after change is ( 10 kt. 

        
 (ii) Mean speed has changed by ( 10 kt


(iii) Variation from mean speed by ( 10 kt and speed before and/ after change (15 kt 

(b)  Visibility: When passes          800, 1500, 3000 or 5000 m.

       (c)   RVR changes or passes          150m, 350m , 600 or  800 m. 

       (d)   Present Weather – Onset, cessation or change in intensity of : FZ precipitation, FZFG, MOD or      

        HVY precipitation, drifting and  blowing SN, SA, DU, DS, TS, SS, SQ and FC .

 (e)  Clouds  

(i) BKN or OVC base at 30, 60, 150, 300, 450 m

(ii) Cloud amount below 450 m changes :

From  

SKC/ FEW/ SCT  to  BKN / OVC 

 



From  
            BKN/ OVC  
    to  SKC/ FEW/ SCT.

 (f)  When sky is obscured and vertical visibility changes or passes  30, 60, 150 or 


300 m    (100, 200, 300, 1000 ft) , where laser Ceilometer is installed.

(g)   When surface temperature has increased by 2( C or more from the last   observation.

w′w′  Significant Present  Weather  : Meaning of various terms   

BC (Patches i.e. Random Coverage) e.g  BCFG;  PR (Partial i.e.  Substantial Coverage) e.g.  PCFG

BL (Blowing) is used with DU,SA or SN raised by wind to ( 2 km agl e.g.  (BLDU,  BLSA, BLSN)
DR (Low Drifting) is used with DU,SA, or SN raised by wind to < 2 km agl e.g. (DRDU,DRSA, DRSN)
FZ (Freezing)   is used only with Rain  and Drizzle
e.g.  FZRA,  FZDZ 

 -   (Light)  e.g.  –DZ (Light Drizzle), -RA(Light Rain),  -SH(Light Shower),  -TS(Light Thundershower) 



 + (Heavy or well developed)  e.g.   +RA(Heavy Rain), 
+TS(Heavy TS),  
+SH(Heavy SH),  


+PO(well developed Dust/Sand whirl,  or   Dust Devil),  
+FC (well developed Funnel Cloud)
MI (shallow) extend to less than 2 km agl.   e.g. (MIFG)
Hail (GR)
 Small Hail (GS)
Sandstorm (SS)
Squall (SQ)

SA  Sand
VC  In the  Vicinity (not at station but within 8 km) e.g.  VCRA (Rain in the vicinity)
BR  (Mist)
FU  (Smoke)

VA  (Volcanic  Ash)

DU  (Widespread  Dust) 

Explanation of   hshshs Code :
	hS hS hS

Code
	000


	001
	002
	003
	004
	etc
	011
	009

	Cloud Base 

m
	<300
	30
	60
	90
	120
	….
	330
	2970


Questions on Aviation Weather Reports METAR SPECI  and TREND 

METAR VIDP 160230 30005KT 290V050 1500S 6000N R15/P1500U BR FEW020 

FEW025CB SCT120 BKN300 32/27 Q1003 REFG TEMPO FM0330 22015G25KT 3000 +TSRA FEW010 SCT025CB BKN150 BECMG AT0415 27008KT CAVOK= 
Questions based on the above METAR (Q1 to Q22)

Q1. The METAR has been issued on …… day 
(a) 15th 
(b) 16th    (c) 17th

Q2.  The METAR has been issued at 
(a) 0630 IST  
(b)0230UTC (c) 0230 IST

Q3.  The surface wind speed is 

(a) 2- 6 kt
(b) 3-7 kt
  (c)  4-6 kt

Q4.  Wind direction is varying from   
(a) 290 to 050º  (b) 050 to 290º   (c)200 to 050º         
 Q5.  Visibility 1500 m is towards   

(a) N

(b) S
  (c) All over the airport

Q6.  Visibility  towards N is  


(a) 1500m
(b) 6000 m  
(c) 3000 m

Q7.  Height of base of low clouds is 

(a) 2000 m
(b)2500 ft   
(c) 2500 ft

Q8.  Runway Visual range is  

(a) 1500 m
(b)>1500 m
(c)< 1500 m 

Q9.  Runway Visual range  has  

(a) Decreased
(b) Increased
(c) Remained same 

Q10. Present weather is 


(a) Fog

(b) Brown Dust
(c) Mist

Q11. Amount of lowest cloud is    

(a) 1-2/8

(b)2-4/8
(c) 5-7/8

Q12. Amount of CB cloud is  

(a) 1-2/8

(b)2-4/8
(c) 5-7/8

Q13. Height of base of CB is  

(a) 2500 m

(b)3000 ft
(c) 2500 ft

Q14. The height of topmost layer of cloud is 
(a) 3000 m
(b)30000 m
(c) 30000 ft

Q15. The landing forecast appended to METAR is valid for 
(a) 1 hr  (b) 2hr  (c) 3 hr

Q16. The wind in TREND from 0330 UTC is valid up to … UTC 
(a) 0400  (b)
0430 (c) 0415

Q17. Expected visibility after 0415 UTC is  (a) 6000 m  (b)10 km
(c) ≥10 km 

Q18. Q1003 is 



(a) QFE

(b) QFF

(c) QNH

Q19. The difference between TT and TdTd is  5º C. The atmosphere is 

(a) Very Dry

(b) Moist

(c) Saturated 

Q20. Just before the METAR was issued the weather was 

(a)Rain
  
(b)Mist   (c) Fog

Q21. The range of pressure reported as Q1003 is 
     

(a)1002.5 to 1003.5 hPa    (b) 1003.0 to 1003.9 hPa 
(c) 1003.1 to 1003.5 hPa
Q22. The range of temperature reported as 32 is 
   



(a) 31.5 to 32.4 º C  (b) 32.1 to 32.4 º C (c) 31.5 to 32.4 º C
Questions on  Reporting of Met Elements METAR and SPECI (Q23 to Q 40)
Q23.  Visibility is reported in steps of 50 m when visibility is


  (a)   800 m to 5000 m    (b)
0   to   800 m    
(c)   5000 m to 10 km

 Q24.  Visibility is reported in steps of 100 m when visibility is 


(a)   800 m to 5000 m    (b)
0   to  800 m    
(c)   5000 m to 10 km 

 Q25.  Visibility is reported in steps of 1000 m when visibility is


 

     
 (a)   800 m to 5000 m    (b)
0   to  800 m    
(c)   5000 m to 9999 m    

Q26.  Visibility is reported 9999  when visibility is


 

     
     (a)   800 m to 5000 m    (b)
9000 to   9999 m  (c)   10 km or more   

 Q27.  Temperature + 2.5(C reported  as    (a) 2(C   
(b)
3(C

(c) 2.5(C    

 Q28.  Temperature – 12.5(C reported  as    (a) – 12   (b)
– 13 

(c) MS 12    

Q29.  Pressure is rounded down to the nearest (a)   exact value
(b) upper value (c) lower value

Q30. QNH 1002.6 hPa is reported as   
(a) Q1002

(b)Q1003
(c) Q1002.6 

Q31. QNH 29.92 inches is reported as   
(a) Q2900

(b) A2992
(c) A 3000 

Q32. Fog  is reported when visibility is 
(a) < 1000 m 

(b) 1000 m 
(c)  > 1000 m 

 Q33. Mist  is reported when visibility is 






(a) < 1000 m to 2000m  (b) 1000 to 5000m (c) >1000 m 

Q34. CAVOK signifies Visibility,  Cloud …… and present weather better than the prescribed values  or conditions                       (a) ceiling  
(b) base 
 (c) amount    

Q35. CAVOK is issued when visibility is (a) 9-10 km   
(b) 10 km or more
 (c) 10 km only 

 Q36.  CAVOK is issued when  (i)  Visibility 10 km or more    (ii) No weather of significance.

(iii)  No clouds below 1500 m or below the highest minimum sector altitude, which ever is greater and no cumulonimbus.  

(a) Any one condition  (b) Any two conditions  (c ) All the three conditions 

 Q37. SPECI is issued when 


(i) Change in wind direction by ( 60( and speed before and/ after change is ( 10 kt. 

      (ii) Mean speed has changed by ( 10 kt

      (iii) Variation from mean speed by ( 10 kt and speed before and/ after change ( 15 kt    

     (a) Any two conditions  
(b) Any one condition  
(c ) All the three conditions

  Q38. SPECI is issued when Clouds are  

(i) BKN or OVC base at 30, 60, 150, 300, 450 m

(ii) Cloud amount below 450 m changes :

From  

SKC/ FEW/ SCT  to  BKN / OVC 

 



From  
      BKN/ OVC  
    to  SKC/ FEW/ SCT.


(a) Any one condition  (b) Any two conditions  
(c ) All the three conditions

  Q39. SPECI is issued for vertical visibility , by stations having Ceilograph, when sky is obscured 




(a)  True     


(b) False


  Q40. SPECI is issued when  surface temperature has increased by ……. or more from the last 
observation. 


(a)  3( C   

(b) 4( C  

(c)  2( C

Answers :


	Q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	A
	b
	b
	b
	a
	b
	b
	a
	b
	b
	c
	a
	a
	c
	c
	b
	c
	c
	c
	b
	c

	Q
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40

	A
	b
	c
	b
	a
	c
	c
	b
	c
	c
	a
	b
	a
	b
	a
	b
	c
	b
	a
	a
	c


Question and Answer Table 25.1
 AERODROME FORECAST (TAF)

Code Form :

TAF

CCCC

YYGGggZ

Y1Y1G1G1/ Y2Y2G2G2

dddffGfmfmKT

VVVV

w′w′ 

PROB C2C2 

GGGeGe



         or KMH


or

or
         or MPS

      CAVOK
VV///



or



SKC or NSC

TTTTT    Y1Y1GG/ YeYeGeGe

(TXTFTF / GFGFZ
TNTFTF / GFGFZ )

or

TTGGgg

Meaning of terms used are similar to those of  METAR  except for :

Y1 Y1G1G1G2G2
Period of validity of TAF from date Y1 Y1, time G1G1 to date Y2Y2, time G2G2    UTC




 e.g    1403/1512 ( validity of TAF from 14th  0030 to 15th 1200 UTC).

PROB C2C2

Probability of occurrence 30% or 40% :
  PROB30  or  PROB40 /
Y1Y1GG/ YeYeGeGe
Change likely to occur between timings Y1Y1GG and YeYeGeGe
        (e.g. 1610/1714 indicates change between16 th 1000 and 17th 1400 UTC).
(TXTFTF / GFGFZ
TNTFTF / GFGFZ )   To indicate maximum (TXTFTF )  and minimum temperatures (TNTFTF ) to occur at the time indicated by time GFGFZ


e.g.  
TX45 / 10Z (Max temperature 45º C at 1000Z)


TN10 / 01Z (Min temperature 10º C at 0100Z).   
Amended TAF  is identified by    TAF AMD

Example : 

 TAF VIDP 121200Z 1300/1309 12010KT  3000 HZ FEW025  SCT120 BECMG 0205 16015KT 6000      

 TEMPO  13 07/1309  FEW030CB =

 Interpretation :
TAF
 

AERODROME FORECAST

VIDP
 

FOR PALAM (DELHI) 

121200Z 130009
ISSUED ON 12th DAY AT 1200 UTC,  VALID FOR 13th DAY FROM 0000 To 


0900 UTC

12010KT 

 SURFACE WIND 12010 KT 

3000 HZ 

VISIBILITY 3000m  IN HAZE 

FEW025 SCT120
 CLOUDS 1-2/8 AT 2500 FT, 3-4/8 AT 12000 FT

BECMG 0205 
 BECOMING FROM 0200  UNTIL 0500 UTC  

16015KT 6000
 SURFACE WIND 160/15 KT,  VISIBILITY 6000 m  

TEMPO  0709  
TEMPORARILY FROM 0700 UNTIL 0900 UTC
FEW030CB 

1-2/8 CB AT 3000 FT 

Sample TAFs :

TAF  VIDP 241500Z 241818 05008KT 2500 DU SKC BECMG 0406 09008G20KT 4000 BLDU FEW 030 SCT100 BECMG 1214 05008KT 2500 DU TEMPO 0918  29030KT 0800 DS/TSRA FEW030CB =

TAF VIJP 241500Z 241818 250004KT 2000 HZ/ DU FEW200 TEMPO 1818  32025KT 0800 DS/TS FEW030CB = 

TAF VILK 241500Z 241818 05008KT  4000 HZ SCT025 BKN100 BECMG 0002 09008KT 4000 HZ BECMG 0608 05008KT 6000 BECMG 1315 07004KT 5000 HZ TEMPO 1818 36030KT 1000 DS/TSRA FEW030CB BKN 090 =

TAF VIBT  232100Z 240009 05005KT 3000 HZ SKC BECMG 0305 23010G25KT 1500 DU  FEW040 TEMPO 1012 FEW040CB =  

TAF VIAL 231800Z 240009 07010KT 6000 FEW100 SCT300 TEMPO 09020G30KT 1000

SA/TS
 FEW030CB =

TAF VIAM
231800Z  240009  VRB02KT  6000 FEW030 SCT120 TEMPO 32015KT 6000 TS FEW030CB =  
COMPOSITE TAFs DATED 11 FEB 04 ISSUED AT 1800 UTC

In composite TAFs the date and time of issue is indicated at the top of the listed TAFs, to avoid repetition
VEGT 120012 24006KT 6000 SCT020 SCT250 BKN100 TEMPO 1500 TSRA/SHRA  FEW030CB OVC090.

VABB 120000 27006KT 3000 HZ SCT020 SCT025CB BKN100 BECMG 0406 26010KT 6000 BECMG 1214 27006KT 4000 HZ TEMPO 2000 SHRA SCT010 FEW025TCU OVC080.

VILK 122000 09008KT 4000 HZ SCT025 SCT030 BKN100 BECMG 0204 6000 TEMPO 0809 1200 TSRA/SHRA FEW030CB BKN080 OVC090.

VANP 121818 28010KT 6000 SCT015 SCT100 BECMG 0103 27015KT 5000 -RA SCT020 BKN120 TEMPO 0912 24010G25KT 3000 -TSRA/SHRA FEW030 SCT025CB BKN100.

VECC 121818  18005KT 2500 HZ SCT015 SCT090 BECMG 0204 3500 HZ SCT020 SCT100 BECMG 0507 18008KT 5000 HZ BECMG 1315 18005KT 3000 HZ BECMG 1618 2000 HZ SCT015 SCT090 TEMPO 1818 1500 TSRA BKN100 FEW030CB BKN080.    

  Questions on TAF 

TAF VILK 241800Z 250009 09008KT  0800 FG BECMG 0405 09015KT 6000  SCT008 BKN120 TEMPO 0608 12015G30KT 3000 TSRA FEW012 FEW025CB BKN100 BECMG AT 0800 09010KT 7000 FEW030 SCT120 BKN280 =

Q1. The TAF has been issued on …… day 
(a) 23rd 
(b) 18th    (c) 24th

Q2.  The TAF has been issued at 


(a) 2330 IST  
(b) 1830 UTC  (c) 24 UTC
Q3.  The  expected surface wind speed is        (a) 09 kt
(b) 06 kt
  (c)  08 kt

Q4.  Initially expected wind direction is 
   
(a) 120º      (b) 090º   
  (c) 050º       
Q5.  TAF is Valid for Date 


   
(a) 23rd 
(b) 24th

  (c) 25th
Q6.  Lowest forecast visibility in TAF is  

(a) 1500m
(b) 0800 m  
  (c) 0200 m

Q7.  Height of base of lowest clouds in TAF is 
(a) 1000 m
(b) 1000 ft      (c) 0800 ft

Q8.  Weather TSRA is expected after  

(a) 0600 UTC
(b) 0600 IST   (c) 0800 UTC 

Q9.  Direction of gusty wind is   


(a) 090º
(b) 100º
  (c) 120º 

Q10. Expected weather up to 0400UTC is

(a) Fog

(b) TSRA
  (c) Mist

Q11. Amount of lowest cloud is    


(a) 1-2/8
 (b) 3-4/8
  (c) 5-7/8

Q12. Amount of CB cloud is  


(a) 1-2/8
 (b) 2-4/8
  (c) 5-7/8

Q13. Height of base of CB is  


(a) 2500 ft
 (b) 3000 m
   (c) 2500 m
Q14. The height of topmost layer of cloud is 
(a) 2800 m
(b) 28000 m
   (c) 28000 ft
Q15. Period of validity of TAF is
(a) 23 to 00 IST  
(b) 18 to 00 UTC  (c) 20 to 12 UTC
Answers :
	Q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	A
	c
	a
	c
	b
	c
	b
	c
	a
	c
	a
	b
	a
	a
	c
	b


Question and Answer Table 26.1

 ROUTE  FORECAST   FOR  AVIATION (ROFOR)

Code :

SECTION 1 

     ROFOR 
 (YYGGggZ)
Y​1Y1G1G1G2G2
[KMH or  KT or MPS]

     CCCC

(QLaLaLOLO)

CCCC


OI2ZZZ

     (VVVV)
(W​1W1W1)

NSCChShShS

7hthththfhfhf   

6Ichihihi tL

     5BhBhBhBtL

(4hxhxhxThTh  dhdhfhfhfh)

(2h′p h′p Tp Tp) 

SECTION 2
(11111

QLaLaLoLo
h′ih′i fififi)

SECTION 3
(22222

h′mh′m fmfmfm
(dmdm VV))

SECTION 4
9i3nnn

Section 1  Contains Code identification and time group of ROFOR

Section 2  Contains Symbolic Figure : 11111, and Jet Stream Data (optional) 

Section 3  Contains Symbolic Figure : 22222, and Data of Max wind and Vertical wind shear (optional)

Section 4 Contains Supplementary weather phenomena eg Lowest msl pressure, type of Front, Change at Lat/ Long, BECMG, FROM, TEMPO etc.

(For details refer to Aviation Weather Code Books of IMD or WMO) 

Explanation of terms:

(YYGGggZ)


Date and time of issue of forecast


Y​1Y1G1G1G2G2

Date and  period of validity  of forecast


[KMH or  KT or MPS]
Wind speed in ROFOR in KT/KMH/MPS

 CCCC

(QLaLaLOLO)

CCCC

Sections of the Route  Places, quadrant, Lat Long

OI2ZZZ

VVVV – Forecast visibility  
eg  6000

(N​sCChShShS or VV/// or SKC or NSC)  Cloud Group  eg  2/8 AC at 10000ft reported as 2AC100 

Criteria of reporting clouds :


1st Group: The lowest layer 

 (Ns 1/8 or more)


2nd Group: The next higher layer 
 (Ns 3/8 or more)


3rd Group: The next higher layer 
 (Ns 5/8 or more)

 
In addition CB if not already included

7hthththfhfhf    7- Indicator for altitude, hththt  -Altitude of cloud layer,   hfhfhf -Altitude of Freezing Level

6IchihihitL
 6- Indicator for Icing, Ic -Type of icing,   hihihi -Altitude of icing;  tL – Thickness

5BhBhBhBtL         5 -Indicator for Turbulence, B –Type,  hBhBhB –Altitude,   tL – Thickness 

4hxhxhxThTh   4 - Indicator for Wind and Temperature
2h′p h′p Tp Tp  
2 - Indicator for Tropopause level pressure and temperature

(hhh, hththt, , hfhfhf  , etc.  : are direct reading in units of 30 m  e.g.  001 = 30m, 002 = 60 m,



 010 = 300 m100 = 3000 m,  120 = 3600m, 990 = 29700 m , 999 = >30000 m )
h′jh′j  : Ht of Jet Stream  in Flight Levels with last digit omitted ( 20 is FL 200, 30 is FL 300 etc)

h′mh′m : Ht of Max wind  in Flight Levels with last digit omitted( 10 is FL 100, 21 is FL 210 etc)

tL – Thickness  tL : 0=Up to top of cloud, 1= 300m, 2=600m, 6=1800m, 9=2700m etc

2h′p h′p Tp Tp  Tropopause Temp and height (Flight Level)  : Temp Tp Tp deg C  at height h′p h′p

For example  20 = 20000 ft( FL 200) , 21 = 21000 ft and 21500 ft, 30 (FL 300) = 30,000 ft etc. 

At 30000 ft  Temperature -31º C is  coded as   230M31.

Code Figures and their Meanings for Turbulence, Icing and W1W1W1
	B
	Type of Turbulence
	Ic
	

Type of  Icing
	W1W1W1
	Reported as

	0
	Nil
	0
	Nil
	111
	Thunderstorm (TS)

	1
	Light
	1
	Light
	222
	Tropical cyclone(TRS)

	2
	Moderate CAT  Occasional
	2
	Light Icing in Cloud
	333
	Severe Line Squall (LSQ)

	3
	Moderate CAT  Frequent
	3
	Light Icing in Precipitation
	444
	Hail (HAIL)

	4
	Moderate in Cloud Occasional
	4
	Moderate Icing
	555
	Marked Mountain Waves (MTW)

	5
	Moderate in Cloud Frequent
	5
	Moderate Icing in Cloud
	666
	Widespread Sandstorm (SAND)

	6
	Severe CAT Occasional
	6
	Moderate Icing in Precipitation
	777
	Widespread Duststorm (DUST)

	7
	Severe CAT Frequent
	7
	Severe Icing
	888
	Freezing Rain (FZRA)

	8
	Severe in Cloud  Occasional
	8
	Severe Icing in Cloud
	
	

	9
	Severe in cloud Frequent
	9
	Severe Icing in Precipitation
	
	




Table  26.2

Coded Message of ROFOR :

ROFOR 060300Z 06012 KT VIDP 12580 403028 27010 405020 28015 407015 30020 410010 33025 523306 631209 11111 12775 40120 22222 38150 27115= 

Note : Height of winds and temperature are prefixed by (INDICATOR  4) followed by direction in 2 digits ( eg 28 for 280 deg) and speed in 3 digits ( eg 20 kt is coded 020)
 Interpretation of the above RAREP Coded Message:

ROFOR    

ROUTE  FORECAST 

060300Z   

ISSUED ON 06 DAY AT 0300 UTC 

060612

VALID  ON 06 DAY FROM 0600 TO 1200 UTC 

KT 


WINDS IN KNOTS SPEED IN KT

VIDP 12580

 ROUTE   PALAM (DELHI)  TO (QUQRDRENT 1) 25N 80E 

2AC120 4CI300
CLOUDS 2AC10,000 FT 4CI30,000 FT 

7///180 

(INDICATOR FIG 7)  FREEZING LEVEL 18,000 FT

WINDS AND TEMP. (INDICATOR FIG 4)
403028 27010    
3000FT 
TEMP
28C 
WIND  270/10 KT 

405020 28015  
5000FT       
20C        
 330/25 KT

407015 30020 
7000 FT 
  
15C          300/20 KT

410010 33025 
10000 FT
  
10C

 330/25 KT

523306  
( TURB. Group starts with Indicator  5 ) MODERATE TURBULENCE IN CLEAR AIR AT 33,000 FT THICKNESS OF TURBULENCE 6000 FT (1800m) 

631209 
 ( ICING Group starts with Indicator  6)  LIGHT ICING IN PRECIPITATION AT 12, 000 FT (THICKNESS tL  2700m or 9000 ft)

11111 12775 40120 
JET STREAM (INDICATOR  11111) LOCATION ( QUARQRENT 1) 27N 75E AT 40,000 FT WIND SPEED 120 KT        

22222 38150 2715
MAX WIND (INDICATOR  22222)  AT 38,000 FT SPEED 150 KT DIRECTION 270 DEG  VERTICAL WIND SHEAR 15 KT PER 300m = 

Interpret the ROFOR :

ROFOR 070530Z 070915 KT VECC VANP 4000 444  3CB020 7///170 641809 5416009 

405016 16012 410006 24015 415003 28025 4200M04 27045 4300M25 28080  11111 12881 

40150 22222 42160 28 25= 

Hint : 444 stands for Hail, 64 (Moderate icing ), 54 (Mod Turbulence in Cloud Occasional)

(Note : See ARFOR for explanation of terms)

Questions on ROFOR 

ROFOR 010000Z 010610 KT VECC VILK 2SC030 2CB030 3AC100 2CI300 7///170 621800 541501 405022 28015 407010 28020 410005 29030 420M05 27045 440M41 27105  11111 12870 380120 22222 36140 2825= 

Q1. Time of issue of ROFOR is 
(a) 0610 UTC

(b) 0000 IST

(c) 0000 UTC

Q2. Period of validity of ROFOR is 


(a) 0000 to 0000 IST

(b) 0600 to 0100 IST

(c) 0600 to 1000 UTC

Q3. Wind speed in ROFOR is in 

(a) KT

(b) MPS

(c) KMH

Q4. Base of CB cloud is 


(a) 300 m

(b) 300 ft

(c) 3000 ft

Q5. Height of Freezing level ? 

(a) 1700 m

(b) 17000 ft

(c) 1.7 km

Q6. Icing group in the ROFOR is 

(a) 7///170 

(b) 621800

(c) 54//609

Q7. Type of Icing ? 



(a) Nil

(b) Light
(c) Light icing in cloud

Q8. Indicator figure for turbulence group in the ROFOR is 

(a) 7 
(b) 6

(c) 5

Q9. Height at which Icing is expected ? 
(a) 21000 ft
(b) 18000 m
(c) 15000 ft

Q10. Thickness of Icing is expected to be? 
(a) 300 m (b) 600 m
(c) Up to Cloud Top 

Q11. Height at which Turbulence is expected ?
(a) 15000 ft
(b) 5000 ft
(c) 12000 ft

Q12. Thickness of turbulence expected is ?
(a) 2000 ft
(b) 300 m
(c) Up to Top of cloud

Q13. Wind at 5000 ft expected is ?

(a) 280/10 kt
(b) 280/15 kt
(c) 280/20 kt

Q14. Wind at 20000 ft expected is ?

(a) 270/45 kt
(b) 270/45 KMH (c) 270/40 kt

Q15. Temperature at 20000 ft expected is ?

(a) - 05 ºC
(b)  05 ºC 
(c) 265 K

Q16. Temperature at 40000 ft expected is ?

(a) - 45 ºC
(b) - 41 ºC 
(c) 233 K

Q17. Date of issue of forecast is ?


(a)10

(b) 01
 
(c) 02

Q18. Indicator group for Jet stream in ROFOR is 

(a) 22222 
(b) 11111
(c) 111111

Q19. Indicator group for Maximum Wind in ROFOR is 
(a) 22222 
(b) 11111
(c) 111111

Q20. Maximum Wind speed expected is 


(a) 120 kt 
(b) 130 kt
(c) 140 kt

Q21. Maximum Wind speed expected at height
  (a) 40000 ft 
  (b) 36000 ft   (c) 38000 ft

Q22. Jet stream is expected at Lat/Long

(a) 27 N/70 E (b) 28 N/75 E
(c) 28 N/70 E

Q23. Vertical Wind Shear per 300 m expected is

(a) 25 kt 
(b) 30 kt
(c) 38 kt

Q24. Jet stream core speed is expected to be

(a) 125 kt
 (b) 120 kt
(c) 140 kt

Q25. Jet stream is expected at a height of

(a) 40000 ft 
(b) 36000 ft
(c) 38000 ft

Q26. Wind at 40000 ft expected is ?

(a) 270/105 kt
(b) 270/115 KMH (c) 270/140 kt

Answers :


	Q
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13

	A
	c
	c
	a
	c
	b
	b
	c
	c
	b
	c
	a
	b
	b

	Q
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26

	A
	a
	a
	b
	b
	b
	a
	c
	b
	c
	a
	b
	C
	a



Question and Answer  Table 26.3

Q.104.
Satellite observations indicate a Northward movement of the ITCZ and the near equatorial trough.  It appears that the ITCZ and the near Equatorial trough are two distinct systems rather than one being embedded in the other.


(a)    True 

(b)    False

Q.106.
If the air mass has originated as the subsiding air of the sub tropical anticyclone, it will be.


(a)    Warm ad moist 

(b)    Col and moist
(c)    Much drier

Q.107.
Which statement is not true regarding SW Monsoon.


(a)    70 to 89% of Indian sub-continent rainfall occurs during SW Monsoon 


(b)    It is Em air mass which blows Southwesterly in low level from sea Arabian to land


(c)    It is land sea breeze phenomenon on micro scale 

Q.115.
Which is not True for Tropical Region ?


(a)    It lies between latitude 30ºN to 30ºs


(b)    Trade winds prevail here


(c)    High latitude flying conditions are favourable

Q.116.
Which is not True for Tropical continental climate ?


(a)    Trade winds more or less dry and the rain is mostly conventional in nature 


(b)    Rainfall vary widely, showing a marked decrease pole wards and west wards


(c)    Cold fronts do not occur.

STABILITY  INSTABILITY
Q 1.
Q.119. The value of SALR is


(a)    6.0˚ C / km


(b)    1.98˚ C /1000 ft


(c)    3.0˚ C /1000 ft

Q 2.
The value of  DALR is


(a)    1.5˚ C /1000 ft


(b)    1.98˚ C /1000 ft


(c)    3.0˚ C /1000 ft or 9.8˚ C / km
Q 3.
The value  of  ELR  in ISA is


(a)    6.5˚ C / km


(b)    5.0˚ C / km


(c)    3.0˚ C /1000 ft

Q 4.
The ELR in actual (real) atmosphere 


(a)    has a fixed value


(b)    can be  >  9.8˚ C / km  or even have negative Lapse Rate


(c)    can not be isothermal
Q.5.
The  SALR


(a)    has a fixed value always


(b)    approaches DALR  at about 12 km height (Cirrus level)


(c)     can even have negative Lapse Rate

Q6. 
Given that surface RH  95% and  temperature 28˚ C, 2 km temperature 12˚ C. Is the atmosphere ?



(a)    stable
 (b)    conditionally unstable
(c)    indifferent

(Hint : air is dry hence on lifting would follow DALR curve)
Q7.  
Given that surface RH  85% and  temperature 22˚ C, 4000 ft temperature 10˚ C. Is the atmosphere ?



(a)    stable
 (b)    conditionally unstable
(c)    indifferent

Q8.  . 
Given that surface RH  100% and  temperature 26˚ C, 1000 ft temperature 21˚ C. Is the atmosphere?



(a)    conditionally unstable
 (b) stable  
(c)    indifferent

Q
Surface temperature  30˚ C,  DALR as 10˚ C / km, the height of Freezing Level would be


(a)    1 km
 (b)  2 km  
(c)    3 km

Q
Assuming ELR 6.5˚ C/km, SALR 5˚ C/km, if up to cloud base the Lapse Rate is 10˚ C / km, what would be the LR inside the cloud ? 

(a)    6.5˚ C/km 
 (b)
5˚ C/km  
(c)  10˚ C/km

Q
For convective clouds to form the inside temperature of  the cloud  should be ……….than outside  temperature

(a)    less
 (b)  same 
(c)    more
Q
The  cloud base is theoretically 400 * (Surface temperature  minus Dew point).  If base of cloud is 2000 ft  and Dew point is 20˚ C , what is the Surface temperature ? 



(a)    20˚ C 
 (b)  30˚ C
(c) 25˚ C   

Q
Surface temperature 25˚C, cloud base 1 km, cloud top 5 km, SALR 5˚ C/km, the height of Freezing Level would be



(a)    4 km
 (b)  3 km  
(c)    2 km

Q
The spread between Surface temperature and Dew Point  is negligible, the RH would be 


(a)    60%
 (b)  80%  
(c)    close to 100%
Q 
Which of the following factors dictate stability in the atmosphere


(a)    SALR
 (b)  DALR  
(c)    RH
Q
 Towering  Cumulus is also termed as 


(a)    Humulis
 (b)  Congestus  
(c)    Capillatus
Q
The term fractus applies only to 

 
(a)    ST broken or ragged
 (b)  CU and ST broken or ragged
(c)    Dissipating CB

Q
The term Capillatus  applies  to 

 
(a)    Towering CB
 (b)  CB with anvil
(c)    Mature CB
Q.
Term Calvus applies to 


(a)    CB with top starting to change to fibrous
(b)Large CB
   (c)  CB with anvil
 

Q
Sleet is represented by the symbol

(a)    (
 (b)  •
(c)    combined symbols for snow and rain

Q 
The size of rain drop is


(a)    0.5 mm
 (b)  >0.5 mm
(c)   <0.5 mm

Q 
Low clouds have a base  from surface to


(a)    3,000 ft
 (b)   6,500 ft
(c)    3 km

Q
Which one is a medium cloud


(a)    NS
 (b)  SC  
(c)    AS

Q
Microburst is 
(a)    Funnel cloud from a CB
 (b)  High speed  downdraught  
(c)    Virga

Q
Which TS moves faster


(a)    Airmass TS

 (b)  Depression TS  
(c)    Frontal TS

Q
Hail occurs from  


(a)    NS


 (b)  CB  

(c)    CC
Q
Mature stage of a CB begins when


(a)    Up and Downdraughts develop inside a CBNS
 (b)  Precipitation reaches the surface  

(c)    Downdraughts predominate inside CB
Q
Lightning mostly occurs 


(a)    At 12,000 ft 
 (b)  Below 12,000 ft    (c)    In a band  of 10,000 ft around CB

Q
 Heat TS generally move in the  direction of

(a)     700 hPa winds
 (b)   500 hPa winds   
(c)    Average winds  surface to 40,000 ft
Q
In a heavy downpour from a CB, the visibility may reduce to


(a)    2,000 m
 (b)  1000 m  
(c)    < 100 m

Q 
Radiation fog is most likely during


(a)    Midnight
 
(b)  Before sunrise  
(c)    1/ to 1 hr  after sunrise

Q 
Radiation fog forms over 
 
(a)    land and sea
 (b)  land only  
(c)    sea only

Q 
One of the conditions for formation of Radiation fog is clear skies. However, if there are 1-
2/8 CI  clouds in the sky , is  radiation fog formation possible


(a)    Yes 
 (b)  No  
(c) only if the surface wind exceeds 08 kt

Q
Freezing rain is the rain falling from 


(a)    Cold air mass
 (b)  Warm air mass  



(c)    An inversion into an area with temperature below 0˚ C 

Q
Which  cloud  may causes icing


(a)    NS
 (b)  CI  
(c)    ST

Q
In a warm front temperature at 4,000 ft  is 0˚ C and ground temperature is – 3˚ C. The NS cloud at 10,000 ft is causing continuous rain, where icing is likely 


(a)    above 10,000 ft
 (b)  between 4,000 ft and 10,000 ft  
(c)    below  4,000 ft 
Q 
Small supercooled water drops impinging on the leading edge of an aircraft would cause 


(a)    clear ice
 (b)  rime ice  
(c)    hoar frost

Q
Which type of icing requires immediate diversion 


(a)    Severe
 (b)  Moderate  
(c)    Light

Q
Rime ice may form between temperature range 


(a)    – 20˚ C  to – 30˚ C
 (b)  – 0˚ C  to – 10˚ C

(c)    – 35˚ C  to – 40˚ C
 Q
Clear ice may form between temperature range 


(a)    – 10˚ C  to – 20˚ C
 (b)  – 20˚ C  to – 40˚ C
(c)    – 35˚ C  to – 40˚ C

Q
Clear ice is most hazardous because it is  


(a)    easily breaks in small pieces
 (b) breaks in large chunks
(c)    feathery
Q
Which could give worst icing


(a)    SN
 (b)  FZRA  
(c)    GR

Q
Hoar frost would form on an airframe at – 0˚ C if it is climbing through


(a)    ST
 (b)  NS  
(c)    warm moist air aloft
Q
 The main cause of wind is 


(a)    Coriolis force
 (b)  Isobars  
(c)    Temperature difference
Q
Contours indicate


(a)    Thickness between two levels
 (b)  Spacing between isobars



(c)     Places having equal height

Q 
At FL200, an aircraft is heading N close to East of  a Westerly  trough, it will  get 


(a)    head wind
 (b)  tail wind component  
(c)    drift port
Q
Over Delhi STJ is blowing from NW to SE, the warm air will be to the 


(a)    starboard
 
(b)  port  
(c)    North

Q
In a cyclone  gradient wind is subgeostrophic due to 


(a)    Part of  Pressure gradient force  provides Coriolis force
 


(b)    Part of  Pressure gradient force  provides Centripetal force

  
(c)    Part of  Pressure gradient force  provides Centrifugal force

Q
If the runway is oriented NS, parallel to the coast line, an aircraft in a warm afternoon 
would experience cross wind from


(a)    Right
 (b)  Left 
(c)    No cross wind

Q
Very cold temperatures are found in the air mass


(a)    Tc
 (b)  Pm  
(c)    Pc

Q
 After the passage of a WD, India is sometimes invaded by the air mass


(a)    Tc
 (b)  Pm  
(c)    Pc

Q.117.
An ELR value between those of the SALR and DALR indicates.


(a)    Absolute stability


(b)    Absolute instability


(c)    Conditional instability

Q.118.
On a clear night inland, the stability of the lowest layers of the atmosphere.



(a)    Will decrease


(b)    Will not change


(c)    Will increase

Q.120.
For potential instability, the relative humidity must.


(a)    Decrease with increase of altitude


(b)    Remain constant with increase of altitude


(c)    Increase with increase of altitude

Q.121.
It is true to say that.


(a)    At surface levels, greatest instability normally occurs in mid-morning when clouds are forming 
fastest


(b)    the lapse rate through a layer of cloud is less than the SALR if the conditions are unstable

(a) Generally the ELR can never greatly exceed the DALR value in unsaturated air,  nor greatly exceed 

        the SALR value in saturated air

Q.122.
Sheets of layer cloud in humid air are example of.


(a)    Absolute stability


(b)    Absolute instability


(c)    Neutral Equilibrium

Q.123.
Dust devils in dry desert air are example of.


(a)    Absolute stability


(b)    Absolute instability


(c)    Conditional instability

Q.
One of the main condition for potential stability is


(a)    Low RH at low levels and high RH at high levels 


(b)    High RH at low levels and low RH at high levels


(c)    RH remains same at all levels

Q.
One of main condition for absolute instability is.

(a)     ELR greater than DALR


(b)    ELR lesser than DALR


(c)    ELR EQUALS to DALR

Q.
Read the following statements and state whether they are true or false.

(a) That state of the atmosphere in which are (whether saturated or unsaturated) which is displaced vertically  tends to return to its original level when the displacing force is removed.

(b) The state o the atmosphere in which air )whether saturated or unsaturated) which is displaced 

          vertically tends to become more displaced even though the original displacing force is removed.

(c)     That state of the atmosphere in which air which is displaced vertically tends to become more 

          displaced if saturated, but which tends to return to its original level if unsaturated, when the 

          displacing force is removed.

(d)     A state of neutral equilibrium, because any parcel of air displaced upwards will remain at its new 

          level when the displacing force is removed and will have no tendency to continue rising or to  

          descend to a lower level.

(e)     That  state of the atmosphere in which there is a high relative humidity at low levels and a low relative humidity at upper levels, such that if a low layer of air is lifted bodily, the ELR value through the layer will gradually increase to attain finally an unstable value.     

(f) That state of the atmosphere in which there is a low relative humidity at low levels  and a high

           relative humidity at upper levels, such that if a layer of air is lifted bodily the ELR value through 
the  layer will gradually decrease to attain finally a stable value

Q.
A radio-sonde measures the upper air temperatures on a cloudless day in India when 
plotted on a temperature heigh graph, these temperatures would give :


(a)    The path curve


(b)    The environment curve


(c)    The dry adiabatic curve

Q.
A temperature inversion indicates a state of the atmosphere which is:



(a)    Absolutely stable 


(b)    Absolutely unstable


(c)    Conditionally unstable

Q.
An isothermal layer is a state of the atmosphere which is:



(a)  Absolutely stable
(b)  Absolutely unstable
(c)  Conditionally unstable

Q.
Most cloud form due to  the cooling of air  by :



(a)   conduction

(b)  convection

(c)      adiabatic process
Q.
Clouds whose names prefixed by the word  ‘nimbo’ are:


(a)     Rain bearing


(b)     Layer type


(c)     Composed only of water drops

Q.10.    
In tropopause the Laps rate is.


(a)    Less than 2ºC/km
(b)    More than 2ºC/km
(c)    6.5ºC/km

Q.26.    
The height equivalent to one hPa change in pressure  at 20,000 ft is approximately

(a)     30 ft.
(b)     50 ft.
(c)     100 ft.

Q.27.    
The height of 850 hPa pressure level above msl in ISA is 


(a)    5000 ft 
(b)    10,000 ft
(c)    15,000 ft

Q.33.    
Which is not true 


(a)    The altimeter will over read if the  pressure fall during the flight and under reads if it rises.


(b)    The altimeter will under read if the  pressure falls during the flight and over reads if it rises



(c)    When flying with winds from Port in Northern Hemisphere the altimeter will over read

Q.34.     Hysteresis Error is due to



(a)    Imperfect elasticity of the aneroid  capsule 
(b) Jumpy movements of the pointer 


(c)    Faulty calibration

Q.35.      Temperature error in  altimeter is due to



(a)    Change in over pressure 
(b)    Change in temperature
(c)    Due to faulty calibration

Q.36.      Bimetallic strip is used in pressure altimeter to counteract Hysteresis error



(a)     Hysteresis error 
(b)     Friction error
(c)      Temperature error

Q.57.
Global warming in the phenomenon, which means.



(a)    Heating a globe
(b)    Bright Sunshine


(c)    Abnormal increase in the average temperature of the earth’s atmosphere

Q.68.
Which of the following law defines the wind direction 


(a)    Newton;s first law of motion 
(b)    Normand’s therom
(c) Beaufort Scale 
(d) Buys Ballot’s Law

Q.69.
If I stand with my back to the wind then low pressure areas lie to the ……………………. in Northern Hemisphere and to the ……………….. in southern Hemisphere. 


(a)     Right, left
(b)     Left, left
(c) Left, right
(d) Right, right

Q.70.
Buy Ballot’s Law in valid for 


(a)     surface wind only
(b)    Upper air only
(c) In tropical storm only

(c) All type of winds except wind at Equator and in some local wind phenomenon

Q.71.
Coriolis force arises due to the 



(a)    Revolution of the Earth 
(b)    Rotation of the Earth  (c) Circulation of the 
wind 
(d)  Buy Ballot’s Law

Q.74.
The geostrophic wind at 20,000 ft. is approximately …….   That at the surface for the same pressure gradient.


(a)    Same

(b)    Double

(c)     Triple

Q.76.
The geostrophic wind blows with.


(a)    Lower value of  the contour/isobars on the right in Northern hemisphere


(b)    Lower value of the contour/isobars on the left in the Northern hemisphere


(c)    Higher value of the contour/isobars on the right in the southern hemisphere

Q.78.
Which is not true.


(a)    In areas where the temperature is high, the pressure in the upper air tends also to be high.


(b)    Where the temperature is low the upper air pressure also tends to be low


(c)    The contours of a give pressure surface are low over warm surfaces and high in cold surface

Q.79.
Thermal wind is due to the.


(a)    Pressure gradient 
(b)    Temperature gradient
(c)    Rate of fall of pressure with height 

Q.80.
Which is not true in case of thermal wind.

(a) It is the wind component which must be added vectorially to the geostrophic wind at the lower level in   order to obtain the geostrophic wind at the upper level

(b) The direction of the thermal wind along the isotherm of mean temperature with the lower temperature 

          on the left in the Northern hemisphere.


(c)     The speed of the thermal wind is independent of the temperature gradient 

Q.81.
Thermal wind over higher latitude is higher than lower latitude for given conditions 


(a)    True

(b)    False

Q.82.
Which is not true thermal wind.


(a)    The several thermal throughout most of the troposphere blows from west to east


(b)    Usually westerly component increase throughout the troposphere


(c)    Easterly component increases throughout the troposphere

Q.83.
Which is not true ?

(a) The Westerlies of Norther Hemisphere reach their greatest strength in a belt the axis of which in 

          winter lies between 25 and 40ºN.

(b) In summer, thermal gradient are weather and the Zone of maximum wind is displaced between 40º to 

         45ºN


(c)    This type of wind distribution in Southern hemisphere does not occur

Q.84
Which is not true  ?

(a) The upward motion of wind may give cloud development while downward motion is often associated 

                       with clear skies


(b)    A marked inversion of temperature above the hill tends to restrict the vertical displacement


(c)    If the wind speed over the ridge is less than 20 Kts and lapse rate is stable, eddies can form

Q.85.
For Standing Wave, which is not required condition ?


(a)    Wind Speed more than 15 Kts

(b)    Lapse rate is stable


(c)    The height of hill should be more than 6000 feet

Q.86.
Bumpiness is not experienced in the vicinity of.


(a)    Correction current 
(b)    Fail Weather Cu   (c)    The mountains when wind speed is less than 15 Kts

Q.87.
The number of Isobars is minimum in surface charts of Indian subcontinent in the month of 



(a)     January


(b)     March


(c)     September

Q.88.
The Isobars are closer in the season of.


(a)     NE Monsoon


(b)     SW  Monsoon


(c)     Pre-Monsoon

Q.89.     
The change of pressure is negative then it is plotted in the Wx chart in 



(a)     Red


(b)     Green


(c)     Black

Q.90.
In upper air chart, the height of the Standard Pressure level is shown by.


(a)    The contours in g.p.m.


(b)    The contours in Metres


(c)    The contours in feet

Q.91.
In Upper air chart the closer the contours, the stronger the wind 


(a)    True


(b)    False

Q.92.
For wind plotting, which is true ?


(a)     The direction of the flag in the direction of the wind in which it leaves the station

(b)  Wind strength is show by the feathers which are clock-wise in Northern hemisphere and anti-

         clockwise in Southern hemisphere


(c)     Wind flag cannot represent the higher wind accurately in direction

Q.93.
Buys Ballot’s law gives the wind direction as well as wind speed.


(a)    True


(b)    False

Q.94.
Coriolis force is Zero 



(a)     Pole 


(b)     Roaring forties


(c)     Equator

Q.95.
Coriolis force arises due to 


(a)     Pressure gradient 


(b)     Temperature  gradient


(c)     Rotation of the Earth

Q.96.
Earth rotates


(a)     From East on its axis with an angular velocity of 15º per hour


(b)     From East to West on its axis with an angular velocity of  15º per hour


(c)     From West to East around Sun with an angular velocity of 

Q.97.
Which is not true for Coriolis force ?


(a)     The direction of the Coriolis force is perpendicular to and to the right of the wind velocity


(b)     Coriolis force deflects wind to the right in the Northern hemisphere


(c)     It is a real force

Q.98. 
For given pressure gradient, the geostrophic wind is stronger at lower latitudes than at higher latitudes.



(a)     True 


(b)     False

Q.99.
Geostrophic wind is infinite at .


(a)    Equator 


(b)    Tropic of cancer 


(c)    Pole

Q.100.   ‘Roaring Forties’



(a)     Are strong  Westerlies  in Siberian Highs


(b)    Are strong Easterlies Associated with Jet Stream


(c)     Strong Westerly wind blows steadily over region between 40ºSs to 50ºs

Q.101.
Climatology in the middle latitude is of lesser importance than synoptic Meteorology


(a)    True

(c) False

Q.102.
In Tropical region, Climatology is an important as synoptic meteorology, because


(a)    The variable element is usually small compared to the stable values


(b)    Climatological and synoptic charts are easily available


(c)    Trade winds define the tropical disturbances

Q.103.
Equatorial trough is.

(b) The relatively low pressure area near the Equator where trade winds from two hemispheres approach 

         one another. 


(b)    The relatively high pressure area near the Equator


(c)    The cyclone prevailing over Equator

Q.104.
Satellite observations indicate a Northward movement of the ITCZ and the near equatorial trough.  It appears that the ITCZ and the near Equatorial trough are two distinct systems rather than one being embedded in the other.


(a)    True 


(b)    False

Q.105
Equatorial trough is a zone of.


(a)    Convergence


(b)    Divergence


(c)    Col

Q.106.
If the air mass has originated as the subsiding air of the sub tropical anticyclone, it will be.


(a)    Warm ad moist 


(b)    Col and moist


(c)    Much drier

Q.107.
Which statement is not true regarding SW Monsoon.


(a)    70 to 89% of Indian sub-continent rainfall is mainly due to SW Monsoon from June to September.


(b)    It is Em air mass which blows in Southwesterly direction at  lower level from Arabian sea to land


(c)    It is land sea breeze phenomenon on micro scale 

Q.108.
Geostrophic rule does not hold good when.



(a)    The Isobars are straight and parallel


(b)    Land and sea breezes are blowing


(c)    The air motion is steady along the horizontal

Q.109.
Cyclostrophic force is a 



(a)    Centrifugal force 


(b)    Centripetal force


(c)    Geostrophic 

Q.110.
‘Solar Constant’ define the energy received.



(a)    At the top of the atmosphere on a surface perpendicular to the solar beam for mean solar distance


(b)    At the Equator on a surface perpendicular to the solar beam


(c)    At the 45º Latitude on a surface perpendicular to the solar beam.

Q.111.
Black body means.


(a)    Any body which is black


(b)    A scientific instrument

(c) A body which absorbs all energy received and in turn radiates energy at the maximum rate possible 

        for a given temperature

Q.112.
Solar energy reaches the earth’s surface by:


(a)    Convection


(b)    Conduction


(c)    Radiation

Q.113.
Sunspots are:



(a)    Dark and cooler areas on the sun’s surface


(b)    Dark and warmer areas on the sun’s surface


(c)    Bright and warmer areas on the surface of the sun

Q.114.
Which is not True ?


(a)    sunspots have no effect on earth’s environment


(b)    sunspots affect the radio wave propagation


(c)    sunspot activities are highly variable

Q.115.
Which is not True for Tropical Region ?


(a)    It lies between latitude 30ºN to 30ºs


(b)    Trade winds prevail here


(c)    High latitude flying conditions are favourable

Q.116.
Which is not True for Tropical continental climate ?


(a)    Trade winds more or less dry and the rain is mostly conventional in nature 


(b)    Rainfall vary widely, showing a marked decrease pole wards and west wards


(c)    Cold fronts do not occur.

Q.117.
An ELR value between those of the SALR and DALR indicates.


(a)    Absolute stability


(b)    Absolute instability


(c)    conditional instability

Q.118.
On a clear night inland, the stability of the lowest layers of the atmosphere.



(a)    Will decrease


(b)    Will not change


(c)    Will increase

Q.119.
The DALR value is.


(a)    1.5 C deg/1000 ft.


(b)    1.98 C deg/1000 ft.


(c)    3.00 C deg/1000 ft.

Q.120.
For potential instability, the relative humidity must.


(a)    Decrease with increase of altitude


(b)    Remain constant with increase of altitude


(c)    Increase with increase of altitude

Q.121.
It is true to say that.


(a)    At surface levels, greatest instability normally occurs in mid-morning when clouds are forming fastest


(b)    The lapse rate through a layer of cloud is less than the SALR if the conditions are unstable

(c)    Generally the ELR can never greatly exceed the DALR value in unsaturated air,  nor greatly exceed 

       
         the SALR value in saturated air

Q.122.
Sheets of layer cloud in humid air are example of.


(a)    Absolute stability


(b)    Absolute instability


(c)    Neutral Equilibrium

Q.123.
Dust devils in dry desert air are example of.


(a)    Absolute stability


(b)    Absolute instability


(c)    Conditional instability

Q.
One of the main condition for potential stability is


(a)    Low RH at low levels and high RH at high levels 


(b)    High RH at low levels and low RH at high levels


(c)    RH remains same at all levels

Q.
One of main condition for absolute instability is.

(a)     ELR greater than DALR


(b)    ELR lesser than DALR


(c)    ELR EQUALS to DALR

Q. Read the following statements and state whether they are true or false.
(a) That state of the atmosphere in which are (whether saturated or unsaturated) which is displaced vertically  tends to return to its original level when the displacing force is removed.

(b) The state o the atmosphere in which air )whether saturated or unsaturated) which is displaced 

          vertically tends to become more displaced even though the original displacing force is removed.

(c)     That state of the atmosphere in which air which is displaced vertically tends to become more 

          displaced if saturated, but which tends to return to its original level if unsaturated, when the 

          displacing force is removed.

(d)     A state of neutral equilibrium, because any parcel of air displaced upwards will remain at its new 

          level when the displacing force is removed and will have no tendency to continue rising or to  

          descend to a lower level.

(e)     That  state of the atmosphere in which there is a high relative humidity at low levels and a low relative humidity at upper levels, such that if a low layer of air is lifted bodily, the ELR value through the layer will gradually increase to attain finally an unstable value.     

(g) That state of the atmosphere in which there is a low relative humidity at low levels  and a high

           relative humidity at upper levels, such that if a layer of air is lifted bodily the ELR value through the 

           layer will gradually decrease to attain finally a stable value

Q.
A radio-sonde measures the upper air temperatures on a cloudless day in India when plotted on a temperature heigh graph, these temperatures would give :


(a)    The path curve


(b)    The environment curve


(c)    The dry adiabatic curve

Q.
A temperature inversion indicates a state of the atmosphere which is:



(a)    Absolutely stable 


(b)    Absolutely unstable


(c)    Conditionally unstable

Q.
An isothermal layer is a state of the atmosphere which is:


(a)     Absolutely stable


(b)     Absolutely unstable


(c)    Conditional unstable

Q.
Most clouds are formed due to air cooling:


(a)     By conduction


(b)     By convection


(c)     Adiabatically

Q.
Clouds with ‘start’ in their names are:


(a)     Rain bearing


(b)     Layer type


(c)     Composed only of water drops
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Q1.
Condensation Trail  - Mintra Level

Q2.
Visibility in a Col --  Good, poor, OK

Q3.
Name of the Indian Volcano – Barren Island, Andmans 

                Volcanoes of India :  Deccan Traps,  Narcondum , Barren Island ,  Barren 1, Unnamed
Q4.
Lowest temperature in the atmosphere occurs in Mesosphere

Q5.
Visibility in fumes  5000m or less

Q6.
D value is equal to Radio Altitude  -  Indicated altitude  ( is +ve)
Q7.
SIGMET is issued for    RA, DZ, TS


Q8.
Break monsoon  - trough in the foot hills

Q9.
Worst weather in the SW sector of a Depression

Q10.
Worst weather  Right forward of a Cyclone
Q11.
Worst ice-accretion in the temperature range  0 to – 07º C range

Q12.
Conditional instability  DALR > ELR > SALR

Q13.
In ISA msl temperature  150º C and pressure 1013.25 hPa

Q14.
Direction of movement of TRS – mean upper winds/ steering current

Q15.
Subsidence in he eye of a CS 
Q16.
Worst weather in the eye wall cloud
Q17.
Near 100% RH in fog/ rain

Q18.
TREND is valid for 2 hr

Q19.
Rotor clouds occur in Mountain waves

Q20.
Maximum turbulence in jetstream over mountains
Q21.
The diurnal variation of temperature is maximum when winds are light/strong

Q22.
1 hPa change in pressure corresponds to 27 ft at 1000 ft

Q23.
Geostrophic force is due to the rotation of the earth

Q24.
 Katabatic wind is down slope, nocturnal

Q25.
 Hail occurs in  CB
Q26.
Hair hygrograph is used for measuring RH

Q27.
Ice accretion causes reduction in lift

Q28.
 DZ and SH symbols

Q29.
At 10000 ft in monsoon months winds from HYD to VSK would be Wly

Q30.
Station Model  Q

Q31.
BECMG  permanent change, Tempo less than 1 hr

Q39 to 50  on chart, TAF, METAR
Icing
Q1.
More icing on thin wings likely from


(a)
SN
(b)
+FZRA

(c)
- FZRA

(d)
GR
Q2.
Severe icing is likely to be in the temperature range


(a)  - 2 to  - 15ºC
(b)
- 20 to  - 15ºC
(c)
- 25 to  - 30ºC
(d)   Near  Freezing Level


Q3.
Snow is likely to fall from cloud

(a)
SC
(b)
AC

(c)
NS

(d)
CS

Q4.
Which is the worst for icing

(a)   Speed and shape of airfoil

(b)  Temperature and  RH   

(c)   Drop size and temperature

(d)  Freezing level

Q5.
If your aeroplane encounters FZRA, then for safe  air operation you will 
(a)  Climb to a warmer area
(b)
accelerate
(c)
Descend

(d) Return back

Q6.
The cloud in which least amount of icing is possible

(a)
NS


(b)
CS

(c)
CC

(d)
ST
Q7.
Ground temperature  - 5ºC, at 3000 ft   0ºC and NS at 8000 ft causing continuous rain. Icing will form

 (a)
No where
(b)
in NS cloud
(c)
at surface
(d) between  8000 ft and  3000 ft

Q8.
FZRA is, Rain falling
(a)   hitting ground and freezing

(b)   falling into warm air

(c)
 into  colder air


(d)   from inversion  into an area where temperatures are below 0ºC 
Q9.
Which Front causes FZRA
(a)    warm

(b)   cold

(c)
warm occlusion

(d) cold occlusion
Q10.
Small supercooled water drops cause 
(a)   FZRA 

(b)   glazed icing   
 (c)   opaque rime

(d)   Mixture of clear ice and rime
Q11.
If flying just below the cloud base in highly moist air where rain is falling and outside temperature is  about  10ºC. There would be a risk of 
(a)   FZRA 

(b)   glazed icing   
 (c)   opaque rime

(d)  carburettor icing
Q12.
Water can exist in  liquid state even at temperatures  at subzero temperatures, because 
(a)   water takes long to cool


(b)   water is hygroscopic   


 (c)   presence  of condensation nuclei

(d)   lack of freezing nuclei

Q13.
Hoar frost forms on a aircraft  because  
(a)   aircraft at sub zero temperature  enters warm moist air 

(b)  aircraft suddenly enters warm cloud


(c)   aircraft suddenly encounters clouds at subzero temperature   
(d)   aircraft  enters in falling snow
N
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